
MATHS

BOOKS - NIKITA MATHS (HINGLISH)

INTEGRATION

MULTIPLE CHOICE QUESTIONS

1. ∫ 3x2 - 5
2
dx =

A. 
9x5

5
+ 10x3 + 25x + c

B. 
9x5

5
- 10x3 + 25x + c

C. 
9x5

5
+ 10x3 - 25x + c

D. 
9x5

5
- 10x3 - 25x + c

Answer: B

( )

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RVzVPb7FXk0y


Watch Video Solution

2. ∫x2 1 -
2
x

2
dx =

A. 
x3

3 + 2x2 + 4x + c

B. 
x3

3
- 2x2 + 4x + c

C. 
x3

3
+ 2x2 - 4x + c

D. 
x3

3
- 2x2 - 4x + c

Answer: B

Watch Video Solution

( )

3. ∫
ax - 2 + bx - 1 + c

x - 3 dx =

A. 2ax2 + 3bx3 + 4cx4 + c1

B. 6ax2 + 4bx3 + 3cx4 + c1

https://dl.doubtnut.com/l/_RVzVPb7FXk0y
https://dl.doubtnut.com/l/_vW6ulHc0d4L8
https://dl.doubtnut.com/l/_cj9k2qWkihoc


C. a + b + cx - 2 + c1

D. 
ax2

2
+

bx3

3
+

cx4

4
+ c1

Answer: D

Watch Video Solution

4. ∫
ax3 + bx2 + c

x4 dx =

A. alog|x| +
b
x

+
c

3x3 + c1

B. alog|x| +
b
x

-
c

3x3 + c1

C. alog|x| -
b
x

-
c

3x3 + c1

D. alog|x| +
b
x

-
c

3x3 + c1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_cj9k2qWkihoc
https://dl.doubtnut.com/l/_e9vwIkC6BfY5


5. ∫
3
√x

2
+

4
√x +

3
√x

√x
dx =

A. 
6x

7
6

7
+

4x
4
3

3
+

6x
5
6

5
+ c

B. 
7x

7
6

6
+

3x
3
4

4
+

5x
5
6

6
+ c

C. 
x

7

6

7
+

x
3

4

3
+

x
5

6

5
+ c

D. 
x

7

6

6 +
x

3

4

4 +
x

5

6

6 + c

Answer: A

Watch Video Solution

6. If α and β are the roots of the equation 

ax2 + bx + c = 0 then ∫
(x - α)(x - β)

ax2 + bx + c
dx =

A. ax2 + c1

B. ax + c1

https://dl.doubtnut.com/l/_4qKuomMClVdq
https://dl.doubtnut.com/l/_b5nNr3nE1b0u


C. 
x2

2a
+ c1

D. 
x
a

+ c1

Answer: D

Watch Video Solution

7. ∫
1

(6x - 5)4 -
1

(8 - 3x)9 dx =

A. 
1

18(6x - 5)3 +
1

24(8 - 3x)8 + c

B. 
1

18(6x - 5)3 -
1

24(8 - 3x)8 + c

C. 
-1

18(6x - 5)3 -
1

24(8 - 3x)8 + c

D. 
-1

18(6x - 5)3 +
1

24(8 - 3x)8 + c

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_b5nNr3nE1b0u
https://dl.doubtnut.com/l/_6tgTWRLskAJF
https://dl.doubtnut.com/l/_Wdr5ZdN2RzeR


8. ∫
dx

√3x + 5 - √3x + 2
=

A. 
1
27 √(3x + 5)3 - √(3x + 2)3 + c

B. 
1
27 √(3x + 5)3 + √(3x + 2)3 + c

C. 
2
27 √(3x + 5)3 - √(3x + 2)3 + c

D. 
2
27 √(3x + 5)3 + √(3x + 2)3 + c

Answer: D

Watch Video Solution

( )
( )
( )
( )

9. ∫
3

√7x - 2 - √7x - 5
dx =

A. 
2
21 √(7x - 2)3 + √(7x - 5)3 + c

B. 
2
21 √(7x - 2)3 - √(7x - 5)3 + c

C. 
1
21 √(7x - 2)3 + √(7x - 5)3 + c

D. 
2
21 √(7x - 2)3 - √(7x - 5)3 + c

( )
( )
( )
( )

https://dl.doubtnut.com/l/_Wdr5ZdN2RzeR
https://dl.doubtnut.com/l/_AWrFzoPMRFt2


Answer: A

Watch Video Solution

10. ∫
2x

(2x + 1)2dx

A. 
1
2 log|2x + 1| +

1
2(2x + 1) + c

B. 
1
2 log|2x + 1| -

1
2(2x + 1) + c

C. 2log|2x + 1| +
1

2(2x + 1) + c

D. 2log|2x + 1| -
1

2(2x + 1) + c

Answer: A

Watch Video Solution

11. Evaluate: ∫
x7

x + 1
 dx

A. 
x7

7
+

x6

6
+

x5

5
+

x4

4
+

x3

3
+

x2

2
+ x + log|x + 1| + c

https://dl.doubtnut.com/l/_AWrFzoPMRFt2
https://dl.doubtnut.com/l/_kvOHgUR6Jk6O
https://dl.doubtnut.com/l/_xR8QxHbrAVJa


B. 
x7

7
+

x6

6
+

x5

5
+

x4

4
+

x3

3
+

x2

2
+ x - log|x + 1| + c

C. 
x7

7
-
x6

6
+

x5

5
+

x4

4
-
x3

3
+

x2

2
- x + log|x + 1| + c

D. 
x7

7 -
x6

6 +
x5

5 -
x4

4 +
x3

3 +
x2

2 + x - log|x + 1| + c

Answer: D

Watch Video Solution

12. ∫
x + 1√1 - x2

x√1 - x2
dx =

A. sin - 1x -
1
2

log|x| + c

B. sin - 1x +
1
2

log|x| + c

C. sin - 1x - log|x| + c

D. sin - 1x + log|x| + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xR8QxHbrAVJa
https://dl.doubtnut.com/l/_zzvin1Y58CGJ


13. ∫
(x + 1)2

x x2 + 1
dx is equal to:

A. log|x| + c

B. log|x| + 2tan - 1x + c

C. - log x2 + 1 + c

D. log x x2 + 1 + c

Answer: B

Watch Video Solution

( )

| |
| ( )|

14. ∫ sin - 1x + cos - 1x dx =

A. 
πx
2 + c

B. 
πx
2 + x + c

C. x sin - 1x - cos - 1x + c

( )

( )

https://dl.doubtnut.com/l/_zzvin1Y58CGJ
https://dl.doubtnut.com/l/_PEvr398SbfJ3
https://dl.doubtnut.com/l/_SkajEJLaTCHw


D. x sin - 1x + cos - 1x + c

Answer: A

Watch Video Solution

( )

15. ∫ sin4x - cos4x dx =

A. 
-cos2x

2
+ c

B. 
cos2x

2
+ c

C. 
- sin2x

2
+ c

D. 
sin2x

2
+ c

Answer: C

Watch Video Solution

( )

16. ∫sin2x dx =

https://dl.doubtnut.com/l/_SkajEJLaTCHw
https://dl.doubtnut.com/l/_JkIn8u6i3B56
https://dl.doubtnut.com/l/_XWX0mmsPt0Iw


A. 
x
2

+
sin2x

4
+ c

B. 
x
2

-
sin2x

4
+ c

C. x +
sin2x

2
+ c

D. x -
sin2x

2
+ c

Answer: B

Watch Video Solution

17. ∫cos2x dx =

A. x +
sin2x

2
+ c

B. x -
sin2x

2
+ c

C. 
x
2

+
sin2x

4
+ c

D. 
x
2

-
sin2x

4
+ c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_XWX0mmsPt0Iw
https://dl.doubtnut.com/l/_pV1TXQfOSCVi


18. ∫ tan2x dx =

A. tanx + x + c

B. - tanx - x + c

C. - tanx + x + c

D. tanx - x + c

Answer: D

Watch Video Solution

19. ∫cot2x dx =

A. -cotx - x + c

B. -cotx + x + c

C. cotx - x + c

https://dl.doubtnut.com/l/_pV1TXQfOSCVi
https://dl.doubtnut.com/l/_8bBFeMYxezrc
https://dl.doubtnut.com/l/_M5BEuGHy18rr


D. cotx + x + c

Answer: A

Watch Video Solution

20. ∫sin3x dx =

A. 
-3cosx

4
+

cos3x
12

+ c

B. 
3cosx

4
-

cos3x
12

+ c

C. 
-3cosx

4
-

cos3x
12

+ c

D. 
3cosx

4
+

cos3x
12

+ c

Answer: A

Watch Video Solution

21. ∫cos3x dx =

https://dl.doubtnut.com/l/_M5BEuGHy18rr
https://dl.doubtnut.com/l/_GY1kmG7K6tA0
https://dl.doubtnut.com/l/_xZqgvcEttHlj


A. 
-3sinx

4
+

sin3x
12

+ c

B. 
3sinx

4
-

sin3x
12

+ c

C. 
-4sinx

3
+

sin3x
12

+ c

D. 
4sinx

3
-

sin3x
12

+ c

Answer: A

Watch Video Solution

22. ∫sin4x dx =

A. 
1
32

(12x + 8sin2x + sin4x) + c

B. 
1
32

(12x + 8sin2x - sin4x) + c

C. 
1
32

(12x - 8sin2x + sin4x) + c

D. 
1
32

(12x - 8sin2x - sin4x) + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xZqgvcEttHlj
https://dl.doubtnut.com/l/_vy1bagrLr2SJ


23. ∫sin7xcos3xdx =

A. 
-cos10x

10
-

cos4x
4

+ c

B. 
-cos10x

10
+

cos4x
4

+ c

C. 
-cos10x

20
-

cos4x
8

+ c

D. 
-cos10x

20
+

cos4x
8

+ c

Answer: C

Watch Video Solution

24. ∫5cos8xcos2xdx =

A. 
sin10x

2
-

5sin6x
6

+ c

B. 
sin10x

2
+

5sin6x
6

+ c

C. 
sin10x

4
-

5sin6x
12

+ c

https://dl.doubtnut.com/l/_vy1bagrLr2SJ
https://dl.doubtnut.com/l/_D7VP5XDcJFif
https://dl.doubtnut.com/l/_StpPaZfpaM3X


D. 
sin10x

4
+

5sin6x
12

+ c

Answer: D

Watch Video Solution

25. ∫2sin3xsin6xdx =

A. 
sin3x

6
+

sin9x
18

+ c

B. 
sin3x

6
-

sin9x
18

+ c

C. 
sin3x

3
+

sin9x
9

+ c

D. 
sin3x

3
-

sin9x
9

+ c

Answer: D

Watch Video Solution

26. ∫cosxcos2xcos3xdx =

https://dl.doubtnut.com/l/_StpPaZfpaM3X
https://dl.doubtnut.com/l/_yR2q34hq0mWM
https://dl.doubtnut.com/l/_r9joO09C5jef


A. 
1
2

x +
sin2x

2
+

sin4x
4

+
sin6x

6
+ c

B. 
1
4

x +
sin2x

2
+

sin4x
4

+
sin6x

6
+ c

C. 
1
8

x +
sin2x

2
+

sin4x
4

+
sin6x

6
+ c

D. 
1
16

x +
sin2x

2
+

sin4x
4

+
sin6x

6
+ c

Answer: B

Watch Video Solution

( )
( )
( )
( )

27. ∫sin4xcosxcos6xdx =

A. 
1
4

cosx +
cos3x

3
+

cos9x
9

+
cos11x

11
+ c

B. 
1
4

cosx -
cos3x

3
-

cos9x
9

+
cos11x

11
+ c

C. 
1
4

cosx -
cos3x

3
+

cos9x
9

-
cos11x

11
+ c

D. 
1
4

cosx +
cos3x

3
-

cos9x
9

-
cos11x

11
+ c

( )
( )
( )
( )

https://dl.doubtnut.com/l/_r9joO09C5jef
https://dl.doubtnut.com/l/_oKvJ0InkTZZT


Answer: D

Watch Video Solution

28. ∫ (tanx - cotx)2dx =

A. tanx - cotx + 4x + c

B. tanx - cotx - 4x + c

C. tanx - cotx + c

D. tanx + cotx + c

Answer: B

Watch Video Solution

29. ∫ (secx + tanx)2dx =

A. 2(secx + tanx) - x + c

https://dl.doubtnut.com/l/_oKvJ0InkTZZT
https://dl.doubtnut.com/l/_LMa7TffraOJd
https://dl.doubtnut.com/l/_lCD1XKDhm2rz


B. 2(secx + tanx) + x + c

C. 2(secx + tanx) + c

D. secx(secx + tanx) + c

Answer: A

Watch Video Solution

30. ∫ sin2.
x
2

- cos2.
x
2

2
+ 4sin2.

x
2

. cos2.
x
2

dx =

A. sinx + c

B. - sinx + c

C. cosx + c

D. -cosx + c

Answer: A

Watch Video Solution

[( ) ]

https://dl.doubtnut.com/l/_lCD1XKDhm2rz
https://dl.doubtnut.com/l/_vsacHRMz7Lgg


31. ∫√1 + sinxdx

A. sin
x
2

+ cos
x
2

+ c

B. sin
x
2

- cos
x
2

+ c

C. 2sin
x
2

+ 2cos
x
2

+ c

D. 2sin
x
2

- cos
x
2

+ c

Answer: D

Watch Video Solution

( ) ( )
( ) ( )
( ) ( )
( ) ( )

32. ∫√1 + sin2xdx =

A. sinx + cosx + c

B. sinx - cosx + c

C. cosx - sinx + c

https://dl.doubtnut.com/l/_vsacHRMz7Lgg
https://dl.doubtnut.com/l/_sS3zPM8aRAPF
https://dl.doubtnut.com/l/_7OeA54j92X9U


D. -cosx - sinx + c

Answer: B

Watch Video Solution

33. Evaluate ∫ (1 - cosx)cosec2xdx

A. - tan
x
2

+ c

B. tan
x
2

+ c

C. -2tan
x
2

+ c

D. 2tan
x
2

+ c

Answer: B

Watch Video Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_7OeA54j92X9U
https://dl.doubtnut.com/l/_PgbEfYDoq85j


34. ∫
1

sin2xcos2x
dx = ?

A. tanx + cotx + c

B. - tanx - cotx + c

C. cotx - tanx + c

D. tanx - cotx + c

Answer: D

Watch Video Solution

35. ∫
1

sin2xcos2x
dx = ?

A. 2tan2x + c

B. -2tan2x + c

C. -2cot2x + c

D. 2cot2x + c

https://dl.doubtnut.com/l/_PAD4Ws219i0Y
https://dl.doubtnut.com/l/_VAVUbuwpYpLn


Answer: C

Watch Video Solution

36. ∫sec2xcosec2xdx =

A. tanx - cot2x + c

B. tanx - cotx + c

C. tanx + cot2x + c

D. 2tanxcot2x + c

Answer: B

Watch Video Solution

37. ∫
cos2x + 2sin2x

cos2x
=

A. 2secx + c

https://dl.doubtnut.com/l/_VAVUbuwpYpLn
https://dl.doubtnut.com/l/_oCDtzJH1Tyyv
https://dl.doubtnut.com/l/_DC9UGB2eFL7N


B. 2tanx + c

C. secx + c

D. tanx + c

Answer: D

Watch Video Solution

38. ∫
cosθ - cos2θ

1 - cosθ
dθ =

A. θ + 2sinθ + c

B. θ - 2sinθ + c

C. 2θ + 2sinθ + c

D. 2θ - 2sinθ + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_DC9UGB2eFL7N
https://dl.doubtnut.com/l/_80Tg3dOZNBY5
https://dl.doubtnut.com/l/_Hb5kAB5jCWW7


39. ∫
cos7x - cos8x

1 + 2cos5x dx =

A. 
- sin2x

2 -
sin3x

3 + c

B. 
sin2x

2 +
sin3x

3 + c

C. 
sin2x

2 -
sin3x

3 + c

D. 
sin2x

3 -
sin3x

2 + c

Answer: C

Watch Video Solution

40. ∫
cos2x

sin2xcos2x
dx =

A. cotx + tanx + c

B. cotx - tanx + c

C. tanx - cotx + c

D. - tanx - cotx + c

https://dl.doubtnut.com/l/_Hb5kAB5jCWW7
https://dl.doubtnut.com/l/_t1a09ZYjAUiO


Answer: D

Watch Video Solution

41. ∫
cos4x

sin2x
dx =

A. -cotx - 4x - 2sin2x + c

B. cotx - 4x - 2sin2x + c

C. 4x + cotx - 2sin2x + c

D. 4x + cotx + 2sin2x + c

Answer: A

Watch Video Solution

42. ∫
sin42x + cos42x

sin22xcos22x
dx =

A. 
tan2x

2 +
cot2x

2 + 2x + c

https://dl.doubtnut.com/l/_t1a09ZYjAUiO
https://dl.doubtnut.com/l/_OzUnjFkqnfMw
https://dl.doubtnut.com/l/_SU2Dn24kTDuU


B. 
tan2x

2
-

cot2x
2

+ 2x + c

C. 
tan2x

2
+

cot2x
2

- 2x + c

D. 
tan2x

2
-

cot2x
2

- 2x + c

Answer: D

Watch Video Solution

43. ∫
sin6θ + cos6θ

sin2θcos2θ
dθ =

A. tanθ + cotθ + 3θ + c

B. tanθ - cotθ - 3θ + c

C. tanθ + cotθ - 3θ + c

D. tanθ - cotθ + 3θ + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_SU2Dn24kTDuU
https://dl.doubtnut.com/l/_oYvMUjN7eeKH


44. ∫
cosecθ - cotθ
cosecθ + cotθ

dθ =

A. 2
tanθ

2
- x + c

B. 2cotθ - θ + c

C. 2tanθ - θ + c

D. 2cotθ + θ + c

Answer: A

Watch Video Solution

45. ∫
cos2x - cos2α
cosx - cosα dx

A. 2(xcosα + sinx) + c

B. 2(cosα + sinx) + c

C. 2(xcosα - sinx) + c

D. -2(cosα + sinx) + c

https://dl.doubtnut.com/l/_0Nl8cH3xhqDK
https://dl.doubtnut.com/l/_SXUJMQ1S5Evr


Answer: A

Watch Video Solution

46. ∫
sinx + cosecx

tanx
dx =

A. sinx - cosecx + c

B. - sinx + cosecx + c

C. log|tanx| + c

D. log|cotx| + c

Answer: A

Watch Video Solution

47. ∫
secθ

secθ + tanθdθ =

A. tanθ + secθ + c

https://dl.doubtnut.com/l/_SXUJMQ1S5Evr
https://dl.doubtnut.com/l/_YTXI7VXXco46
https://dl.doubtnut.com/l/_d69hTMJ8Fd38


B. - (tanθ + secθ) + c

C. tanθ - secθ + c

D. secθ - tanθ + c

Answer: C

Watch Video Solution

48. If ∫
cos4x + 1
cotx - tanx

dx = kcos4x + c, then k= (A) -
1
4

 (B) -
1
2

 (C) -
1
8

 (D) none of

these

A. 
-cos4x

8
+ c

B. 
cos4x

8
+ c

C. 
-cos4x

4
+ c

D. 
cos4x

4
+ c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_d69hTMJ8Fd38
https://dl.doubtnut.com/l/_Betfa4O4G2zE


49. ∫
1

tanx + cotxdx =

A. 
cos2x

4 + c

B. 
sin2x

4 + c

C. 
- sin2x

4 + c

D. 
-cos2x

4 + c

Answer: D

Watch Video Solution

50. ∫
1 - tanx
1 + tanx

2
dx =

A. - tan
π
4 - x + x + c

B. - tan
π
4 + x + x + c

C. tan
π
4 - x + x + c

( )
( ( ) )
( ( ) )

( )

https://dl.doubtnut.com/l/_Betfa4O4G2zE
https://dl.doubtnut.com/l/_hVBTCInvOlJM
https://dl.doubtnut.com/l/_HNzxcuh090vZ


D. tan
π
4

+ x + x + c

Answer: A

Watch Video Solution

( )

51. ∫
dx

(1 - cosx)
= ?

A. cot
x
2

+ c

B. -cot
x
2

+ c

C. 2cot
x
2

+ c

D. -2cot
x
2

+ c

Answer: B

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_HNzxcuh090vZ
https://dl.doubtnut.com/l/_xnDtKubK9aaR


52. ∫
dx

1 + cosx

A. tan
x
2

+ c

B. 2tan
x
2

+ c

C. -cot
x
2

+ c

D. -2cot
x
2

+ c

Answer: A

Watch Video Solution

( )
( )
( )
( )

53. Evaluate: (i) ∫
1

1 + cos2x  dx
(ii) ∫
1

1 - cos2x  dx

A. 
-cotx

2 + c

B. 
cotx

2 + c

C. 
- tanx

2 + c

https://dl.doubtnut.com/l/_qPPseV1H2XP7
https://dl.doubtnut.com/l/_SgSKfoGxk8QE


D. 
tanx

2
+ c

Answer: D

Watch Video Solution

54. ∫
1

1 - sinx
dx

A. tanx + secx + c

B. tanx - secx + c

C. -coescx - cotx + c

D. cosecx + cotx + c

Answer: A

Watch Video Solution

55. ∫
cosx

1 - cosx dx =

https://dl.doubtnut.com/l/_SgSKfoGxk8QE
https://dl.doubtnut.com/l/_7vbPCpE4z25p
https://dl.doubtnut.com/l/_IW2xqDAN9EVM


A. 2cot
x
2

+ x + c

B. 2cot
x
2

- x + c

C. cot
x
2

+ x + c

D. -cot
x
2

- x + c

Answer: D

Watch Video Solution

( )
( )

( )
( )

56. ∫
cotx

cosecx - cotx
dx =

A. cosecx - cotx - x + c

B. cosecx + cotx - x + c

C. -cosecx - cotx - x + c

D. cosecx - cotx + x + c

Answer: C

https://dl.doubtnut.com/l/_IW2xqDAN9EVM
https://dl.doubtnut.com/l/_B5GSyzVn7zHu


Watch Video Solution

57. ∫
sinx

(1 + sinx) dx = ?

A. x + tanx + secx + c

B. x - tanx - secx + c

C. x + tanx - secx + c

D. x - tanx + secx + c

Answer: D

Watch Video Solution

58. ∫
tanx

secx + tanx
dx =

A. secx + tanx + x + c

B. secx + tanx - x + c

C. secx - tanx + x + c

https://dl.doubtnut.com/l/_B5GSyzVn7zHu
https://dl.doubtnut.com/l/_Yv620zldn2lg
https://dl.doubtnut.com/l/_ev89SfBt8H30


D. secx - tanx - x + c

Answer: C

Watch Video Solution

59. ∫
cosx

√1 + sinx
dx is equal to

A. sin
x
2 - cos

x
2 + c

B. sin
x
2 + cos

x
2 + c

C. 2sin
x
2 - 2cos

x
2 + c

D. 2sin
x
2 + 2cos

x
2 + c

Answer: D

Watch Video Solution

( ) ( )
( ) ( )
( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_ev89SfBt8H30
https://dl.doubtnut.com/l/_jdEeI9bAImN3


60. ∫
sinx + cosx

√1 + sinx
dx

A. 
x2

2
+ c

B. 
-x2

2
+ c

C. -x + c

D. x + c

Answer: D

Watch Video Solution

61. Evaluate the following integrals :
∫ tan - 1 sin2x
1 + cos2x

dx

A. x + c

B. -x + c

C. 
x2

2
+ c

D. 
-x2

2
+ c

( )

https://dl.doubtnut.com/l/_yiYHaX2CTTZu
https://dl.doubtnut.com/l/_34t10WvMEhEz


Answer: C

Watch Video Solution

62. ∫cot - 1 1 + sinx
cosx

dx =

A. 
πx
4

-
x2

4
+ c

B. 
πx
4

+
x2

4
+ c

C. 
πx
4 -

x2

2 + c

D. 
πx
4

+
x2

2
+ c

Answer: A

Watch Video Solution

( )

63. Evaluate: `inttan^(-1){sqrt(((1-sinx)/(1+sinx)))}\ dx ,\ -pi//2

A. 
πx
4

+
x2

2
+ c

https://dl.doubtnut.com/l/_34t10WvMEhEz
https://dl.doubtnut.com/l/_8mWaWYbDWCl1
https://dl.doubtnut.com/l/_DwkMqGZ0AmD8


B. 
πx
4

-
x2

2
+ c

C. 
πx
4

+
x2

4
+ c

D. 
πx
4 -

x2

4 + c

Answer: D

Watch Video Solution

64. ∫ tan - 1 2tanx

1 - tan2x
dx =

A. 
x
2 + c

B. 
x2

2
+ c

C. x2 + c

D. 2x2 + c

Answer: C

Watch Video Solution

( )

https://dl.doubtnut.com/l/_DwkMqGZ0AmD8
https://dl.doubtnut.com/l/_V24k6TvJNbq2


65. ∫ tan - 1(sec3x + tan3x)dx =

A. 
πx
2

-
3x2

2
+ c

B. 
πx
2

+
3x2

2
+ c

C. 
πx
4

-
3x2

4
+ c

D. 
πx
4 +

3x2

4 + c

Answer: D

Watch Video Solution

66. ∫cot - 1 1 + cosx
1 - cosx dx =

A. 
x2

4
+ c

B. 
x2

2
+ c

C. 
x
4

+ c

√

https://dl.doubtnut.com/l/_V24k6TvJNbq2
https://dl.doubtnut.com/l/_tGs6hWT20hWj
https://dl.doubtnut.com/l/_hn61KWd98Uqj


D. 
x
2

+ c

Answer: A

Watch Video Solution

67. ∫exloga. exdx is equal to

A. (ae)x + c

B. 
(ae)x

1 + loga
+ c

C. 
ax

1 + loga
+ c

D. 
ex

1 + loga + c

Answer: B

Watch Video Solution

68. ∫
e5logx - e4logx

e3logx - e2logxdx

https://dl.doubtnut.com/l/_hn61KWd98Uqj
https://dl.doubtnut.com/l/_Ih8BrsxZMxJc
https://dl.doubtnut.com/l/_yeYuKim3l32K


A. e 3 - 3x + c

B. e3log|x| + c

C. 
x3

3
+ c

D. 
x3

6
+ c

Answer: C

Watch Video Solution

( )

69. Evaluate: (i) ∫
2x + 3x

5x  dx
(ii) ∫
ax + bx

2

ax b x
 dx

A. 
2x

5x(log2 - log5)
-

3x

5x(log3 - log5)
+ c

B. 
2x

5x(log2 - log5)
+

3x

5x(log3 - log5)
+ c

C. 
3x

5x(log3 - log5)
-

2x

5x(log2 - log5)
+ c

D. 
3x

5x(log5 - log3)
+

2x

5x(log5 - log2)
+ c

Answer: B

( )

https://dl.doubtnut.com/l/_yeYuKim3l32K
https://dl.doubtnut.com/l/_RiuVxNjx4Q8t


Watch Video Solution

70. ∫
ax + bx 2

axbx
dx

A. 
ax

bx(loga - logb)
-

bx

ax(logb - loga)
+ 2x + c

B. 
ax

bx(loga - logb)
+

bx

ax(logb - loga)
- 2x + c

C. 
ax

bx(loga - logb)
+

bx

ax(logb - loga)
+ 2x + c

D. 
ax

bx(loga - logb)
+

bx

ax(logb - loga)
- 2x + c

Answer: C

Watch Video Solution

( )

71. ∫
excos3x - 4xtan3x

4xcos3x
dx =

A. 
ex

4x(1 - log4)
-

sec3x
3

+ c

B. 
ex

4x(1 - log4)
+

cosec3x
3

+ c

https://dl.doubtnut.com/l/_RiuVxNjx4Q8t
https://dl.doubtnut.com/l/_blKzDmLtxgpS
https://dl.doubtnut.com/l/_BThJ1Bc3ABB1


C. 
ex

1 - log4
-

sec3x
3

+ c

D. 
ex

1 - log4
+

cosec3x
3

+ c

Answer: A

Watch Video Solution

72. ∫ e2 - 5x +
2

6x + 1
dx =

A. 
e2 - 5x

5 +
1
3 log|6x + 1| + c

B. 
-e2 - 5x

5
-

1
3

log|6x + 1| + c

C. 
e2 - 5x

5
-

1
3

log|6x + 1| + c

D. 
-e2 - 5x

5
+

1
3

log|6x + 1| + c

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_BThJ1Bc3ABB1
https://dl.doubtnut.com/l/_ZCGMexT6r68e
https://dl.doubtnut.com/l/_sSXfzCg6RWOv


73. If ∫ f(x)dx = f(x) + c, then f(x) =

A. xe

B. ex

C. log|x|

D. 
1
x

Answer: B

Watch Video Solution

74. If ∫
f(x)

log(sinx)
dx = log[logsinx] + c, then f(x) is equal to

A. cotx

B. tanx

C. secx

D. cosecx

https://dl.doubtnut.com/l/_sSXfzCg6RWOv
https://dl.doubtnut.com/l/_JsXEXN77jhGP


Answer: A

Watch Video Solution

75. If f′ (x) = 4x3 - 3x2 + 2x + k and f(0) = 1, f(1) = 4 find f(x)

A. x4 - x3 + x2 + 2x + 1

B. x4 - x3 + x2 + x + 2

C. x4 - x3 + x2 + 2x + 2

D. x4 - x3 + x2 + x + 1

Answer: A

Watch Video Solution

76. If f′ (x) = 8x3 + 3x2 - 10x - k and f(0) = - 3, f( - 1) = 0, then f(x) =  is

A. 2x4 + x3 + 5x2 + 7x - 3

https://dl.doubtnut.com/l/_JsXEXN77jhGP
https://dl.doubtnut.com/l/_0WWmjIIfwXG6
https://dl.doubtnut.com/l/_secPAks4Myh2


B. 2x4 + x3 + 5x2 - 7x + 3

C. 2x4 + x3 - 5x2 + 7x - 3

D. 2x4 + x3 - 5x2 - 7x - 3

Answer: D

Watch Video Solution

77. If f′ (x) = x +
1
x

and f(1) =
5
2

, then f(x) =

A. 
x2

2
+ log|x| + 2

B. 
x2

2
+ log|x| - 2

C. 
x2

2
+ log|x| + 4

D. 
x2

2 + log|x| - 4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_secPAks4Myh2
https://dl.doubtnut.com/l/_19ISFlCkmFsm


78. If f(x) = x , g (x) = sinx , then ∫  f(g(x)) dx is equal to

A. -cosx + c

B. cosx + c

C. 
-x2

2
+ c

D. 
x2

2
+ c

Answer: A

Watch Video Solution

79. If f'(x)=k(cos x-sinx), f'(0)=3, f
π
2

= 15, find f(x)

A. cosx + sinx + 12

B. 3(cosx + sinx) + 12

C. cosx + sinx - 12

D. 3(cosx + sinx) - 12

( )

https://dl.doubtnut.com/l/_yt8At9ZDQDIJ
https://dl.doubtnut.com/l/_AADbHAvNN8ft


Answer: B

Watch Video Solution

80. If ∫ (sin2x - cos2x)dx =
1

√2
sin(2x - a) + b then

A. a =
π
4 , b = 0

B. a =
-π
4 , b = 0

C. a =
5π
4 , b = 0 constant

D. a =
-5π
4 , b = 0 constant

Answer: D

Watch Video Solution

81. ∫ (3x + 4)3dx =

A. 
(3x + 4)4

12
+ c

https://dl.doubtnut.com/l/_AADbHAvNN8ft
https://dl.doubtnut.com/l/_YgW4MkE9EIhk
https://dl.doubtnut.com/l/_alhhU5b1CrLV


B. 
3(3x + 4)4

4
+ c

C. 
3(3x + 4)2

2
+ c

D. 
3(3x + 4)2

4 + c

Answer: A

Watch Video Solution

82. ∫ 9 -
x
2

8
+ (4x + 5)3 dx =

A. 
2
3 9 -

x
2

9
+

(4x + 5)4

16 + c

B. 
-2
3 9 -

x
2

9
+

(4x + 5)4

16 + c

C. 
2
9 9 -

x
2

9
+

(4x + 5)4

16 + c

D. 
-2
9 9 -

x
2

9
+

(4x + 5)4

16 + c

Answer: D

W t h Vid S l ti

(( ) )
( )
( )

( )
( )

https://dl.doubtnut.com/l/_alhhU5b1CrLV
https://dl.doubtnut.com/l/_a1erndDCyPm0


Watch Video Solution

83. ∫ x -
1
x

3
2

x2 + 1

x2 dx =

A. 
-2
5

x -
1
x

5
2 + c

B. 
2
5

x -
1
x

5
2 + c

C. -2 x -
1
x

1
2 + c

D. 2 x -
1
x

1
2 + c

Answer: B

Watch Video Solution

( ) ( ( ) )
( )

( )
( )

( )

84. ∫x5√a3 + x3dx =

A. 
1
15

a3 + x3
5

2 +
1
9

a3 + x3
3

2 + c

B. 
1
15

a3 + x3
5
2 -

1
9

a3 + x3
3
2 + c

( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_a1erndDCyPm0
https://dl.doubtnut.com/l/_wXZT0bghyJqe
https://dl.doubtnut.com/l/_9PsADRl5j56N


C. 
2
15

a3 + x3
5
2 +

2a3

9
a3 + x3

3
2 + c

D. 
2
15

a3 + x3
5
2 -

2a3

9
a3 + x3

3
2 + c

Answer: D

Watch Video Solution

( ) ( )
( ) ( )

85. Evaluate: ∫
x4 - x

1 / 4

x5  dx

A. 
4
15

1 -
1

x3

5
4 + c

B. 
4
5

1 -
1

x3

5
4 + c

C. 
2
15

1 -
1

x3

5
4 + c

D. 
2
5

1 -
1

x3

5
4 + c

Answer: A

Watch Video Solution

( )

( )
( )
( )

( )

https://dl.doubtnut.com/l/_9PsADRl5j56N
https://dl.doubtnut.com/l/_Mjv9nptmBAKz


Watch Video Solution

86. ∫
dx

x2 x4 + 1
is

A. - x4 + 1
1
4 + c

B. -
x4 + 1

x4

1
4

+ c

C. 
x4 + 1

x4

1
4

+ c

D. x4 + 1
1

4 + c

Answer: B

Watch Video Solution

( )

( )

( )
( )
( )

87. ∫
1

(x - 1)3(x + 2)5
1

4

dx

A. 
4
3

x - 1
x + 2

1
4 + c

( )

( )

https://dl.doubtnut.com/l/_Mjv9nptmBAKz
https://dl.doubtnut.com/l/_t9W9HGKMbtdw
https://dl.doubtnut.com/l/_Q5QJX26n9l2Q


B. 
4
3

x + 1
x + 2

1
4 + c

C. 
4
3

x - 1
x - 2

1
4 + c

D. 
4
3

x - 1
x + 3

1
4 + c

Answer: A

Watch Video Solution

( )
( )
( )

88. The integral ∫
2x12 + 5x9

x5 + x3 + 1 3
dx is equal to (where C is a constant of

integration)

A. 
-x5

x5 + x3 + 1 2
+ c

B. 
x10

2 x5 + x3 + 1 2
+ c

C. 
x5

2 x5 + x3 + 1 2
+ c

D. 
-x10

2 x5 + x3 + 1 2
+ c

( )

( )

( )

( )

( )

https://dl.doubtnut.com/l/_Q5QJX26n9l2Q
https://dl.doubtnut.com/l/_Xa6le19r3NVo


Answer: B

Watch Video Solution

89. 
xn - 1

√1 + 4xn

A. 
√1 + 4xn

n
+ c

B. 
√1 + 4xn

2n + c

C. 
2√1 + 4xn

n
+ c

D. 
n√1 + 4xn

2
+ c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Xa6le19r3NVo
https://dl.doubtnut.com/l/_sCacffizbUk7


90. ∫
4x - 6

x2 - 3x + 5
3
2

dx =

A. 
2

√x2 - 3x + 5
+ c

B. 
-2

√x2 - 3x + 5
+ c

C. 
4

√x2 - 3x + 5
+ c

D. 
-4

√x2 - 3x + 5
+ c

Answer: D

Watch Video Solution

( )

91. ∫
dx

3x + 5x -n =

A. 
log 3xn+ 1 + 5

n + 1
+ c

B. 
log 3xn+ 1 + 5

5(n + 1)
+ c

| |

| |

https://dl.doubtnut.com/l/_rDGjsBxy3Mgz
https://dl.doubtnut.com/l/_OO1pxZc3G4Nb


C. 
log 3xn+ 1 + 5

3(n + 1)
+ c

D. 
log 3xn+ 1 + 5

15(n + 1) + c

Answer: C

Watch Video Solution

| |

| |

92. ∫
1

x + x -n dx =

A. 
nlog xn+ 1 + 1

n + 1
+ c

B. 
log xn+ 1 + 1

n + 1
+ c

C. 
nlog xn+ 1 - 1

n + 1 + c

D. 
nlog xn+ 1 - 1

n + 1
+ c

Answer: B

| |

| |

| |

| |

https://dl.doubtnut.com/l/_OO1pxZc3G4Nb
https://dl.doubtnut.com/l/_ZSKQtOUVh0I1


Watch Video Solution

93. ∫
1

√x + x
dx =

A. 
-1
2

log 1 + √x + c

B. 
1
2

log 1 + √x + c

C. -2log 1 + √x + c

D. 2log 1 + √x + c

Answer: D

Watch Video Solution

| |

| |

| |

| |

94. ∫
dx

4√x + x
=

A. 2log 4 + √x + c

B. 2log 1 + √x + c

| |

| |

https://dl.doubtnut.com/l/_ZSKQtOUVh0I1
https://dl.doubtnut.com/l/_FL4PCMCrnMrO
https://dl.doubtnut.com/l/_KL1wG8SbYyHQ


C. 
1
2

log 4 + √x + c

D. 
1
2

log 1 + √x + c

Answer: A

Watch Video Solution

| |

| |

95. Evaluate:
∫
x2 + 1

x x2 - 1
dx

A. log x2 - 1 - log|x| + c

B. log|x| - log x2 - 1 + c

C. - log x2 - 1 - log|x| + c

D. log|x| + log x2 - 1 + c

Answer: A

Watch Video Solution

( )

| |
| |

| |
| |

https://dl.doubtnut.com/l/_KL1wG8SbYyHQ
https://dl.doubtnut.com/l/_2rHgspQikdgw
https://dl.doubtnut.com/l/_yJEMirwawMfy


96. Evaluate: ∫
x3

(x + 1)2  dx

A. 
x2

2
- 2x -

5
2

+ 3log|x + 1| +
1

x + 1
+ c

B. 
x2

2
- 2x +

5
2

+ 3log|x + 1| +
1

x + 1
+ c

C. 
x2

2 - 2x -
5
2 + 3log|x + 1| -

1
x + 1 + c

D. 
x2

2
- 2x +

5
2

+ 3log|x + 1| -
1

x + 1
+ c

Answer: A

Watch Video Solution

97. If ∫
x3 + 4x2 - 7x + 5

x + 2
dx =

x3

3
+ ax2 - 11x + blog(x + 2) + c,  then (a, b) ≡

A. 
x3

3
+ x2 + 11x + 27log|x + 2| + c

B. 
x3

3
+ x2 + 11x - 27log|x + 2| + c

C. 
x3

3 + x2 - 11x + 27log|x + 2| + c

D. 
x3

3
- x2 + 11x + 27log|x + 2| + c

https://dl.doubtnut.com/l/_yJEMirwawMfy
https://dl.doubtnut.com/l/_PtVzr8VPbjJU


Answer: C

Watch Video Solution

98. ∫
5x2 + 4x + 7

√(2x + 3)3
dx =

A. 
1
4

5
3√(2x + 3)3 + 22√2x + 3 +

49

√2x + 3
+ c

B. 
1
4

5
3√(2x + 3)3 + 22√2x + 3 -

49

√2x + 3
+ c

C. 
1
4

5
3√(2x + 3)3 - 22√2x + 3 +

49

√2x + 3
+ c

D. 
1
4

5
3√(2x + 3)3 - 22√2x + 3 -

49

√2x + 3
+ c

Answer: D

Watch Video Solution

( )
( )
( )
( )

99. ∫ (2x + 1)√x - 4 dx =

https://dl.doubtnut.com/l/_PtVzr8VPbjJU
https://dl.doubtnut.com/l/_hM64PaCewu7I
https://dl.doubtnut.com/l/_vc6f2IGVVK90


A. 
2
5

(x - 4)
5
2 - 6(x - 4)

3
2 + c

B. 
2
5

(x - 4)
5
2 + 6(x - 4)

3
2 + c

C. 
4
5

(x - 4)
5
2 - 6(x - 4)

3
2 + c

D. 
4
5

(x - 4)
5
2 + 6(x - 4)

3
2 + c

Answer: D

Watch Video Solution

100. ∫ (4 - 5x)(3 - x)
- 3
2 dx =

A. 
5x - 26

√3 - x
+ c

B. 
26 - 5x

√3 - x
+ c

C. 
2(5x - 26)

√3 - x
+ c

D. 
2(26 - 5x)

√3 - x
+ c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vc6f2IGVVK90
https://dl.doubtnut.com/l/_kWPfsZAgp3O6


101. ∫ (5 - 3x)(2 - 3x)
- 3
2 dx =

A. 
2
3

(11 - 3x)√2 - 3x + c

B. 
2
9

(11 - 3x)√2 - 3x + c

C. 
2
3

(3x - 11)√2 - 3x + c

D. 
2
9

(3x - 11)√2 - 3x + c

Answer: D

Watch Video Solution

102. ∫
1

√x + a + √x + b
 dx

A. 
2

5(a - b)
(x + a)

5
2 + (x + b)

5
2 -

2
3(a - b)

(x + b)
3
2 + (x + a)

3
2 + c

B. 
2

5(a - b)
(x + a)

5
2 + (x + b)

5
2 +

2
3(a - b)

(x + b)
3
2 + (x + a)

3
2 + c

( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_kWPfsZAgp3O6
https://dl.doubtnut.com/l/_gAaVy66chBft
https://dl.doubtnut.com/l/_7hadlgKIjc9z


C. 
2

5(a - b)
(x + a)

5

2 - (x + b)
5

2 -
2

3(a - b)
b(x + b)

3

2 - (x + a)
3

2 + c

D. 
2

5(a - b)
(x + a)

5

2 - (x + b)
5

2 +
2

3(a - b)
b(x + b)

3

2 - a(x + a)
3

2 + c

Answer: D

Watch Video Solution

( ) ( )
( ) ( )

103. Evaluate: ∫
x7

1 - x2 5
 dx
.

A. 
-x8

4 1 - x2 4
+ c

B. 
x8

4 1 - x2 4
+ c

C. 
-x8

8 1 - x2 4
+ c

D. 
x8

8 1 - x2 4
+ c

Answer: D

( )

( )

( )

( )

( )

https://dl.doubtnut.com/l/_7hadlgKIjc9z
https://dl.doubtnut.com/l/_KSH84gHgET5E


Watch Video Solution

104. ∫
x7

1 + x4 2
dx =

A. 
1
4

log 1 + x4 -
1

1 + x4 + c

B. 
1
4

log 1 + x4 +
1

1 + x4 + c

C. 
1
4

log 1 + x4 -
1

1 + x4 2
+ c

D. 
1
4

log 1 + x4 +
1

1 + x4 2
+ c

Answer: B

Watch Video Solution

( )

( | | )
( | | )
( | |

( )

( | |
( ) )

105. ∫
dx

√1 - x
=

https://dl.doubtnut.com/l/_KSH84gHgET5E
https://dl.doubtnut.com/l/_VM0TAq5y3uOg
https://dl.doubtnut.com/l/_DarI7u21lT6g


A. 2√1 - x + c

B. -2√1 - x + c

C. - sin - 1√x + c

D. sin - 1√x + c

Answer: B

Watch Video Solution

106. ∫
dx

(4x + 5)2 + 1
=

A. 
1
4cot - 1(4x + 5) + c

B. 
1
4 tan - 1(4x + 5) + c

C. cot - 1(4x + 5) + c

D. tan - 1(4x + 5) + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DarI7u21lT6g
https://dl.doubtnut.com/l/_D332xnKju9c7


107. ∫
(x - 1)2

x2 + 1 2
dx =

A. cot - 1x -
1

x2 + 1
+ c

B. cot - 1x +
1

x2 + 1
+ c

C. tan - 1x -
1

x2 + 1
+ c

D. tan - 1x +
1

x2 + 1
+ c

Answer: D

Watch Video Solution

( )

108. ∫
dx

(1 - 2x)√(1 - 2x)2 - 1
=

A. 
-1
2

sec - 1(1 - 2x) + c

B. 
1
2

sec - 1(1 - 2x) + c

https://dl.doubtnut.com/l/_D332xnKju9c7
https://dl.doubtnut.com/l/_xnyDZEkmMLvh
https://dl.doubtnut.com/l/_7TgYRkBPFcly


C. - sec - 1(1 - 2x) + c

D. sec - 1(1 - 2x) + c

Answer: A

Watch Video Solution

109. ∫
dx

(4x - 1)√(4x - 1)2 - 1
=

A. sec - 1(4x - 1) + c

B. - sec - 1(4x - 1) + c

C. 
1
4sec - 1(4x - 1) + c

D. 
-1
4 sec - 1(4x - 1) + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7TgYRkBPFcly
https://dl.doubtnut.com/l/_nMFzJqQZ0t2a


110. ∫
x2 + 1

x4 + 1
dx

A. 
1

√2
tan - 1 x2 - 1

√2x
+ c

B. 
-1

√2
tan - 1 x2 - 1

√2x
+ c

C. 
1

√2
tan - 1 x2 + 1

√2x
+ c

D. 
-1

√2
tan - 1 x2 + 1

√2x
+ c

Answer: A

Watch Video Solution

( )
( )
( )
( )

111. Evaluate: ∫
x2 - 1

x4 + 1
 dx

A. 
1

2√2
log

x +
1

x + √2

x +
1
x - √2

+ c| |

https://dl.doubtnut.com/l/_1Xa7Yfv6AiNw
https://dl.doubtnut.com/l/_zL8uEOLJQlGB


B. 
1

2√2
log

x +
1

x - √2

x +
1
x + √2

+ c

C. 
1

√2
log

x +
1

x + √2

x +
1
x - √2

+ c

D. 
1

√2
log

x +
1

x - √2

x +
1
x + √2

+ c

Answer: B

Watch Video Solution

| |
| |
| |

112. ∫
x2 - 1

x4 + x2 + 1
dx =

A. 
1
2

log
x2 - x + 1

x2 + x + 1
+ c

B. 
1
2

log
x2 + x + 1

x2 - x + 1
+ c

| |
| |

https://dl.doubtnut.com/l/_zL8uEOLJQlGB
https://dl.doubtnut.com/l/_VumOBV6nIl7Z


C. 
1
4

log
x2 - x + 1

x2 + x + 1
+ c

D. 
1
4

log
x2 + x + 1

x2 - x + 1
+ c

Answer: A

Watch Video Solution

| |
| |

113. ∫
x2 + 1

x4 + x2 + 1
dx

A. 
1

√3
tan - 1 x2 - 1

√3x
+ c

B. 
1

√3
tan - 1 x2 + 1

√3x
+ c

C. 
1

2√3
tan - 1 x2 - 1

√3x
+ c

D. 
1

2√3
tan - 1 x2 + 1

√3x
+ c

Answer: A

( )
( )
( )
( )

https://dl.doubtnut.com/l/_VumOBV6nIl7Z
https://dl.doubtnut.com/l/_WnKgS825lTAE


Watch Video Solution

114. ∫
sin√x

√x
dx = ?

A. cos√x + c

B. 2cos√x + c

C. -cos√x + c

D. -cos√x + c

Answer: D

Watch Video Solution

115. ∫x9sec2x10dx =

A. 
1
10 tanx10 + c

B. 
-1
10 tanx10 + c

https://dl.doubtnut.com/l/_WnKgS825lTAE
https://dl.doubtnut.com/l/_k9NrixWij6Nh
https://dl.doubtnut.com/l/_4C1GoDxzjJER


C. 
1
10

cotx10 + c

D. 
-1
10

cotx10 + c

Answer: A

Watch Video Solution

116. ∫ex(1 + x)cos2 xex dx =

A. 
xex

2
+

sin 2xex

4
+ c

B. 
xex

2
-

sin 2xex

4
+ c

C. 
xex

2
+

sin 2xex

2
+ c

D. 
xex

2 -
sin 2xex

2 + c

Answer: A

Watch Video Solution

( )

( )

( )

( )

( )

https://dl.doubtnut.com/l/_4C1GoDxzjJER
https://dl.doubtnut.com/l/_ZZSM48U7anKK


117. ∫
ex(1 + x)

cos2 xex
dx =

A. extan2 xex + c

B. tan2 xex + c

C. extan xex + c

D. tan xex + c

Answer: D

Watch Video Solution

( )

( )
( )
( )

( )

118. Evaluate: (i) ∫
sin√x

√x
 dx
(ii) ∫

(x + 1)ex

sin2 x ex
 dx

A. cot xex + c

B. -cot xex + c

( )

( )
( )

https://dl.doubtnut.com/l/_ZZSM48U7anKK
https://dl.doubtnut.com/l/_c0IbpiAP041Q
https://dl.doubtnut.com/l/_PMHCPvPrHoly


C. xcot xex + c

D. -xcot xex + c

Answer: B

Watch Video Solution

( )
( )

119. ∫sin4xcos3xdx =

A. 
sin5x

5
+

sin7x
7

+ c

B. 
sin5x

5
-

sin7x
7

+ c

C. 
sin7x

7 +
sin5x

5 + c

D. 
- sin7x

7
-

sin5x
5

+ c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PMHCPvPrHoly
https://dl.doubtnut.com/l/_2Ki5TzLXUU3d


120. ∫
sec8x

cosec x
dx =

A. 
sec8x

8
+ c

B. 
sec7x

7 + c

C. 
sec6x

6
+ c

D. 
sec9x

9
+ c

Answer: B

Watch Video Solution

121. ∫x2cosx3√sin7x3dx =

A. 
2
3√sin9x3 + c

B. 
1
3√sin9x3 + c

C. 
2
27√sin9x3 + c

D. 
1
27√sin9x3 + c

https://dl.doubtnut.com/l/_tIUj2wTGs1Lq
https://dl.doubtnut.com/l/_ZLbrljIbeYTC


Answer: C

Watch Video Solution

122. ∫
cos7x
sinx

dx =

A. log|sinx| -
3
2

sin2x +
3
4

sin4x -
1
6

sin6x + c

B. log|sinx| -
3
4

sin2x +
3
2

sin4x -
1
6

sin6x + c

C. log|sinx| -
3
2

sin2x +
3
2

sin4x -
1
6

sin6x + c

D. log|sinx| -
3
4

sin2x +
3
4

sin4x -
1
6

sin6x + c

Answer: A

Watch Video Solution

123. ∫e3logsinxcotxdx =

A. 3sin3x + c

https://dl.doubtnut.com/l/_ZLbrljIbeYTC
https://dl.doubtnut.com/l/_dNwv1IMxLSia
https://dl.doubtnut.com/l/_dETK8d5Qx7KG


B. -3sin3x + c

C. 
sin3x

3
+ c

D. 
- sin3x

3
+ c

Answer: C

Watch Video Solution

124. ∫
cos3x

sin11x
dx

A. 
2
5

(cotx)
5
2 -

2
9

(cotx)
9
2 + c

B. 
-2
5

(cotx)
5
2 +

2
9

(cotx)
9
2 + c

C. 
-2
5

(cotx)
5
2 -

2
9

(cotx)
9
2 + c

D. 
2
5

(cotx)
5
2 +

2
9

(cotx)
9
2 + c

Answer: C

Watch Video Solution

√

https://dl.doubtnut.com/l/_dETK8d5Qx7KG
https://dl.doubtnut.com/l/_r5Oen1OVHWBm


125. ∫ tanxsec2x√1 - tan2xdx

A. 
-1
3

1 - tan2x
3

2 + c

B. 
1
3

1 - tan2x
3
2 + c

C. 
-2
3

1 - tan2x
3

2 + c

D. 
2
3

1 - tan2x
3
2 + c

Answer: A

Watch Video Solution

( )
( )
( )

( )

126. ∫sec
2

3xdx =

A. -3(tanx)
1

3 + c

B. -3(tanx)
- 1

3 + c

C. 3(tanx)
- 1

3 + c

D. (tanx)
- 1

3 + c

https://dl.doubtnut.com/l/_r5Oen1OVHWBm
https://dl.doubtnut.com/l/_Q9UO8GliOLnv
https://dl.doubtnut.com/l/_XB8MuRT8MFlO


Answer: B

View Text Solution

127. ∫
xsec2x2

√tan3x2
dx =

A. 
1

√tanx2
+ c

B. 
2

√tanx2
+ c

C. 
-1

√tanx2
+ c

D. 
-2

√tanx2
+ c

Answer: C

Watch Video Solution

128. ∫
sin32x

cos52x
dx =

https://dl.doubtnut.com/l/_XB8MuRT8MFlO
https://dl.doubtnut.com/l/_ia6XX1omG9Nf
https://dl.doubtnut.com/l/_zS8uddwFkgCW


A. tan4x + c

B. tan4x + c

C. tan42x + x + c

D. 
1
8

tan42x + c

Answer: D

Watch Video Solution

129. ∫
(secx + cosec x)(secx - cosec x)

tanx + cotx
dx =

A. (log|tanx + cotx|)2 + c

B. - (log|tanx + cotx|)2 + c

C. log|tanx + cotx| + c

D. - log|tanx + cotx| + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_zS8uddwFkgCW
https://dl.doubtnut.com/l/_Jp0f1njgnaI3


130. Find ∫
dx

sinxcos3x
.

A. tan4x - log|tanx| + c

B. tan4x + log|tanx| + c

C. 
1
2

tan2x + log|tanx| + c

D. 
1
2

tan2x - log|tanx| + c

Answer: C

Watch Video Solution

131. Evaluate:
∫
secxtanx
3secx + 5

dx

A. 
-1
3

log|3secx + 5| + c

B. 
1
3

log|3secx + 5| + c

C. -3log|3secx + 5| + c

https://dl.doubtnut.com/l/_Jp0f1njgnaI3
https://dl.doubtnut.com/l/_ZHSEcUFtwet8
https://dl.doubtnut.com/l/_n0ii5kQVHMxK


D. 3log|3secx + 5| + c

Answer: B

Watch Video Solution

132. Evaluate ∫
√tanx

sinx. cosx
dx

A. 2√secx + c

B. 2√tanx + c

C. 
2

√tanx
+ c

D. 
2

√secx
+ c

Answer: B

Watch Video Solution

133. ∫secnxtanxdx =

https://dl.doubtnut.com/l/_n0ii5kQVHMxK
https://dl.doubtnut.com/l/_9mIrTnR8qUOZ
https://dl.doubtnut.com/l/_AaJ3JAsSmwDx


A. 
secn+ 1x
n + 1

+ c

B. 
secnx
n

+ c

C. 
tann+ 1x
n + 1 + c

D. 
tannx
n

+ c

Answer: B

Watch Video Solution

134. ∫ sec4x. cosec2x dx =

A. 
1
3

tan3x + 2tanx - cotx + c

B. 
1
3

tan3x - 2tanx + cotx + c

C. 
1
3

tan3x - 2tanx - cotx + c

D. 
1
3

tan3x + 2tanx + cotx + c

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_AaJ3JAsSmwDx
https://dl.doubtnut.com/l/_srSXEl7UVO1o


Watch Video Solution

135. ∫
dx

sinxcosx + 2cos2x
=

A. - log|tanx + 2| + c

B. log|tanx + 2| + c

C. -2log|tanx + 2| + c

D. 2log|tanx + 2| + c

Answer: B

Watch Video Solution

136. ∫
x

1 - xcotxdx =

A. log|cosx - xsinx| + c

B. log|xsinx - cosx| + c

C. log|sinx - xcosx| + c

https://dl.doubtnut.com/l/_srSXEl7UVO1o
https://dl.doubtnut.com/l/_EyovK5efSENg
https://dl.doubtnut.com/l/_uIga2m3aEWoz


D. log|cosx + xsinx| + c

Answer: C

Watch Video Solution

137. ∫
(cosx - sinx)
(1 + sin2x)

dx

A. 
-1

cosx + sinx
+ c

B. 
1

cosx + sinx
+ c

C. 
1

cosx - sinx
+ c

D. 
1

sinx - cosx
+ c

Answer: A

Watch Video Solution

138. ∫
cosx + xsinx

x2 + xcosx
dx =  . . . .

https://dl.doubtnut.com/l/_uIga2m3aEWoz
https://dl.doubtnut.com/l/_DY93qPOk56tS
https://dl.doubtnut.com/l/_2aWxseMhkI93


A. log
x

x + cosx
+ c

B. log
x + cosx

x
+ c

C. log
xsinx

x + cosx
+ c

D. log
x + cosx
xsinx

+ c

Answer: A

Watch Video Solution

| |
| |
| |
| |

139. ∫
1 - cotx
1 + cotx

dx

A. - log|sinx - cosx| + c

B. log|sinx - cosx| + c

C. - log|sinx + cosx| + c

D. log|sinx + cosx| + c

Answer: C

https://dl.doubtnut.com/l/_2aWxseMhkI93
https://dl.doubtnut.com/l/_1CQ4rigV0FfO


Watch Video Solution

140. ∫
sin2x

1 + sin2x
dx =

A. log|sin2x| + c

B. log 1 + sin2x + c

C. 
1
2

log 1 + sin2x + c

D. tan - 1(sinx) + c

Answer: B

Watch Video Solution

| |
| |

141. ∫
sin2x

1 + cos2x
dx =

A. 
1
2

log 1 + cos2x + c

B. 
1
2

log|1 + cos2x| + c

| |

https://dl.doubtnut.com/l/_1CQ4rigV0FfO
https://dl.doubtnut.com/l/_eYo9XegitogZ
https://dl.doubtnut.com/l/_X4pkTml3ouGa


C. 2log 1 + cos2x + c

D. - log 1 + cos2x + c

Answer: D

Watch Video Solution

| |
| |

142. ∫
sin2xdx

a2sin2x + b2cos2x

A. 
-1

a2 + b2 log a2sin2x + b2cos2x + c

B. 
1

a2 + b2 log a2sin2x + b2cos2x + c

C. 
-1

a2 - b2 log a2sin2x + b2cos2x + c

D. 
1

a2 - b2 log a2sin2x + b2cos2x + c

Answer: D

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_X4pkTml3ouGa
https://dl.doubtnut.com/l/_2hb1EzLtKTke


143. ∫
sin2x

asin2x + bcos2x
dx =

A. 
-1

a + b log asin2x + bcos2x + c

B. 
-1
a - b log asin2x + bcos2x + c

C. 
1

a - b log asin2x + bcos2x + c

D. 
1

a + b log asin2x + bcos2x + c

Answer: C

Watch Video Solution

| |
| |
| |
| |

144. ∫
elogtanx

3tan2x + 2
dx =

A. 
1
6 log 3sin2x + 2cos2x + c

B. 
1
2 log 3sin2x + 2cos2x + c

C. 
1
3 log 3sin2x + 2cos2x + c

D. 
1
12 log 3sin2x + 2cos2x + c

| |
| |
| |
| |

https://dl.doubtnut.com/l/_01MUOfus5IZp
https://dl.doubtnut.com/l/_8D97SFBLavOj


Answer: B

Watch Video Solution

145. Evaluate ∫
sec2xtanx

sec2x + tan2x
dx

A. 
-1
2

log sec2x + tan2x + c

B. 
1
2

log sec2x + tan2x + c

C. 
-1
4

log sec2x + tan2x + c

D. 
1
4

log sec2x + tan2x + c

Answer: D

Watch Video Solution

| |
| |
| |

| |

146. ∫
cos2x

(sinx + cosx)2dx is equal to :

A. log|cosx + sinx| + c

https://dl.doubtnut.com/l/_8D97SFBLavOj
https://dl.doubtnut.com/l/_DULYPBO1RIxD
https://dl.doubtnut.com/l/_Vc3N82tR5Uca


B. - log|cosx + sinx| + c

C. log|cosx - sinx| + c

D. - log|cosx - sinx| + c

Answer: A

Watch Video Solution

147. Evaluate:
∫
cos2x + x + 1

x2 + sin2x + 2x
dx

A. 2log x2 + sin2x + 2x + c

B. log x2 + sin2x + 2x + c

C. 
1
2 log x2 + sin2x + 2x + c

D. 
1
4 log x2 + sin2x + 2x + c

Answer: C

Watch Video Solution

| |
| |

| |
| |

https://dl.doubtnut.com/l/_Vc3N82tR5Uca
https://dl.doubtnut.com/l/_iLYYYMDCbJpq
https://dl.doubtnut.com/l/_14xNEw8uZFMF


148. ∫
sin2x

sin4x + cos4x
dx

A. cot - 1 tan2x + c

B. tan - 1 tan2x + c

C. cot - 1 cot2x + c

D. tan - 1 cot2x + c

Answer: B

Watch Video Solution

( )
( )
( )
( )

149. ∫
sin2x

sin4x + cos4x
dx

A. √2tan - 1 tan2x - 1

√2tanx
+ c

B. √2cot - 1 tan2x - 1

√2tanx
+ c

C. 
1

√2
tan - 1 tan2x - 1

√2tanx
+ c

( )
( )
( )

https://dl.doubtnut.com/l/_14xNEw8uZFMF
https://dl.doubtnut.com/l/_YXD5DlafRdqg


D. 
1

√2
cot - 1 tan2x - 1

√2tanx
+ c

Answer: C

Watch Video Solution

( )

150. 
1

√sin3xsin(x + α)

A. 2 cosec α√cosα + sinαcotx + c

B. -2 cosec α√cosα + sinαcotx + c

C. cosec α√cosα + sinαcotx + c

D. - cosec α√cosα + sinαcotx + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YXD5DlafRdqg
https://dl.doubtnut.com/l/_xUdqehAga0ux


151. ∫
√cos2θ

sinθ
dθ =

A. log cotθ + √cot2θ - 1 + √2log cosθ + cos2θ -
1
2

+ c

B. - log cotθ + √cot2θ - 1 + √2log cosθ + cos2θ -
1
2

+ c

C. log cotθ + √cot2θ - 1 - √2log cosθ + cos2θ -
1
2

+ c

D. - log cotθ + √cot2θ - 1 - √2log cosθ + cos2θ -
1
2

+ c

Answer: B

Watch Video Solution

| | | √ |
| | | √ |

| | | √ |
| | | √ |

152. ∫
secxdx

√cos2x
=

A. sin - 1(tanx) + c

B. cos - 1(tanx) + c

C. tanx + c

https://dl.doubtnut.com/l/_2PxAAs2Uo8AC
https://dl.doubtnut.com/l/_KkMFE5dLQT2O


D. cotx + c

Answer: A

Watch Video Solution

153. ∫
(sinθ + cosθ)

√sin2θ
dθ is equal to

A. log cosθ - sinθ + √sin2θ + c

B. sin - 1(sinθ - cosθ) + c

C. log sinθ - cosθ + √sin2θ + c

D. si - 1(sinθ + cosθ) + c

Answer: B

Watch Video Solution

| |

| |

154. Evaluate: ∫√tanxdx

https://dl.doubtnut.com/l/_KkMFE5dLQT2O
https://dl.doubtnut.com/l/_Rx4wfjL62LXJ
https://dl.doubtnut.com/l/_f7SgoWckpkzU


A. 
1

√2
tan - 1 tanx - 1

√2tanx
-

1

2√2
log

tanx - √2tanx + 1

tanx + √2tanx + 1
+ c

B. 
1

√2
tan - 1 tanx - 1

√2tanx
+

1

2√2
log

tanx - √2tanx + 1

tanx + √2tanx + 1
+ c

C. 
1

√2
tan - 1 tanx - 1

√2tanx
+

1

√2
log

tanx - √2tanx + 1

tanx + √2tanx + 1
+ c

D. 
1

√2
tan - 1 tanx - 1

√2tanx
+

1

√2
log

tanx - √2tanx + 1

tanx + √2tanx + 1
+ c

Answer: B

Watch Video Solution

( ) | |
( ) | |
( ) | |
( ) | |

155. Evaluate ∫√cotxdx.

A. 
1

√2
tan - 1 cotx - 1

√2cotx
-

1

2√2
log

1 + cotx - √2cotx

1 + cotx + √2cotx
+ c

B. 
-1

√2
tan - 1 cotx - 1

√2cotx
+

1

2√2
log

1 + cotx - √2cotx

1 + cotx + √2cotx
+ c

C. 
-1

√2
tan - 1 cotx - 1

√2cotx
+

1

2√2
log

1 + cotx - √2cotx

1 + cotx + √2cotx
+ c

D. 
1

√2
tan - 1 cotx - 1

√2cotx
+

1

2√2
log

1 + cotx - √2cotx

1 + cotx + √2cotx
+ c

( ) | |
( ) | |
( ) | |
( ) | |

https://dl.doubtnut.com/l/_f7SgoWckpkzU
https://dl.doubtnut.com/l/_MWSDi4cq5JB3


Answer: C

Watch Video Solution

156. For which of the following functions, the substitution x2 = t is

applicable

A. ∫x6tan - 1x3dx

B. ∫ tan - 1 2x

1 - x2 dx

C. ∫x3cosx2dx

D. ∫x4cos2dx

Answer: C

Watch Video Solution

( )

157. ∫
dx

√1 - x2 2 + 3sin - 1x
=

( )

https://dl.doubtnut.com/l/_MWSDi4cq5JB3
https://dl.doubtnut.com/l/_GmxWNjs9V3tg
https://dl.doubtnut.com/l/_odRFGw73I8Yb


A. 3log 2 + 3sin - 1x + c

B. -3log 2 + 3sin - 1x + c

C. 
1
3

log 2 + 3sin - 1x + c

D. 
-1
3

log 2 + 3sin - 1x + c

Answer: C

Watch Video Solution

| |
| |
| |
| |

158. Evaluate: ∫
1

1 - x2 9 + sin - 1x 2

 dx

A. log 3 + sin - 1x + c

B. - log 3 + sin - 1x + c

C. log 9 + sin - 1x
2

+ sin - 1x + c

D. - log 9 + sin - 1x + c

Answer: C

√( ){ ( ) }
| |
| |

|√ ( ) |
| |

https://dl.doubtnut.com/l/_odRFGw73I8Yb
https://dl.doubtnut.com/l/_4QRUKvxHS5k5


Watch Video Solution

159. Evaluate: (i) ∫
sin - 1x 3

√1 - x2
 dx
(ii) ∫

sin(2 + 3logx)
x

 dx

A. 
-2
5

sin - 1x
5
2 + c

B. 
2
5 sin - 1x

5

2 + c

C. 
-5
2

sin - 1x
5
2 + c

D. 
5
2 sin - 1x

5

2 + c

Answer: B

Watch Video Solution

( ) (
( )

( )
( )

( )

160. ∫
xsin - 1 x2

√1 - x4
dx =

A. 
1
2

sin - 1x2 2 + c

( )

( )

https://dl.doubtnut.com/l/_4QRUKvxHS5k5
https://dl.doubtnut.com/l/_gJ8MEZe4gzLt
https://dl.doubtnut.com/l/_mJU9UnAoc9zE


B. 
1
4

sin - 1x2 2 + c

C. 
1
2

sin - 1x4 + c

D. 
1
4

sin - 1x4 + c

Answer: B

Watch Video Solution

( )

161. Evaluate: ∫
x2tan - 1x3

1 + x6 dx

A. 
1
2

tan - 1x3 2 + c

B. 
1
4

tan - 1x3 2 + c

C. 
1
6

tan - 1x3 2 + c

D. 
1
12

tan - 1x3 2 + c

Answer: C

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_mJU9UnAoc9zE
https://dl.doubtnut.com/l/_BG9KkrzYROZF


162. ∫ x + cot - 1x
x2

x2 + 1
dx =

A. x + cot - 1x 2 + c

B. - x + cot - 1x 2 + c

C. 
1
2

x + cot - 1x 2 + c

D. 
-1
2

x + cot - 1x 2 + c

Answer: C

Watch Video Solution

( ) ( )
( )
( )
( )
( )

163. ∫cos 2cot - 1 1 - x
1 + x

dx =

A. 
1
2

+
x2

4
+ c

B. 
1
2

-
x2

4
+ c

C. 
1
2 +

x2

2 + c

( √ )

https://dl.doubtnut.com/l/_QJxFWjpZ9zQ2
https://dl.doubtnut.com/l/_mMF4jdUQZY55


D. 
1
2

-
x2

2
+ c

Answer: D

Watch Video Solution

164. To evalute ∫x3e3x2 + 5dx the simplest way is to

A. substitute x2 = t

B. substitute 3x2 = t

C. integration by parts

D. can not evaluate

Answer: B

Watch Video Solution

165. ∫
e5x

√e5x + 1
dx =

https://dl.doubtnut.com/l/_mMF4jdUQZY55
https://dl.doubtnut.com/l/_0fPj7PqzqTEx
https://dl.doubtnut.com/l/_xKqNHwrpVXYH


A. 
2
5√e5x + 1 + c

B. 
5
2√e5x + 1 + c

C. 
1
5√e5x + 1 + c

D. 
1
2√e5x + 1 + c

Answer: A

Watch Video Solution

166. Evaluate:
∫
ex + 1

ex + x
dx

A. log ex + x + c

B. - log ex + x + c

C. log ex + 1 + c

D. - log ex + 1 + c

Answer: A

Watch Video Solution

| |
| |

| |
| |

https://dl.doubtnut.com/l/_xKqNHwrpVXYH
https://dl.doubtnut.com/l/_IXeuIDz0K8uf


167. Evaluate:
∫
e3x

e3x + 1
dx

A. 
1
3

log e3x + 1 + c

B. 
1
3

log e - 3x + 1 + c

C. 3log e3x + 1 + c

D. 3log e - 3x + 1 + c

Answer: A

Watch Video Solution

| |
| |
| |
| |

168. ∫
xe - 1 + ex - 1

xe - ex
dx

A. 
1

log xe + ex
+ c

B. 
1
e

log xe + ex + c

C. log xe + ex + c

| |
| |

| |

https://dl.doubtnut.com/l/_IXeuIDz0K8uf
https://dl.doubtnut.com/l/_Yu5ovfCEzwCB
https://dl.doubtnut.com/l/_9X2f9HfneOvM


D. elog xe + ex + c

Answer: B

Watch Video Solution

| |

169. ∫
x2 + 2

x2 + 1
ax+ tan - 1

dx =

A. (loga)ax+ tan - 1x + c

B. 
x + tan - 1x

loga
+ c

C. 
ax+ tan - 1x

loga
+ c

D. (loga)a x + tan - 1x + c

Answer: C

Watch Video Solution

( )( )

( )

https://dl.doubtnut.com/l/_9X2f9HfneOvM
https://dl.doubtnut.com/l/_58lO56dXJT9i


170. ∫7xlogx(1 + logx)dx =

A. 
7xlogxx
log7

+ c

B. 
7xlogx

log7
+ c

C. 7xlogxx + c

D. 7xlogx + c

Answer: B

Watch Video Solution

171. ∫
x + 2xlog2

x2 + 2x+ 1 dx =

A. 
1
2

log x22 +x+ 1 + c

B. 
1
4

log x2 + 2x+ 1 + c

C. 
-1
2

log x2 + 2x+ 1 + c

D. 
-1
4

log x2 + 2x+ 1 + c

| |
| |
| |
| |

https://dl.doubtnut.com/l/_iBAQhKYMRVoX
https://dl.doubtnut.com/l/_V0j2PGIw62sN


Answer: A

Watch Video Solution

172. Evaluate:
∫
10x9 + 10x(log)e10

10x + x10 dx

A. log 10x + x10 + c

B. 10log 10x + x10 + c

C. - log 10x + x10 + c

D. -10log 10x + x10 + c

Answer: A

Watch Video Solution

| |
| |

| |
| |

173. e3logx x4 + 1
- 1

A. log x4 + 1 + c

( )

| |

https://dl.doubtnut.com/l/_V0j2PGIw62sN
https://dl.doubtnut.com/l/_OhN6PyzqrXHN
https://dl.doubtnut.com/l/_36xJ1SyILtja


B. - log x4 + 1 + c

C. 
!
4

log x4 + 1 + c

D. 
-1
4

log x4 + 1 + c

Answer: C

Watch Video Solution

| |
| |
| |

174. ∫
dx

a + bex
=

A. 
-1
a log ae - x + b + c

B. 
1
a log ae - x + b + c

C. 
-1
b log ae - x + b + c

D. 
1
b log ae - x + b + c

Answer: A

Watch Video Solution

| |
| |
| |

| |

https://dl.doubtnut.com/l/_36xJ1SyILtja
https://dl.doubtnut.com/l/_g1BQZ42kIVJL
https://dl.doubtnut.com/l/_MdIect8GdydL


175. ∫
dx

ex + e - x

A. tan - 1ex + c

B. cot - 1ex + c

C. extan - 1ex + c

D. excot - 1ex + c

Answer: A

Watch Video Solution

176. The value of the integral ∫
dx

ex + e - x
 is

A. 
-1

2 e2x + 1
+ c

B. 
1

2 e2x + 1
+ c

C. 
-1

e2x + 1
+ c

( )

( )

( )

https://dl.doubtnut.com/l/_MdIect8GdydL
https://dl.doubtnut.com/l/_OxF4cigEC1UX


D. 
1

e2x + 1
+ c

Answer: A

Watch Video Solution

177. ∫
dx

1 + ex

A. x - 2log ex + 1 + c

B. x + 2log ex + 1 + c

C. x - log ex + 1 + c

D. x + log ex + 1 + c

Answer: C

Watch Video Solution

| |
| |

| |
| |

178. ∫
dx

1 + e - x  is equal to

https://dl.doubtnut.com/l/_OxF4cigEC1UX
https://dl.doubtnut.com/l/_fKuUAPsQDzs8
https://dl.doubtnut.com/l/_8Y8XSNz7QKM4


A. log e - x + 1 + c

B. - log e - x + 1 + c

C. log ex + 1 + c

D. - log ex + 1 + c

Answer: C

Watch Video Solution

| |
| |

| |
| |

179. ∫
ex - 1

ex + 1
dx

A. x + log
ex

ex + 1
+ c

B. x + log
ex + 1

ex
+ c

C. x + 2log
ex

ex + 1
+ c

D. x + 2log
ex + 1

ex
+ c

| |
| |
| |
| |

https://dl.doubtnut.com/l/_8Y8XSNz7QKM4
https://dl.doubtnut.com/l/_1AmCN7eNMvqa


Answer: D

Watch Video Solution

180. ∫
dx

1 + ex 1 + e - x
=

A. 
-1

1 + ex
+ c

B. 
1

1 + ex
+ c

C. 
ex

1 + ex
+ c

D. 
-ex

1 + ex
+ c

Answer: A

Watch Video Solution

( ) ( )

181. ∫
e - x

1 + ex
dx =

https://dl.doubtnut.com/l/_1AmCN7eNMvqa
https://dl.doubtnut.com/l/_iT2rxBMAue1Q
https://dl.doubtnut.com/l/_3TMqu5fw3dFi


A. log ex + 1 - x - e - x - 1 + c

B. log ex + 1 + x - e - x - 1 + c

C. log ex + 1 - x + e - x - 1 + c

D. log ex + 1 + x + e - x - 1 + c

Answer: A

Watch Video Solution

| |
| |
| |
| |

182. ∫
ex + 1

ex - 1
dx =

A. log ex - 1 + x + c

B. 2log ex - 1 + x + c

C. log ex - 1 - x + c

D. 2log ex - 1 - x + c

Answer: D

Watch Video Solution

| |
| |

| |
| |

https://dl.doubtnut.com/l/_3TMqu5fw3dFi
https://dl.doubtnut.com/l/_PP3kBWLl8vVm


183. Evaluate:
∫
e2 - 1

e2 + 1
dx

.

A. log ex + e - x + c

B. - log ex + e - x + c

C. log ex - e - x + c

D. - log ex - e - x + c

Answer: A

Watch Video Solution

| |
| |

| |
| |

184. Evaluate:
∫
e2 - 1

e2 + 1
dx

.

A. 
e2x - 1

e2x + 1
+ c

B. 
e2x + 1

e2x - 1
+ c

C. log e2x + 1 - x + c| |

https://dl.doubtnut.com/l/_PP3kBWLl8vVm
https://dl.doubtnut.com/l/_mNK1mPOlPtxn
https://dl.doubtnut.com/l/_bzKwPTucCaKR


D. log e2x + 1 + c

Answer: C

Watch Video Solution

| |

185. If I = ∫
ex

e4x + e2e + 1
dx. J = ∫

e - x

e - 4x + e - 2x + 1
dx.  Then for an arbitrary

constant c, the value of J - I equal to

A. 
1
2

log
e4x - e2x + 1

e4x + e2x + 1
+ c

B. 
1
2

log
e4x + e2x + 1

e4x - e2x + 1
+ c

C. 
1
2

log
e2x - ex + 1

e2x + ex + 1
+ c

D. 
1
2

log
e2x + ex + 1

e4x - e2x + 1
+ c

Answer: C

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_bzKwPTucCaKR
https://dl.doubtnut.com/l/_8sRACNQliFjq


186. To find the value of ∫
1 + logx

x
dx, the proper substitution is

A. logx = t

B. 1 + logx = t

C. 
1
x

= t

D. x = t

Answer: B

Watch Video Solution

187. ∫xx(1 + logx)dx

A. xx + c

B. x2x + c

C. xxlogx + c

D. 
1
2

(logx)2 + c

https://dl.doubtnut.com/l/_8sRACNQliFjq
https://dl.doubtnut.com/l/_QE8UC0feWzv3
https://dl.doubtnut.com/l/_go7OI9XpZiDd


Answer: A

Watch Video Solution

188. ∫
1
x

. logxdx = .... .

A. log(logx) + c

B. 
1
2

(log)2 + c

C. 2logx + c

D. logx + c

Answer: B

Watch Video Solution

189. ∫
(logx)n

x
dx =

A. 
1

n + 1
(logx)n+ 1 + c

https://dl.doubtnut.com/l/_go7OI9XpZiDd
https://dl.doubtnut.com/l/_P3gk49Axz8KH
https://dl.doubtnut.com/l/_pmsdF9fs9LJg


B. 
1
n

(logx)n + c

C. 
1

n + 1
logxn+ 1 + c

D. 
1
n

logxn + c

Answer: A

Watch Video Solution

190. ∫
1

x3 logxx
2
dx =

A. 
1
3x

3logx + c

B. 
1
3 (logx)3 + c

C. 3log|logx| + c

D. (logx)3 + c

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_pmsdF9fs9LJg
https://dl.doubtnut.com/l/_5GzCFhxZv9P9
https://dl.doubtnut.com/l/_kVpw2N1mgSHf


191. ∫
dx

x(3 + logx)
=

A. -3log|3 + logx| + c

B. 3log|3 + logx| + c

C. - log|3 + logx| + c

D. log|3 + logx| + c

Answer: D

Watch Video Solution

192. ∫
(x + 1)(x + logx)4

3x dx =

A. 
1
3 (x + logx)5 + c

B. 
1
5 (x + logx)5 + c

C. 
1
4 (x + logx)5 + c

D. 
1
15 (x + logx)5 + c

https://dl.doubtnut.com/l/_kVpw2N1mgSHf
https://dl.doubtnut.com/l/_VL1OeWS2Im5K


Answer: D

Watch Video Solution

193. The value of the integral ∫
log(x + 1) - logx

x(x + 1)
dx is

A. 
1
4

log
x + 1
x

2
+ c

B. 
-1
4

log
x + 1
x

2
+ c

C. 
1
2

log
x + 1
x

2
+ c

D. 
-1
2

log
x + 1
x

2
+ c

Answer: D

Watch Video Solution

( | |)
( | | )

( | |)
( | | )

194. ∫
dx

x. logx. log(logx) =

https://dl.doubtnut.com/l/_VL1OeWS2Im5K
https://dl.doubtnut.com/l/_pr3lxQAKFu4Q
https://dl.doubtnut.com/l/_RamDMLjt3ZI3


A. logx + c

B. log|log(logx)| + c

C. log|logx| + c

D. log|xlogx| + c

Answer: B

Watch Video Solution

195. ∫
secx

log(secx + tanx)
dx =

A. - log|secx + tanx| + c

B. log|secx + tanx| + c

C. - log|log(secx + tanx)| + c

D. log|log(secx + tanx)| + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_RamDMLjt3ZI3
https://dl.doubtnut.com/l/_BukUspvJYpa1


196. ∫
secx cosec x

log(tanx) dx

A. log(tanx) + c

B. log|log(tanx)| + c

C. sec2xlog(tanx) + c

D. sec2xlog|log(tanx)| + c

Answer: B

Watch Video Solution

197. ∫
secxcosecx
log(cotx)

dx =

A. - log(cotx) + c

B. - log|log(cotx)| + c

C. cosec2xlog|log(cotx)| + c

https://dl.doubtnut.com/l/_BukUspvJYpa1
https://dl.doubtnut.com/l/_HZMcLoeulrtm
https://dl.doubtnut.com/l/_wbmSR0ZAOCC4


D. cosec2xlog(cotx) + c

Answer: B

Watch Video Solution

198. ∫ log tan
x
2

cosecxdx =

A. 
1
2

log tan
x
2

2
+ c

B. 
1
4

log tan
x
2

2
+ c

C. 2 log tan
x
2

2
+ c

D. 4 log tan
x
2

2
+ c

Answer: A

Watch Video Solution

( ( ))
( | ( )| )
( | ( )| )
( | ( )| )
( | ( )| )

https://dl.doubtnut.com/l/_wbmSR0ZAOCC4
https://dl.doubtnut.com/l/_ZcUHwYP8xWzg


199. ∫
exlog sinex

tanex
dx =

A. 
1
2 log sinex

2
+ c

B. 
-1
2 log sinex

2
+ c

C. 2 log sinex
2

+ c

D. -2 log sinex
2

+ c

Answer: A

Watch Video Solution

( )

( ( ) )
( ( ))

( ( ) )
( ( ))

200. Evaluate: ∫
(1 + logx)2

1 + logxx+ 1 + logx√x 2
dx

A. log|1 + logx| + c

B. log 1 + log√x + c

C. log|1 + xlogx| + c

( )

| |

https://dl.doubtnut.com/l/_4TbVoGYsduQh
https://dl.doubtnut.com/l/_giXiiAdzGoXv


D. log|x + logx| + c

Answer: C

Watch Video Solution

201. ∫secxdx =

A. log tan
π
8

+
x
2

+ c

B. - log|secx - tanx| + c

C. log|secx - tanx| + c

D. - log|secx + tanx| + c

Answer: B

Watch Video Solution

| ( ) |

202. ∫
cos2x
cosx

dx =

https://dl.doubtnut.com/l/_giXiiAdzGoXv
https://dl.doubtnut.com/l/_0Y6MrE6LKr4u
https://dl.doubtnut.com/l/_2C0HGK13bkoz


A. 2sinx + log|secx + tanx| + c

B. 2sinx - log|secx + tanx| + c

C. sinx + log|secx + tanx| + c

D. 2sinx - log|secx + tanx| + c

Answer: B

Watch Video Solution

203. ∫
cos2x
sinx

dx =

A. log tan
x
2

- 2cosx + c

B. log tan
x
2

+ 2cosx + c

C. 
1
2

log tan
x
2

- 2cosx + c

D. 
1
2

log tan
x
2

+ 2cosx + c

Answer: B

| ( ) |
| ( )|
| ( )|
| ( )|

https://dl.doubtnut.com/l/_2C0HGK13bkoz
https://dl.doubtnut.com/l/_4jLRQbq4qTln


Watch Video Solution

204. ∫
sin3x
cosx dx =

A. log|cosx| + 2cos2x + c

B. log|secx| + 2cos2x + c

C. log|cosx| - 2cos2x + c

D. log|secx| - 2cos2x + c

Answer: C

Watch Video Solution

205. ∫
dx

sinxcosx
=

A. log|sinx| + c

B. - log|cosx| + c

C. log|tanx| + c

https://dl.doubtnut.com/l/_4jLRQbq4qTln
https://dl.doubtnut.com/l/_nv2MYj1PqyDa
https://dl.doubtnut.com/l/_CaZvxPLAxsgo


D. log|cotx| + c

Answer: C

Watch Video Solution

206. ∫
sinx

(1 + cosx)
dx

A. 2log sec
x
2

+ c

B. 2log cos
x
2

+ c

C. 
1
2

log sec
x
2

+ c

D. 
1
2

log cos
x
2

+ c

Answer: A

Watch Video Solution

| ( ) |
| ( )|
| ( )|
| ( )|

https://dl.doubtnut.com/l/_CaZvxPLAxsgo
https://dl.doubtnut.com/l/_Kq21NeurhivS


207. (i) ∫
cosx

1 + cosx
dx , (ii) ∫

sinx
(1 - sinx)

dx

A. - log|secx(secx + tanx)| + c

B. log|secx(secx + tanx)| + c

C. - log
secx

secx + tanx
+ c

D. log
secx

secx + tanx
+ c

Answer: B

Watch Video Solution

| |
| |

208. ∫
1 + x

sinx(x + logx)dx =

A. log
tan(x + logx)

2 + c

B. 
1
2 log

tan(x + logx)
2 + c

C. log tan
x + logx

2 + c

| |
| |

| ( ) |

https://dl.doubtnut.com/l/_zmQtPVmRjRKV
https://dl.doubtnut.com/l/_37Gi7kB8Lg3H


D. 
1
2

log tan
x + logx

2
+ c

Answer: C

View Text Solution

| ( ) |

209. Evaluate: ∫
1

cos3x - cosx
 dx

A. 
-1
2

(log|secx + tanx| - cosecx) + c

B. 
-1
2

(log|secx + tanx| + cosecx) + c

C. 
-1
4

(log|secx + tanx| - cosecx) + c

D. 
-1
4

(log|secx + tanx| + cosecx) + c

Answer: C

Watch Video Solution

210. ∫
dx

cosx(1 - cosx) =

https://dl.doubtnut.com/l/_37Gi7kB8Lg3H
https://dl.doubtnut.com/l/_1ISBKQNpiOjm
https://dl.doubtnut.com/l/_to16Zvp1Pcso


A. log|secx + tanx| - tan
x
2

+ c

B. log|secx + tanx| + tan
x
2

+ c

C. log|secx + tanx| - cot
x
2

+ c

D. log|secx + tanx| + cot
x
2

+ c

Answer: C

Watch Video Solution

( )
( )
( )
( )

211. ∫
dx

(1 + cos2x) 1 - tan2x
=

A. 
1
2 log|sec2x + tan2x| + c

B. 
1
4 log|sec2x + tan2x| + c

C. 
1
2 log|secx + tanx| + c

D. 
1
4 log|secx + tanx| + c

Answer: B

( )

https://dl.doubtnut.com/l/_to16Zvp1Pcso
https://dl.doubtnut.com/l/_LoybtQhqC6EE


Watch Video Solution

212. ∫
1 + tan2x

1 - tan2x
dx =

A. 
1
2

log|sec2x + tan2x| + c

B. 
-1
2

log|sec2x + tan2x| + c

C. 2log|sec2x + tan2x| + c

D. -2log|sec2x + tan2x| + c

Answer: A

Watch Video Solution

213. ∫
1 - tanx
1 + tanx

dx =

A. log sec
π
4

- x + c

B. log cos
π
4

+ x + c

| ( ) |
| ( )|

https://dl.doubtnut.com/l/_LoybtQhqC6EE
https://dl.doubtnut.com/l/_6EGzI5F2C8R7
https://dl.doubtnut.com/l/_dnTevRwkWWPj


C. log sin
π
4

+ x + c

D. log sin
π
4

- x + c

Answer: C

Watch Video Solution

| ( )|
| ( )|

214. ∫
sin2x

cos4x - sin4x
dx =

A. 
1
2 log|cos2x| + c

B. 
1
2 log|sec2x| + c

C. 
1
4 log|cos2x| + c

D. 
1
2 log|sec2x| + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dnTevRwkWWPj
https://dl.doubtnut.com/l/_0yk0VaqMaPXH


215. ∫
cos2x - cos2α
cosx - cosα

dx

A. secαsinx - 2cosαlog|secx + tanx| + c

B. secαsinx + 2cosαlog|secx + tanx| + c

C. cosαsinx - 2cosαlog|secx + tanx| + c

D. cosαsinx + 2cosαlog|secx + tanx| + c

Answer: A

Watch Video Solution

216. ∫
dx

4cos32x - 3cos2x
dx =

A. 
1
3

log|sec6x + tan6x| + c

B. 
1
6

log|sec6x + tan6x| + c

C. 3log|sec6x + tan6x| + c

D. 6log|sec6x + tan6x| + c

https://dl.doubtnut.com/l/_OeNVLnt0ZTzx
https://dl.doubtnut.com/l/_T57Kbvs3e01E


Answer: B

Watch Video Solution

217. ∫
cos2x

(sinx + cosx)2dx is equal to

A. - log sec
π
4 + x + c

B. log sec
π
4 + x + c

C. - log sec
π
4 - x + c

D. log sec
π
4 - x + c

Answer: C

Watch Video Solution

| ( )|
| ( )|
| ( )|

| ( )|

218. ∫
dx

sinxcos2x

https://dl.doubtnut.com/l/_T57Kbvs3e01E
https://dl.doubtnut.com/l/_qa38Hay3HBVz
https://dl.doubtnut.com/l/_LvpFGfESNTgW


A. secx - log|cosecx - cotx| + c

B. secx + log|cosecx - cotx| + c

C. -cosecx - log|cosecx - cotx| + c

D. -cosecx + log|cosecx - cotx| + c

Answer: B

Watch Video Solution

219. ∫{1 + 2tanx(tanx + secx)}1 / 2dx is equal to

A. log|secx + tanx| - log|secx| + c

B. log|secx + tanx| + log|secx| + c

C. log|secx + tanx| - 2log|secx| + c

D. log|secx + tanx| + 2log|secx| + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_LvpFGfESNTgW
https://dl.doubtnut.com/l/_Gksa5bOEaA3L


220. Evaluate: ∫√1 + 2cotx(cotx + cosecx)dx

A. log|1 - cosx| + c

B. - log|1 - cosx| + c

C. log|1 + cosx| + c

D. - log|1 + cosx| + c

Answer: A

Watch Video Solution

221. If

∫ tan(x - α)tan(x + α) ⋅ tan2xdx = plog|sec2x| + qlog|sec(x + α)| + rlog|sec(x - α)| + c

then p+q+r= . . ..

A. 
1
2

log|sec2x| - log|sec(x - α)| - log|sec(x + α)| + c

B. 
1
2

log|sec2x| - log|sec(x - α)| + log|sec(x + α)| + c

https://dl.doubtnut.com/l/_Gksa5bOEaA3L
https://dl.doubtnut.com/l/_XgWT8Bi6t2vx
https://dl.doubtnut.com/l/_PrIRISxQmX18


C. 
1
2

log|sec2x| + log|sec(x - α)| - log|sec(x + α)| + c

D. 
1
2

log|sec2x| + log|sec(x - α)| + log|sec(x + α)| + c

Answer: A

Watch Video Solution

222. ∫ tan2xtan3xtan5xdx =

A. 
1
5

log|sec5x| +
1
3

log|sec3x| +
1
2

log|sec2x| + c

B. 
1
5

log|sec5x| +
1
3

log|sec3x| -
1
2

log|sec2x| + c

C. 
1
5

log|sec5x| -
1
3

log|sec3x| +
1
2

log|sec2x| + c

D. 
1
5

log|sec5x| -
1
3

log|sec3x| -
1
2

log|sec2x| + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_PrIRISxQmX18
https://dl.doubtnut.com/l/_fa3uxddVgcJt


223. Evaluate:
∫
sin2x

sin5xsin3x
dx

A. 
1
3

log|sin3x| -
1
5

log|sin5x| + c

B. 
1
3

log|sin3x| +
1
5

log|sin5x| + c

C. 3log|sin3x| - 5log|sin5x| + c

D. 3log|sin3x| + 5log|sin5x| + c

Answer: A

Watch Video Solution

224. ∫
sin(2x)

sin x +
π
6 sin x -

π
6

dx

A. log cos x +
π
6

- log cos x -
π
6

+ c

B. log cos x +
π
6

+ log cos x -
π
6

+ c

C. log sin x +
π
6

- log sin x -
π
6

+ c

( ) ( )
| ( )| | ( )|
| ( )| | ( )|
| ( )| | ( )|

https://dl.doubtnut.com/l/_l17cKNBpbJXs
https://dl.doubtnut.com/l/_s5ApKUIuYAlK


D. log sin x +
π
6

+ log sin x -
π
6

+ c

Answer: D

Watch Video Solution

| ( )| | ( )|

225. If ∫
sinx

cos(x - a)
dx = kx + n. log[sec(x - a)] + p,  then (k, n) ≡

A. xcosa - (sina)log|cos(x - a)| + c

B. xcosa + (sina)log|cos(x - a)| + c

C. xsina - (cosa)log|cos(x - a)| + c

D. xsina + (cosa)log|cos(x - a)| + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_s5ApKUIuYAlK
https://dl.doubtnut.com/l/_qAFUiaLKIrtC


226. Evaluate the following integrals: 

∫
cosx

cos(x + α)
dx

A. xsina + (cosa)log|cos(x + a)| + c

B. xsina - (cosa)log|cos(x + a)| + c

C. xcosa + (sina)log|cos(x + a)| + c

D. xcosa - (sina)log|cos(x + a)| + c

Answer: D

Watch Video Solution

227. ∫
sinx

sin(c - α)dx = ?

A. xsina + (cosa)log|cos(x - a)| + c

B. xsina - (cosa)log|cos(x - a)| + c

C. xcosa + (sina)log|cos(x - a)| + c

https://dl.doubtnut.com/l/_i39NLUVQZPOA
https://dl.doubtnut.com/l/_TpRODsXLOojH


D. xcosa - (sina)log|cos(x - a)| + c

Answer: C

Watch Video Solution

228. ∫
cos(x - a)
sin(x + a)

dx =

A. xcos2a + (sin2a)log|sin(x + a)| + c

B. xcos2a - (sin2a)log|sin(x + a)| + c

C. xsin2a + (cos2a)log|sin(x + a)| + c

D. xsin2a - (cos2a)log|sin(x + a)| + c

Answer: C

Watch Video Solution

229. Evaluate : ∫
sin(x - a)
sin(x + a) dx

https://dl.doubtnut.com/l/_TpRODsXLOojH
https://dl.doubtnut.com/l/_G85yTi6LkJOM
https://dl.doubtnut.com/l/_ypjb5KPW9qI8


A. xcos2a + (sin2a)log|sin(x + a)| + c

B. xcos2a - (sin2a)log|sin(x + a)| + c

C. xsin2a + (cos2a)log|sin(x + a)| + c

D. xsin2a - (cos2a)log|sin(x + a)| + c

Answer: B

Watch Video Solution

230. ∫
cos(x - a)
sin(x + b)

dx =

A. xsin(a - b) - cos(a - b)log|sin(x + b)| + c

B. xsin(a - b) + cos(a - b)log|sin(x + b)| + c

C. xsin(a + b) - cos(a + b)log|sin(x + b)| + c

D. xsin(a + b) + cos(a + b)log|sin(x + b)| + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ypjb5KPW9qI8
https://dl.doubtnut.com/l/_Rpu97sF1GckJ


231. ∫
sin(x + a)
cos(x - b) dx =

A. xsin(a + b) + cos(a + b)log|sec(x - b)| + c

B. xsin(a - b) + cos(a - b)log|sec(x - b)| + c

C. xsin(a - b) - cos(a - b)log|sec(x - b)| + c

D. xsin(a + b) - cos(a + b)log|sec(x - b)| + c

Answer: A

Watch Video Solution

232. ∫
sin(x + a)
cos(x - a)

dx =

A. xsin2a + (cos2a)log|cos(x - a)| + c

B. xsin2a - (cos2a)log|cos(x - a)| + c

C. xcos2a + (sin2a)log|cos(x - a)| + c

https://dl.doubtnut.com/l/_Rpu97sF1GckJ
https://dl.doubtnut.com/l/_irJvebbdcfum
https://dl.doubtnut.com/l/_aUhaoB05kLdq


D. xcos2a - (sin2a)log|cos(x - a)| + c

Answer: B

Watch Video Solution

233. ∫
sin(x + a) - sin(x - a)
sin(x + a) + sin(x - a)

dx =

A. (cota)log|secx| + c

B. (cota)log|sinx| + c

C. (tana)log|sinx| + c

D. (tana)log|secx| + c

Answer: C

Watch Video Solution

234. ∫
sinx + cosx
sin(x + α) dx =

https://dl.doubtnut.com/l/_aUhaoB05kLdq
https://dl.doubtnut.com/l/_askEu3cwZvg7
https://dl.doubtnut.com/l/_iHrDGtZIDMvS


A. x(cosα - sinα) + (cosα + sinα)log|sin(x - α)| + c

B. x(cosα + sinα) + (cosα - sinα)log|sin(x - α)| + c

C. x(cosα + sinα) + (cosα - sinα)log|sin(x + α)| + c

D. x(cosα + sinα) - (cosα - sinα)log|sin(x + α)| + c

Answer: C

Watch Video Solution

235. ∫
dx

sin(x - a)sin(x - b)

A. 
1

sin(b - a)
log

sin(x - b)
sin(x - a)

+ c

B. 
1

sin(b - a)
log

sin(x - a)
sin(x - b)

+ c

C. 
1

cos(b - a)
log

sin(x - b)
sin(x - a)

+ c

D. 
1

cos(b - a)
log

sin(x - a)
sin(x - b)

+ c

Answer: A

| |
| |
| |
| |

https://dl.doubtnut.com/l/_iHrDGtZIDMvS
https://dl.doubtnut.com/l/_ctT5U4RakV3T


Watch Video Solution

236. ∫
dx

sin(x + a)sin(x + b) =

A. 
1

cos(b - a) log
sin(x + a)
sin(x + b) + c

B. 
1

cos(b - a) log
sin(x + b)
sin(x + a) + c

C. 
1

sin(b - a) log
sin(x + b)
sin(x + a) + c

D. 
1

sin(b - a) log
sin(x + a)
sin(x + b) + c

Answer: C

Watch Video Solution

| |
| |
| |
| |

237. Evaluate: ∫
1

cos(x - a)cos(x - b)
 dx

A. 
1

cos(b - a)
log

cos(x - b)
cos(x - a)

+ c

B. 
1

cos(b - a)
log

cos(x - a)
cos(x - b)

+ c

| |
| |

https://dl.doubtnut.com/l/_ctT5U4RakV3T
https://dl.doubtnut.com/l/_IkHjXWfUrQjk
https://dl.doubtnut.com/l/_aC2IVnC1IguA


C. 
1

sin(b - a)
log

cos(x - b)
cos(x - a)

+ c

D. 
1

sin(b - a)
log

cos(x - a)
cos(x - b)

+ c

Answer: C

Watch Video Solution

| |
| |

238. Evaluate: (i) ∫
cos2x + x + 1

x2 + sin2x + 2x
 dx
(ii) ∫

1
cos(x + a)cos(x + b)

 dx

A. 
1

sin(b - a) log
cos(x + b)
cos(x + a) + c

B. 
1

sin(b - a) log
cos(x + a)
cos(x + b) + c

C. 
1

cos(b - a) log
cos(x + b)
cos(x + a) + c

D. 
1

cos(b - a) log
cos(x + a)
cos(x + b) + c

Answer: B

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_aC2IVnC1IguA
https://dl.doubtnut.com/l/_OA9D5J637Viw
https://dl.doubtnut.com/l/_9AqOWL3VT4Pk


239. ∫
dx

cos(x - a)sin(x - b)
=

A. 
1

cos(b - a)
log

cos(x - a)
sin(x - b)

+ c

B. 
1

cos(b - a)
log

sin(x - b)
cos(x - a)

+ c

C. 
1

sin(b - a)
log

cos(x - a)
sin(x - b)

+ c

D. 
1

sin(b - a)
log

sin(x - b)
cos(x - a)

+ c

Answer: B

Watch Video Solution

| |
| |
| |
| |

240. ∫
1

sin(x - a)cos(x - b)
dx =

A. 
1

sin(b - a)
log

cos(x - b)
sin(x - a)

+ c

B. 
1

sin(b - a)
log

sin(x - a)
cos(x - b)

+ c

C. 
1

cos(b - a)
log

cos(x - b)
sin(x - a)

+ c

| |
| |
| |

https://dl.doubtnut.com/l/_9AqOWL3VT4Pk
https://dl.doubtnut.com/l/_kujlFu1VCmb8


D. 
1

cos(b - a)
log

sin(x - a)
cos(x - b)

+ c

Answer: D

Watch Video Solution

| |

241. ∫
1

1 + tanx
dx

A. 
1
2

(x + log|sinx + cosx|) + c

B. 
1
2

(x - log|sinx + cosx|) + c

C. x + log|sinx + cosx| + c

D. x - log|sinx + cosx| + c

Answer: A

Watch Video Solution

242. ∫
dx

(1 - cotx) = ?

https://dl.doubtnut.com/l/_kujlFu1VCmb8
https://dl.doubtnut.com/l/_TcErwCd1uYAm
https://dl.doubtnut.com/l/_gGF3Hjouo7DU


A. 
-1
2

(x + log|sinx - cosx|) + c

B. 
-1
2

(x - log|sinx + cosx|) + c

C. 
1
2

(x + log|sinx - cosx|) + c

D. 
1
2

(x - log|sinx + cosx|) + c

Answer: C

Watch Video Solution

243. 
1

2 + 3tanx

A. 
1
13

(2x + 3log|2cosx + 3sinx|) + c

B. 
1
13

(2x - 3log|2cosx + 3sinx|) + c

C. 
1
13

(x + 3log|2cosx + 3sinx|) + c

D. 
1
13

(x - 3log|2cosx + 3sinx|) + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gGF3Hjouo7DU
https://dl.doubtnut.com/l/_LT2hOZF4nwhA


244. ∫
sinx + cosx

3sinx + 4cosxdx =

A. 
1
25 (11x + 2log|3sinx + 4cosx|) + c

B. 
1
25 (11x - 2log|3sinx + 4cosx|) + c

C. 
1
25 (11x + log|3sinx + 4cosx|) + c

D. 
1
25 (11x - log|3sinx + 4cosx|) + c

Answer: A

Watch Video Solution

245. Evaluate: ∫
2sinx + 3cosx
3sinx + 4cosx

 dx

A. 
1
5

(18x + log|3sinx + 4cosx|) + c

B. 
1
25

(18x + log|3sinx + 4cosx|) + c

C. 
1
5

(18x - log|3sinx + 4cosx|) + c

https://dl.doubtnut.com/l/_LT2hOZF4nwhA
https://dl.doubtnut.com/l/_BI6JADVgFY0N
https://dl.doubtnut.com/l/_IKaOMmDCBW0P


D. 
1
25

(18x - log|3sinx + 4cosx|) + c

Answer: B

Watch Video Solution

246. ∫
4sinx - 38cosx
5sinx - 11cosx

dx =

A. 3x + log|5sinx - 11cosx| + c

B. 3x - log|5sinx - 11cosx| + c

C. x + log|5sinx - 11cosx| + c

D. x - log|5sinx - 11cosx| + c

Answer: B

Watch Video Solution

247. ∫
3ex + 4

2ex - 8
dx =

https://dl.doubtnut.com/l/_IKaOMmDCBW0P
https://dl.doubtnut.com/l/_iv122QS3a7zD
https://dl.doubtnut.com/l/_PY2c9NbpD8wa


A. 
x
2

+ 2log 2ex - 8 + c

B. 
-x
2

+ 2log 2ex - 8 + c

C. 2x +
1
2

log 2ex - 8 + c

D. -2x +
1
2

log 2ex - 8 + c

Answer: B

Watch Video Solution

| |
| |
| |
| |

248. ∫
4ex + 4

2ex - 8
dx =

A. A = 5, B = 3

B. A = 5, B = - 3

C. A = - 5, B = 3

D. A = - 5, B = - 3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PY2c9NbpD8wa
https://dl.doubtnut.com/l/_MsLtbLWJBtpD


249. ∫
3e2x + 5

4e2x - 5
dx =

A. 
7
4

log 4e2x - 5 - x + c

B. 
7
8

log 4e2x - 5 - x + c

C. 
7
4

log 4e2x - 5 + x + c

D. 
7
8

log 4e2x - 5 + x + c

Answer: B

Watch Video Solution

| |
| |
| |
| |

250. ∫
20 - 12ex

3ex - 4
dx =

A. -5x + log 3ex - 4 + c

B. 5x - log 3ex - 4 + c

C. 5x + log 3ex - 4 + c

| |
| |
| |

https://dl.doubtnut.com/l/_MsLtbLWJBtpD
https://dl.doubtnut.com/l/_s5jCk16eypEr
https://dl.doubtnut.com/l/_lg3F7kZoaY3j


D. -5x - log 3ex - 4 + c

Answer: A

Watch Video Solution

| |

251. ∫
dx

√x +
3
√x

A. 2√x - 3
3
√x + 6

6
√x - 6log

6
√x + 1 + c

B. 2√x + 3
3
√x + 6

6
√x + 6log

6
√x + 1 + c

C. 2√x - 3
3
√x - 6

6
√x + 6log

6
√x + 1 + c

D. 2√x + 3
3
√x - 6

6
√x - 6log

6
√x + 1 + c

Answer: A

Watch Video Solution

| |
| |

| |
| |

https://dl.doubtnut.com/l/_lg3F7kZoaY3j
https://dl.doubtnut.com/l/_BjNF6FZCr5sr


252. ∫
√x

√x +
3
√x

dx =

A. x -
6
5

6
√x5 +

3
2

3
√x2 - 2√x + 3

3
√x - 6

6
√x + 6log

6
√x + 1 + c

B. x -
6
5

6
√x5 +

3
2

3
√x2 - 2√x + 3

3
√x - 6

6
√x - 6log

6
√x + 1 + c

C. x +
6
5

6
√x5 +

3
2

3
√x2 + 2√x + 3

3
√x - 6

6
√x + 6log

6
√x + 1 + c

D. x +
6
5

6
√x5 +

3
2

3
√x2 + 2√x + 3

3
√x - 6

6
√x - 6log

6
√x + 1 + c

Answer: A

View Text Solution

| |
| |
| |
| |

253. ∫
√x

1 +
4
√x3

dx =

A. 
2
3

4
√x3 - log

4
√x3 + 1 + c

B. 
2
3

4
√x3 + log

4
√x3 + 1 + c

( | | )
( | | )

https://dl.doubtnut.com/l/_tBVlMTWYeO0N
https://dl.doubtnut.com/l/_4yjGck8DbRf6


C. 
4
3

4
√x3 - log

4
√x3 + 1 + c

D. 
4
3

4
√x3 + log

4
√x3 + 1 + c

Answer: C

Watch Video Solution

( | | )
( | | )

254. ∫
dx

√x + 2 +
6
√x + 2

=

A. 2√x + 2 + 6
6
√x + 2 + 6tan - 1 6

√x + 2 + c

B. 2√x + 2 + 6
6
√x + 2 - 6tan - 1 6

√x + 2 + c

C. 2√x + 2 - 6
6
√x + 2 + 6tan - 1 6

√x + 2 + c

D. 2√x + 2 - 6
6
√x + 2 - 6tan - 1 6

√x + 2 + c

Answer: C

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_4yjGck8DbRf6
https://dl.doubtnut.com/l/_k4Mi2QQVx0Rf


255. ∫
dx

(3x + 2]
2
3 + (3x + 2)

4
5

=

A. 
5
3

5
√3x + 2 + 5

15
√3x + 2 + 5tan - 115

√3x + 2 + c

B. 
5
3

5
√3x + 2 + 5

15
√3x + 2 - 5tan - 115

√3x + 2 + c

C. 
5
3

5
√3x + 2 - 5

15
√3x + 2 + 5tan - 115

√3x + 2 + c

D. 
5
3

5
√3x + 2 - 5

15
√3x + 2 - 5tan - 115

√3x + 2 + c

Answer: C

View Text Solution

256. ∫
dx

x2 + 8
=

A. 
1
2

tan - 1 x
2

+ c

B. √2tan - 1 √2x + c

C. 
1

2√2
tan - 1 x

2√2
+ c

( )
( )

( )

https://dl.doubtnut.com/l/_wFcK2QLm2KSI
https://dl.doubtnut.com/l/_GNBURfDvVIyF


D. 
1

√2
tan - 1 x

√2
+ c

Answer: C

Watch Video Solution

( )

257. ∫
dx

α2x2 + β2 =

A. 
1
αβ tan - 1 αx

β + c

B. 
1
αβ tan - 1 βx

α + c

C. 
α
β tan - 1 αx

β + c

D. 
β
α tan - 1 βx

α + c

Answer: A

Watch Video Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_GNBURfDvVIyF
https://dl.doubtnut.com/l/_eHmPRFrvL7gW


258. ∫
dx

5x2 + 7
=

A. 
1

√35
tan - 1

√5x

√7
+ c

B. 
1

5√7
tan - 1

√5x

√7
+ c

C. 
√5

√7
tan - 1

√5x

√7
+ c

D. 
5

√7
tan - 1

√5x

√7
+ c

Answer: A

Watch Video Solution

( )
( )

( ) ( )
( )

259. ∫
1

16x2 + 9
dx is equal to

A. 
1
3

tan - 1 4x
3

+ c

B. 
1
12

tan - 1 4x
3

+ c

( )
( )

https://dl.doubtnut.com/l/_Y3WNXPrEDocE
https://dl.doubtnut.com/l/_F6AIPlWwolaj


C. 
1
4

tan - 1 4x
3

+ c

D. 
4
3

tan - 1 4x
3

+ c

Answer: B

Watch Video Solution

( )
( )

260. ∫
√x

1 + x
dx =

A. 2√x + 2tan - 1√x + c

B. 2√x - 2tan - 1√x + c

C. √x - tan - 1√x + c

D. √1 + x + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_F6AIPlWwolaj
https://dl.doubtnut.com/l/_ZuMC7ldZPt3O
https://dl.doubtnut.com/l/_OF7fFLP4SAqr


261. ∫
sinx

1 + cos2x
dx =

A. 2cot - 1(cosx) + c

B. 2tan - 1(cosx) + c

C. cot - 1(cosx) + c

D. tan - 1(cosx) + c

Answer: C

Watch Video Solution

262. ∫
dx

sin2x + cos2x + 5
=

A. 
1
3

cot - 1(tanx) + c

B. 
1
3

tan - 1(tanx) + c

C. 
1
6

cot - 1(tanx) + c

D. 
1
6

tan - 1(tanx) + c

https://dl.doubtnut.com/l/_OF7fFLP4SAqr
https://dl.doubtnut.com/l/_srKXoyK7vnb1


Answer: D

Watch Video Solution

263. ∫
dx

√1 - x2 9 + sin - 1x 2

=

A. 3tan - 1 sin - 1x
3

+ c

B. 3cot - 1 sin - 1x
3

+ c

C. 
1
3

tan - 1 sin - 1x
3

+ c

D. 
1
3

cot - 1 sin - 1x
3

+ c

Answer: C

Watch Video Solution

( ( ) )

( )
( )
( )
( )

https://dl.doubtnut.com/l/_srKXoyK7vnb1
https://dl.doubtnut.com/l/_RaRbreVA9knX


264. ∫
dx

e3x + e - 3x =

A. 
1
3 tan - 1e - 3x + c

B. 
1
3 tan - 1e3x + c

C. 3tan - 1e - 3x + c

D. tan - 1e3x + c

Answer: B

Watch Video Solution

265. 
1

aex + be - x

A. 
1

√ab
tan - 1 b

ae
x + c

B. 
1

√ab
tan - 1 a

be
x + c

C. 
1

√ab
tan - 1 bex

a
+ c

(√ )
(√ )
(√ )

https://dl.doubtnut.com/l/_221OwwzWb8Al
https://dl.doubtnut.com/l/_HINUb57LpfAg


D. 
1

√ab
tan - 1 aex

b + c

Answer: B

Watch Video Solution

(√ )

266. ∫
dx

a2ex + b2e - x =

A. 
1
a

tan - 1 aex

b
+ c

B. 
1
b

tan - 1 aex

b
+ c

C. 
1
ab

tan - 1 bex

a
+ c

D. 
1
ab

tan - 1 aex

b
+ c

Answer: D

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_HINUb57LpfAg
https://dl.doubtnut.com/l/_hSMx1w4AcTWd


267. ∫
dx

4x2 - 1
= ?

A. 
1
2 log

2x - 1
2x + 1 + c

B. 
1
2 log

2x + 1
2x - 1 + c

C. 
1
4 log

2x - 1
2x + 1 + c

D. 
1
4 log

2x + 1
2x - 1 + c

Answer: C

Watch Video Solution

( )

| |
| |
| |
| |

268. ∫
dx

9x2 - 8
=

A. 
1

12√2
log

3x - 2√2

3x + 2√2
+ c

B. 
1

12√2
log

3x + 2√2

3x - 2√2
+ c

| |
| |

https://dl.doubtnut.com/l/_3NjeKr2GLhQd
https://dl.doubtnut.com/l/_3faVs1lKku6O


C. 
1

6√2
log

3x - 2√2

3x + 2√2
+ c

D. 
1

6√2
log

3x + 2√2

3x - 2√2
+ c

Answer: A

Watch Video Solution

| |
| |

269. ∫
x3

16x8 - 25
dx =

A. 
1

320
log

4x4 - 5

4x4 + 5
+ c

B. 
1

320
log

4x4 + 5

4x4 - 5
+ c

C. 
1

160
log

4x4 - 5

4x4 + 5
+ c

D. 
1

160
log

4x4 + 5

4x4 - 5
+ c

Answer: C

W h Vid S l i

| |
| |
| |
| |

https://dl.doubtnut.com/l/_3faVs1lKku6O
https://dl.doubtnut.com/l/_XkGfODylFCQJ


Watch Video Solution

270. ∫
dx

a2 - b2x2 =

A. 
1
ab log

a - bx
a + bx + c

B. 
1
ab log

a + bx
a - bx + c

C. 
1

2ab log
a - bx
a + bx + c

D. 
1

2ab log
a + bx
a - bx + c

Answer: D

Watch Video Solution

| |
| |
| |
| |

271. ∫
dx

8 - 7x2 =

A. 
1

4√14
log

2√2 + √7x

2√2 - √7x
+ c

B. 
1

4√14
log

2√2 - √7x

2√2 + √7x
+ c

| |
| |

https://dl.doubtnut.com/l/_XkGfODylFCQJ
https://dl.doubtnut.com/l/_BPnZShLBeOOL
https://dl.doubtnut.com/l/_hairpHf1RZ6T


C. 
1

4√7
log

2√2 + √7x

2√2 - √7x
+ c

D. 
1

4√7
log

2√2 + √7x

2√2 - √7x
+ c

Answer: A

Watch Video Solution

| |
| |

272. ∫
secxtanx

9 - 16tan2x
dx =

A. 
1
20 log

5 - 4secx
5 + 4secx + c

B. 
1
20 log

5 + 4secx
5 - 4secx + c

C. 
1
40 log

5 - 4secx
5 + 4secx + c

D. 
1
40 log

5 + 4secx
5 - 4secx + c

Answer: D

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_hairpHf1RZ6T
https://dl.doubtnut.com/l/_wXEtH5GG4ji1


273. ∫
1 + tan2x

1 - tan2x
dx

A. log
1 - tanx
1 + tanx

+ c

B. log
1 + tanx
1 - tanx

+ c

C. 
1
2

log
1 - tanx
1 + tanx

+ c

D. 
1
2

log
1 + tanx
1 - tanx

+ c

Answer: D

Watch Video Solution

| |
| |
| |
| |

274. ∫
dx

√a2 - b2x2
=

A. 
1
b sin - 1 bx

a + c

B. 
1
b sin - 1 ax

b + c

C. 
1
a sin - 1 bx

a + c

( )
( )
( )

https://dl.doubtnut.com/l/_s3MQNHv5Gpgq
https://dl.doubtnut.com/l/_yyAbfVKmf3YT


D. 
1
a

sin - 1 ax
b

+ c

Answer: A

Watch Video Solution

( )

275. ∫
1

√9 - 25x2
 dx

A. 
1
3

sin - 1 3x
5

+ c

B. 
-1
3

sin - 1 3x
5

+ c

C. 
1
5

sin - 1 5x
3

+ c

D. 
-1
5

sin - 1 5x
3

+ c

Answer: C

Watch Video Solution

( )
( )
( )

( )
( )

https://dl.doubtnut.com/l/_yyAbfVKmf3YT
https://dl.doubtnut.com/l/_x40GjNqxzGHX
https://dl.doubtnut.com/l/_QLvO0yLjEX5u


276. If ∫
1

√9 - 16x2
dx = αsin - 1(βx) + c, then α +

1
β

=

A. 1

B. 
7
12

C. 
19
12

D. 
9
12

Answer: A

Watch Video Solution

277. Evaluate: ∫
1 - x
1 + x  dx

A. √1 - x2 + sin - 1x + c

B. -√1 - x2 - sin - 1x + c

C. -√1 - x2 + sin - 1x + c

D. √1 - x2 - sin - 1x + c

√

https://dl.doubtnut.com/l/_QLvO0yLjEX5u
https://dl.doubtnut.com/l/_QJP9rynNmBon


Answer: A

Watch Video Solution

278. ∫
secx

√cos2x
dx =

A. sin - 1(tanx) + c

B. cos - 1(tanx) + c

C. tanx + c

D. (sinx) √cosx + c

Answer: A

Watch Video Solution

( )

279. Evaluate: ∫
cosx - sinx

√8 - sin2x
 dx

A. sin - 1 sinx + cosx
3

+ c( )

https://dl.doubtnut.com/l/_QJP9rynNmBon
https://dl.doubtnut.com/l/_4IjqpEJzAuL3
https://dl.doubtnut.com/l/_g1i0xB4gk6B4


B. cos - 1 sinx + cosx
3

+ c

C. sin - 1 sinx + cosx

2√2
+ c

D. cos - 1 sinx + cosx

2√2
+ c

Answer: A

Watch Video Solution

( )
( )
( )

280. ∫√secx + 1dx

A. 
1

√2
sin - 1 √2sin

x
2

+ c

B. 
1
2

sin - 1 √2sin
x
2

+ c

C. √2sin - 1 √2sin
x
2

+ c

D. 2sin - 1 √2sin
x
2

+ c

Answer: D

W h Vid S l i

( ( ))
( ( ))
( ( ))

( ( ))

https://dl.doubtnut.com/l/_g1i0xB4gk6B4
https://dl.doubtnut.com/l/_bfhEV9HKTGtE


Watch Video Solution

281. ∫
√ex

√e - x - ex
dx =

A. sin - 1ex + c

B. 2sin - 1ex + c

C. - sin - 1ex + c

D. -2sin - 1ex + c

Answer: A

Watch Video Solution

282. Evaluate: (i) ∫
ax

√1 - a2x
 dx
(ii) ∫

2x

√1 - x2 - x4
 dx

A. 
1

loga
cos - 1ax + c

B. 
1

loga
sin - 1ax + c

https://dl.doubtnut.com/l/_bfhEV9HKTGtE
https://dl.doubtnut.com/l/_8XwrYP5fRE1A
https://dl.doubtnut.com/l/_cjZTBYrFOCP8


C. (loga)cos - 1ax + c

D. (loga)sin - 1ax + c

Answer: B

Watch Video Solution

283. ∫
dx

√2x2 + 25
=

A. 
1

√2
log x + x2 +

5
2

+ c

B. 
1

2√2
log x + x2 +

5
2

+ c

C. 
1

√2
log x + x2 +

25
2

+ c

D. 
1

2√2
log x + x2 +

25
2

+ c

Answer: C

Watch Video Solution

| √ |
| √ |

| √ |
| √ |

https://dl.doubtnut.com/l/_cjZTBYrFOCP8
https://dl.doubtnut.com/l/_4ApJXPeYvN8J


284. ∫
dx

√3x2 + 8
=

A. 
1

√3
log x + x2 +

8
3 + c

B. 
1

√3
log x - x2 +

8
3 + c

C. 
1

√3
log x + √3x2 + 8 + c

D. 
1

√3
log x - √3x2 + 8 + c

Answer: A

Watch Video Solution

| √ |
| √ |
| |
| |

285. ∫
sec2x

√16 + tan2x
dx

A. 4log tanx + √4 + tan2x + c

B. 4log tanx + √16 + tan2x + c

| |
| |

https://dl.doubtnut.com/l/_4ApJXPeYvN8J
https://dl.doubtnut.com/l/_2qC7TwwWcUy3
https://dl.doubtnut.com/l/_VuORoZTvVJ8b


C. log tanx + √4 + tan2x + c

D. log tanx + √16 + tan2x + c

Answer: D

Watch Video Solution

| |
| |

286. ∫
ex / 2

√a2ex + b2e - x
dx

A. 
1
b

log ex - e2x +
b2

a2 + c

B. 
1
b

log ex + e2x +
b2

a2 + c

C. 
1
a

log ex - e2x +
b2

a2 + c

D. 
1
a

log ex + e2x +
b2

a2 + c

Answer: D

| √ |
| √ |
| √ |
| √ |

https://dl.doubtnut.com/l/_VuORoZTvVJ8b
https://dl.doubtnut.com/l/_4TeOumtGYgDH


Watch Video Solution

287. ∫
dx

√3x2 - 5

A. 
1

√3
log x + x2 -

5
3

+ c

B. 
1

√5
log x + x2 -

5
3

+ c

C. 
1

√3
log √3x + x2 -

5
3

+ c

D. 
1

√5
log √3x + x2 -

5
3

+ c

Answer: A

Watch Video Solution

| √ |
| √ |
| √ |
| √ |

288. ∫
dx

√4x2 - 5
=

https://dl.doubtnut.com/l/_4TeOumtGYgDH
https://dl.doubtnut.com/l/_9FH4Fynb0QT2
https://dl.doubtnut.com/l/_wzVUf33i4uFC


A. 
1
4

log x + x2 -
5
4

+ c

B. 
1
2

log x + x2 -
5
4

+ c

C. 
1
4

log x + √x2 - 5 + c

D. 
1
2 log x + √x2 - 5 + c

Answer: B

Watch Video Solution

| √ |
| √ |
| |
| |

289. ∫
1

x
2

3 x
2

3 - 4

dx =

A. -3log
3
√x +

3
√x2 - 4 + c

B. 3log
3
√x +

3
√x2 - 4 + c

C. 
-1
3 log

3
√x +

3
√x2 - 4 + c

√

| √ |
| √ |
| √ |

https://dl.doubtnut.com/l/_wzVUf33i4uFC
https://dl.doubtnut.com/l/_o5c013QyBUch


D. 
1
3

log
3
√x +

3
√x2 - 4 + c

Answer: B

Watch Video Solution

| √ |

290. ∫
sinx - cosx

sin2x -
1
2

dx =

A. log sinx + cosx + (sinx + cosx)2 -
3
2

+ c

B. - log sinx + cosx + (sinx + cosx)2 -
3
2

+ c

C. log sinx + cosx + (sinx + cosx)2 -
1
2

+ c

D. - log sinx + cosx + (sinx + cosx)2 -
1
2

+ c

Answer: B

Watch Video Solution

√

| √ |
| √ |

| √ |
| √ |

https://dl.doubtnut.com/l/_o5c013QyBUch
https://dl.doubtnut.com/l/_gpXC6wWRiZbp


291. ∫
dx

a2 + x2 3
=

A. 
x

a2√a2 + x2
+ c

B. 
1

a2√a2 + x2
+ c

C. 
x

a√a2 + x2
+ c

D. 
1

a√a2 + x2
+ c

Answer: A

Watch Video Solution

√ ( )

292. ∫
dx

x2√a2 + x2
=

A. 
-1
ax√a2 + x2 + c

B. 
1
ax√a2 + x2 + c

C. 
-1

a2x√a2 + x2 + c

https://dl.doubtnut.com/l/_Q6DD0basdwNx
https://dl.doubtnut.com/l/_LRlLSJzUTWn4


D. 
1

a2x√a2 + x2 + c

Answer: C

Watch Video Solution

293. ∫
dx

x2 - 1 √x2 + 1
=

A. 
1

2√2
log

√1 + x2 + √2x

√1 + x2 - √2x
+ c

B. 
1

2√2
log

√1 + x2 + √2

√1 + x2 - √2
+ c

C. 
1

2√2
log

-√1 + x2 + √2x

√1 + x2 + √2x
+ c

D. 
1

2√2
log

√1 + x2 - √2x

√1 + x2 + √2x
+ c

Answer: C

View Text Solution

( )

| |
| |
| |
| |

https://dl.doubtnut.com/l/_LRlLSJzUTWn4
https://dl.doubtnut.com/l/_2wCoGLtO89sF


294. Let f(x) = ∫
x2

1 + x2 1 + √1 + x2

dx and f(0) = 0 then f(1) is

A. log 1 + √2

B. log 1 - √2

C. log 1 + √2 -
π
4

D. log 1 + √2 +
π
4

Answer: C

Watch Video Solution

( )( )
( )

( )

( )

( )

295. ∫
dx

a2 - x2 3
⋅

A. 
-x

a√a2 - x2
+ c

B. 
x

a√a2 - x2
+ c

√ ( )

https://dl.doubtnut.com/l/_2wCoGLtO89sF
https://dl.doubtnut.com/l/_aSc2gBDpNJOg
https://dl.doubtnut.com/l/_9jipM2jWezQK


C. 
-x

a2√a2 - x2
+ c

D. 
x

a2√a2 - x2
+ c

Answer: D

Watch Video Solution

296. ∫
√a2 - x2

x2 dx

A. 
1
x√a2 - x2 + sin - 1 x

a
+ c

B. 
1
x√a2 - x2 - sin - 1 x

a
+ c

C. 
-1
x √a2 - x2 - sin - 1 x

a
+ c

D. 
-1
x √a2 - x2 + sin - 1 x

a
+ c

Answer: C

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_9jipM2jWezQK
https://dl.doubtnut.com/l/_L8GHC2TE0og2


297. ∫
x2

a2 - x2 3
dx =

A. 
1

√a2 - x2
+ sin - 1 x

a
+ c

B. 
1

√a2 - x2
- sin - 1 x

a
+ c

C. 
x

√a2 - x2
+ sin - 1 x

a + c

D. 
x

√a2 - x2
- sin - 1 x

a
+ c

Answer: D

Watch Video Solution

√ ( )

( )
( )
( )
( )

298. ∫
x

a3 - x3  dx is equal to

A. sin - 1 x
a

3
2 + c

B. 
2
3

sin - 1 x
a

3
2 + c

√
( )
( )

https://dl.doubtnut.com/l/_cq2K6LKbwod7
https://dl.doubtnut.com/l/_UMmMno0DgMSn


C. 
3
2

sin - 1 x
a

3
2 + c

D. 
3
2

sin - 1 x
a

2
3 + c

Answer: B

Watch Video Solution

( )
( )

299. ∫
√x2 - a2

x
dx

A. √x2 - a2 +
1
a

sec - 1 x
a

+ c

B. √x2 - a2 -
1
a

sec - 1 x
a

+ c

C. √x2 - a2 + asec - 1 x
a

+ c

D. √x2 - a2 - asec - 1 x
a

+ c

Answer: D

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_UMmMno0DgMSn
https://dl.doubtnut.com/l/_rD20Nzqq5lh7


300. ∫
dx

x2√x2 - 1
=

A. 
-1
x √x2 - 1 + c

B. 
1
x√x2 - 1 + c

C. 
-x

√x2 - 1
+ c

D. 
x

√x2 - 1
+ c

Answer: B

Watch Video Solution

301. ∫
a - x
x

dx =

A. asin - 1 x
a

- √x(a - x) + c

B. asin - 1 x
a

+ √x(a - x) + c

C. asin - 1 x
a

- √x(a - x) + c

√
( )
( )
√

https://dl.doubtnut.com/l/_UaF4f1NeKrTX
https://dl.doubtnut.com/l/_3Cnfjm0rvuOu


D. asin - 1 x
a

+ √x(a - x) + c

Answer: D

Watch Video Solution

√

302. ∫
a + x
x - a

dx

A. √a2 - x2 - acos - 1 x
a

+ c

B. √a2 - x2 + acos - 1 x
a

+ c

C. -√a2 - x2 - acos - 1 x
a

+ c

D. -√a2 - x2 + acos - 1 x
a

+ c

Answer: C

Watch Video Solution

√
( )
( )
( )
( )

https://dl.doubtnut.com/l/_3Cnfjm0rvuOu
https://dl.doubtnut.com/l/_fCgBi8p7BB6M


303. ∫x
1 - x
1 + x

dx

A. 
cos - 1x

2
+

x
2√1 - x2 + √1 - x2 + c

B. 
cos - 1x

2
+

x
2√1 - x2 - √1 - x2 + c

C. 
cos - 1x

2 -
x
2√1 - x2 + √1 - x2 + c

D. 
cos - 1x

2
-
x
2√1 - x2 - √1 - x2 + c

Answer: B

Watch Video Solution

√

304. ∫x
a2 - x2

a2 + x2 dx

A. 
-1
2 √a4 - x4 +

a2

2
cos - 1 x2

a2 + c

B. 
-1
2 √a4 - x4 -

a2

2
cos - 1 x2

a2 + c

√
( )
( )

https://dl.doubtnut.com/l/_2hii332B8jqA
https://dl.doubtnut.com/l/_fcOdMh5ULZek


C. 
1
2√a4 - x4 -

a2

2
cos - 1 x2

a2 + c

D. 
1
2√a4 - x4 +

a2

2
cos - 1 x2

a2 + c

Answer: C

Watch Video Solution

( )
( )

305. ∫
dx

√2ax - x2
 is equal to

A. x = acost

B. x = 2acost

C. x = 2at

D. x = 2asin2t

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_fcOdMh5ULZek
https://dl.doubtnut.com/l/_Bxtp2Hvy10Qf


306. ∫
dx

x2 + 4x + 8

A. 2tan - 1(x + 2) + c

B. 2tan - 1(x + 4) + c

C. 
1
2 tan - 1 x + 2

4 + c

D. 
1
2 tan - 1 x + 2

2 + c

Answer: D

Watch Video Solution

( )

( )
( )

307. ∫
1

x2 + 8x + 20
dx

A. 
1
2

tan - 1 x + 2
2

+ c

B. 
1
2

tan - 1 x + 4
2

+ c

C. 
1
4

tan - 1 x + 2
4

+ c

( )
( )
( )

https://dl.doubtnut.com/l/_GW4D23Reh0R2
https://dl.doubtnut.com/l/_FRIyk31r8IHH


D. 
1
4

tan - 1 x + 4
4

+ c

Answer: B

Watch Video Solution

( )

308. ∫
x2 + 3x + 5

(x + 2) x2 + 2x + 3
dx =

A. log|x + 2| -
1

√2
tan - 1 x + 1

√2
+ c

B. log|x + 2| +
1

√2
tan - 1 x + 1

√2
+ c

C. log|x + 2| -
1
2

tan - 1 x + 1

√2
+ c

D. log|x + 2| +
1
2

tan - 1 x + 1

√2
+ c

Answer: B

View Text Solution

( )

( )
( )

( )
( )

https://dl.doubtnut.com/l/_FRIyk31r8IHH
https://dl.doubtnut.com/l/_i4IUaa3Du2nz
https://dl.doubtnut.com/l/_IHgiByIFx7TK


309. ∫
dx

2x2 + 3x + 5
=

A. 
2

√31
tan - 1 2x + 3

√31
+ c

B. 
4

√31
tan - 1 2x + 3

√31
+ c

C. 
2

√31
tan - 1 4x + 3

√31
+ c

D. 
4

√31
tan - 1 4x + 3

√31
+ c

Answer: C

Watch Video Solution

( )
( )
( )
( )

310. ∫
dx

4x2 - 4x + 3

A. 
1

2√2
tan - 1 2x - 1

√2
+ c

B. 
1

√2
tan - 1 2x - 1

√2
+ c

( )

( )
( )

https://dl.doubtnut.com/l/_IHgiByIFx7TK
https://dl.doubtnut.com/l/_Pb97NTq0dcST


C. 
1

2√2
tan - 1 2x - 1

2√2
+ c

D. 
1

√2
tan - 1 2x - 1

2√2
+ c

Answer: A

Watch Video Solution

( )
( )

311. ∫
dx

9x2 + 6x + 10

A. 
1
18 tan - 1 3x + 2

3 + c

B. 
1
18 tan - 1 3x + 1

3 + c

C. 
1
9 tan - 1 3x + 2

3 + c

D. 
1
9 tan - 1 3x + 1

3 + c

Answer: D

Watch Video Solution

( )
( )

( )
( )

https://dl.doubtnut.com/l/_Pb97NTq0dcST
https://dl.doubtnut.com/l/_FicUslEmDdxe


312. ∫
dx

x2 + 2xcosα + 1
=

A. 
1

sinα tan - 1 x + cosα
sinα + c

B. 
1

sinα cot - 1 x + cosα
sinα + c

C. 
1

cosα tan - 1 x + cosα
sinα + c

D. 
1

cosα cot - 1 x + cosα
sinα + c

Answer: A

Watch Video Solution

( )
( )
( )
( )

313. Evaluete ∫
x

x4 + x2 + 1
dx

A. 
1

√3
tan - 1 x2 + 2

√3
+ c

B. 
1

√3
tan - 1 2x2 + 2

√3
+ c

( )
( )

https://dl.doubtnut.com/l/_9WmGHsYOsJkR
https://dl.doubtnut.com/l/_CprUWxAPAevx


C. 
1

2√3
tan - 1 x2 + 2

2√3
+ c

D. 
1

2√3
tan - 1 2x2 + 2

2√3
+ c

Answer: B

Watch Video Solution

( )
( )

314. ∫
dx

5 - 6sin2x + 9cos2x
=

A. 
1

√34
cot - 1 5tanx - 6

√34
+ c

B. 
1

√34
tan - 1 5tanx - 6

√34
+ c

C. 
4

√34
tan - 1 5tanx - 6

3√34
+ c

D. 
2

√34
tan - 1 5tanx - 6

2√34
+ c

Answer: B

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_CprUWxAPAevx
https://dl.doubtnut.com/l/_miHejjanBotQ


315. ∫
sec2x

2tan2x + 7tanx + 13
dx =

A. 
1

√55
tan - 1 4tanx + 7

√55
+ c

B. 
1

√55
tan - 1 tanx + 7

√55
+ c

C. 
2

√55
tan - 1 4tanx + 7

√55
+ c

D. 
2

√55
tan - 1 tanx + 7

√55
+ c

Answer: C

Watch Video Solution

( )
( )
( )
( )

316. ∫
dx

x2 + 4x - 5
=

A. 
1
6

log
x + 5
x - 1

+ c

B. 
1
6

log
x - 1
x + 5

+ c

| |
| |

https://dl.doubtnut.com/l/_miHejjanBotQ
https://dl.doubtnut.com/l/_rnxTXoOzynkG
https://dl.doubtnut.com/l/_OeshUoi9128e


C. 
1
3

log
x + 5
x - 1

+ c

D. 
1
3

log
x - 1
x + 5

+ c

Answer: B

Watch Video Solution

| |
| |

317. ∫
dx

2x2 + x - 1

A. 
1
3 log

2x - 1
2(x + 1) + c

B. 
1
3 log

2x - 1
x + 1 + c

C. 
1
6 log

2x - 1
2(x + 1) + c

D. 
1
6 log

2x - 1
x + 1 + c

Answer: A

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_OeshUoi9128e
https://dl.doubtnut.com/l/_NHkZ9Lcm2li4
https://dl.doubtnut.com/l/_93alc5XifXnr


318. ∫
dx

4x2 + 20x + 17
=

A. 
1

4√2
log

2x - 5 - 2√2

2x - 5 + 2√2
+ c

B. 
1

4√2
log

2x - 5 + 2√2

2x - 5 - 2√2
+ c

C. 
1

8√2
log

2x - 5 - 2√2

2x - 5 + 2√2
+ c

D. 
1

8√2
log

2x - 5 + 2√2

2x - 5 - 2√2
+ c

Answer: C

Watch Video Solution

| |
| |
| |
| |

319. ∫
x

2x4 - 2x2 - 1
dx =

A. 
1

4√3
log

2x2 - 1 - √3

2x2 - 1 + √3
+ c

B. 
1

4√3
log

2x2 - 1 + √3

2x2 - 1 - √3
+ c

| |
| |

https://dl.doubtnut.com/l/_93alc5XifXnr
https://dl.doubtnut.com/l/_PzGteYFJtKRd


C. 
1

2√3
log

2x2 - 1 - √3

2x2 - 1 + √3
+ c

D. 
1

2√3
log

2x2 - 1 + √3

2x2 - 1 - √3
+ c

Answer: A

Watch Video Solution

| |
| |

320. ∫
x

4x4 - 2x2 - 3
dx =

A. 
1

4√13
log

4x2 - 1 - √13

4x2 - 1 + √13
+ c

B. 
1

4√13
log

4x2 - 1 + √13

4x2 - 1 - √13
+ c

C. 
1

8√13
log

4x2 - 1 - √13

4x2 - 1 + √13
+ c

D. 
1

8√13
log

4x2 - 1 + √13

4x2 - 1 - √13
+ c

Answer: A

| |
| |
| |
| |

https://dl.doubtnut.com/l/_PzGteYFJtKRd
https://dl.doubtnut.com/l/_vduQvK3Uz7k2


Watch Video Solution

321. ∫
dx

sin2x + 5sinxcosx + 2
=

A. 2log
2tanx + 3
3tanx + 3

+ c

B. log
2tanx + 3
3tanx + 3

+ c

C. 2log
3tanx + 2
3tanx + 3

+ c

D. log
3tanx + 2
3tanx + 3

+ c

Answer: D

Watch Video Solution

| |
| |
| |

| |

322. ∫
cosx

3sin2x - 4sinx + 1
dx =

A. 
1
2

log
3sinx - 1
3sinx - 3

+ c

B. 
1
4

log
3sinx - 1
3sinx - 3

+ c

| |
| |

https://dl.doubtnut.com/l/_vduQvK3Uz7k2
https://dl.doubtnut.com/l/_TvFunkg9Upmp
https://dl.doubtnut.com/l/_NeJCGQxiuS4B


C. 
1
2

log
3sinx - 3
3sinx - 1

+ c

D. 
1
4

log
3sinx - 3
3sinx - 1

+ c

Answer: C

Watch Video Solution

| |
| |

323. Evaluate ∫
dx

x 6(logx)2 + 7logx + 2
.

A. log
6logc + 3
6logc + 4 + c

B. log
6logc + 4
6logc + 3 + c

C. 
1
3 log

6logc + 3
6logc + 4 + c

D. 
1
3 log

6logc + 4
6logc + 3 + c

Answer: A

Watch Video Solution

{ }

| |
| |
| |
| |

https://dl.doubtnut.com/l/_NeJCGQxiuS4B
https://dl.doubtnut.com/l/_OOBk0SVYCtFc


324. Evaluate ∫
dx

1 + x - x2
.

A. 
1

√5
log

√5 + 1 - 2x

√5 - 1 + 2x
+ c

B. 
1

√5
log

√5 - 1 + 2x

√5 + 1 - 2x
+ c

C. 
1

2√5
log

√5 + 1 - 2x

√5 - 1 + 2x
+ c

D. 
1

2√5
log

√5 - 1 + 2x

√5 + 1 - 2x
+ c

Answer: B

Watch Video Solution

( )

| |
| |
| |
| |

325. ∫
dx

7 + 6x - x2 =

A. 
1
4

log
7 - x
1 + x

+ c

B. 
1
4

log
1 + x
7 - x

+ c

| |
| |

https://dl.doubtnut.com/l/_M9IqyGk8ILp6
https://dl.doubtnut.com/l/_7i4XtGktetCO


C. 
1
8

log
7 - x
1 + x

+ c

D. 
1
8

log
1 + x
7 - x

+ c

Answer: D

Watch Video Solution

| |
| |

326. ∫
dx

3 - 10x - 25x2 =

A. 
1
20 log

3 + 5x
1 - 5x + c

B. 
1
20 log

1 - 5x
3 + 5x + c

C. 
1
10 log

3 + 5x
1 - 5x + c

D. 
1
10 log

1 - 5x
3 + 5x + c

Answer: A

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_7i4XtGktetCO
https://dl.doubtnut.com/l/_OrrBKH5LqkyJ
https://dl.doubtnut.com/l/_81HdzbkdQ8Bh


327. ∫
1

√7 - 6x - x2
dx का मान होगा -

A. sin - 1 x - 3
4

+ c

B. sin - 1 x - 3
2

+ c

C. sin - 1 x + 3
4

+ c

D. sin - 1 x + 3
2

+ c

Answer: C

Watch Video Solution

( )
( )
( )
( )

328. ∫
dx

√8 + 2x - x2

A. 
1
3

sin - 1 x - 1
3

+ c

B. sin - 1 x + 1
3

+ c

C. 
1
3

sin - 1 x + 1
3

+ c

( )
( )
( )

https://dl.doubtnut.com/l/_81HdzbkdQ8Bh
https://dl.doubtnut.com/l/_Xo2THRzJRm59


D. sin - 1 x - 1
3

+ c

Answer: D

Watch Video Solution

( )

329. ∫
dx

√3 + 4x - 4x2
=

A. 
1
2cos - 1 2x - 1

2 + c

B. 2cos - 1 2x - 1
2 + c

C. 
1
2sin - 1 2x - 1

2 + c

D. 2sin - 1 2x - 1
2 + c

Answer: C

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_Xo2THRzJRm59
https://dl.doubtnut.com/l/_i5U5BCxFwgJq


330. ∫
dx

√21 + 4x - x2
=

A. sin - 1 x - 2
5 + c

B. cos - 1 x - 2
5 + c

C. 
1
5sin - 1 x - 2

5 + c

D. 
1
5cos - 1 x - 2

5 + c

Answer: A

Watch Video Solution

( )
( )
( )
( )

331. ∫
dx

√15 + 4x - 4x2
=

A. 
1
2

sin - 1 2x - 1
2

+ c

B. 
1
2

sin - 1 2x - 1
4

+ c

( )
( )

https://dl.doubtnut.com/l/_tJKBW78xPwq2
https://dl.doubtnut.com/l/_MnpuJoGKBo2k


C. 
1
4

sin - 1 2x - 1
2

+ c

D. 
1
4

sin - 1 2x - 1
4

+ c

Answer: B

Watch Video Solution

( )
( )

332. Evaluate
: ∫
ex

√5 - 4ex -  e2x
 dx

A. sin - 1 ex - 2
3

+ c

B. sin - 1 ex + 2
3

+ c

C. sin - 1 ex - 1
3

+ c

D. sin - 1 ex + 1
3

+ c

Answer: B

W t h Vid S l ti

( )
( )
( )
( )

https://dl.doubtnut.com/l/_MnpuJoGKBo2k
https://dl.doubtnut.com/l/_Z0tmpFazfbXG


Watch Video Solution

333. ∫
dx

√x2 + 4x + 29
=

A. log x + 4 + √x2 + 4x + 29 + c

B. log x - 4 + √x2 + 4x + 29 + c

C. log x + 2 + √x2 + 4x + 29 + c

D. log x - 2 + √x2 + 4x + 29 + c

Answer: C

Watch Video Solution

| |
| |
| |
| |

334. ∫
dx

√3x2 - 4x + 2
=

A. 
2

√3
log x +

2
3

+ x2 -
4x
3

+
2
3

+ c

B. 
2

√3
log x -

2
3

+ x2 -
4x
3

+
2
3

+ c

| √ |
| √ |

https://dl.doubtnut.com/l/_Z0tmpFazfbXG
https://dl.doubtnut.com/l/_TD6dCer85nar
https://dl.doubtnut.com/l/_4cRVHPsXUn4t


C. 
1

√3
log x +

2
3

+ x2 -
4x
3

+
2
3

+ c

D. 
1

√3
log x -

2
3

+ x2 -
4x
3

+
2
3

+ c

Answer: D

Watch Video Solution

| √ |
| √ |

335. Evaluate:
∫
1

3x2 + 5x + 7
dx

A. 
1

2√3
log x +

5
3

+ x2 +
5x
3

+
7
3

+ c

B. 
1

2√3
log x +

5
6

+ x2 +
5x
3

+
7
3

+ c

C. 
1

√3
log x +

5
3

+ x2 +
5x
3

+
7
3

+ c

D. 
1

√3
log x +

5
6

+ x2 +
5x
3

+
7
3

+ c

Answer: D

Watch Video Solution

| √ |
| √ |

| √ |
| √ |

https://dl.doubtnut.com/l/_4cRVHPsXUn4t
https://dl.doubtnut.com/l/_ASOJHLQvO1Qk


336. ∫
dx

√2x2 + 3x + 5
=

A. 
1

2√2
log x +

3
4 + x2 +

3x
2 +

5
2 + c

B. 
1

2√2
log x +

3
2 + x2 +

3x
2 +

5
2 + c

C. 
1

√2
log x +

3
4 + x2 +

3x
2 +

5
2 + c

D. 
1

√2
log x +

3
2 + x2 +

3x
2 +

5
2 + c

Answer: C

Watch Video Solution

| √ |
| √ |

| √ |
| √ |

337. ∫
x2

√x6 + 2x3 + 3
dx

A. 
1
3

log x3 + 1 + √x6 + 2x3 + 3 + c| |

https://dl.doubtnut.com/l/_ASOJHLQvO1Qk
https://dl.doubtnut.com/l/_od9e7Y8utveN
https://dl.doubtnut.com/l/_WfbE40FsJpcu


B. 
1
3

log x3 - 1 + √x6 + 2x3 + 3 + c

C. 3log x3 + 1 + √x6 + 2x3 + 3 + c

D. 3log x3 - 1 + √x6 + 2x3 + 3 + c

Answer: A

Watch Video Solution

| |
| |
| |

338. ∫
cosx

√sin2x - 2sinx + 5
dx =

A. log sinx - 1 + √sin2x - 2sinx + 5 + c

B. - log sinx - 1 + √sin2x - 2sinx + 5 + c

C. log sinx + 1 + √sin2x + 2sinx + 5 + c

D. - log sinx + 1 + √sin2x + 2sinx + 5 + c

Answer: A

Watch Video Solution

| |
| |

| |
| |

https://dl.doubtnut.com/l/_WfbE40FsJpcu
https://dl.doubtnut.com/l/_uXAWn2sBicZs


339. ∫
sec2x

√2tan2x + 3tanx + 3
dx =

A. log tanx +
3
2

+ tan2x +
3tanx

2
+

3
2

+ c

B. log tanx +
1
2

+ tan2x +
3tanx

2
+

3
2

+ c

C. 
1

√2
log tanx +

3
4

+ tan2x +
3tanx

2
+

3
2

+ c

D. 
1

√2
log tanx +

1
4

+ tan2x +
3tanx

2
+

3
2

+ c

Answer: C

Watch Video Solution

| √ |
| √ |

| √ |
| √ |

340. ∫
1

√(x - a)(x - b)
dx

A. log x +
a + b

2
+ √x2 + (a + b)x + ab + c

B. log x -
a + b

2
+ √x2 + (a + b)x + ab + c

| |
| |

https://dl.doubtnut.com/l/_uXAWn2sBicZs
https://dl.doubtnut.com/l/_rEu22N0TZFnX
https://dl.doubtnut.com/l/_yyHaeC9EojqW


C. log x +
a - b

2
+ √x2 + (a - b)x + ab + c

D. log x -
a - b

2
+ √x2 + (a - b)x + ab + c

Answer: B

Watch Video Solution

| |
| |

341. ∫
dx

√x2 - 8x - 20
=

A. log x + 4 - √x2 - 8x - 20 + c

B. log x - 4 + √x2 - 8x - 20 + c

C. log x - 4 - √x2 - 8x - 20 + c

D. log x + 4 + √x2 - 8x - 20 + c

Answer: B

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_yyHaeC9EojqW
https://dl.doubtnut.com/l/_j1kRqWIOEVSf
https://dl.doubtnut.com/l/_ZRiiHlOLV7ZF


342. ∫
dx

√(x - 2)(x - 3)
=

A. log x +
5
2

+ √x2 - 5x + 6 + c

B. log x -
5
2

+ √x2 - 5x + 6 + c

C. log x +
5
2

+ √x2 + 5x + 6 + c

D. log x -
5
2

+ √x2 + 5x + 6 + c

Answer: B

Watch Video Solution

| |
| |
| |
| |

343. ∫
dx

√x(5x - 2)
=

A. √5log x -
1
5

+ x2 -
2x
5

+ c

B. 
1

√5
log x -

1
5

+ x2 -
2x
5

+ c

C. 
2

√5
log x -

1
5

+ x2 -
2x
5

+ c

| √ |
| √ |
| √ |

https://dl.doubtnut.com/l/_ZRiiHlOLV7ZF
https://dl.doubtnut.com/l/_AdD3e9r9N23p


D. 2√5log x -
1
5

+ x2 -
2x
5

+ c

Answer: B

Watch Video Solution

| √ |

344. ∫
cosx

√sin2x - sinx - 3
dx =

A. log sinx + 1 + √sin2 - 2sinx - 3 + c

B. log sinx + 1 - √sin2 - 2sinx - 3 + c

C. log sinx - 1 + √sin2 - 2sinx - 3 + c

D. log sinx - 1 - √sin2 - 2sinx - 3 + c

Answer: C

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_AdD3e9r9N23p
https://dl.doubtnut.com/l/_ZEtxPU2eO27k


345. Evaluate:
∫
sin2x

√sin4x + 4sin2x - 2
dx

A. - log sin2x + 2 + √sin4 + 4sin2x - 2 + c

B. log sin2x + 2 + √sin4 + 4sin2x - 2 + c

C. - log sinx + 2 + √sin4 + 4sin2x - 2 + c

D. log sinx + 2 + √sin4 + 4sin2x - 2 + c

Answer: B

Watch Video Solution

| |
| |
| |

| |

346. ∫
x

x2 + x + 1
dx =

A. 
1
2

log x2 + 2x + 1 -
1

√3
tan - 1 2x + 1

√3
+ c

B. 
1
2

log x2 + 2x + 1 +
1

√3
tan - 1 2x + 1

√3
+ c

C. 
1
2

log x2 + 2x + 1 -
2

√3
tan - 1 2x + 1

√3
+ c

| | ( )
| | ( )
| | ( )

https://dl.doubtnut.com/l/_AXot9zw2OFIt
https://dl.doubtnut.com/l/_S6OxZk937ncM


D. 
1
2

log x2 + 2x + 1 +
2

√3
tan - 1 2x + 1

√3
+ c

Answer: A

Watch Video Solution

| | ( )

347. Evaluate: ∫
1 - 3x

3x2 + 4x + 2
 dx

A. 
1
2

log 3x2 + 4x + 2 +
3

√2
tan - 1 3x + 2

√2
+ c

B. 
-1
2

log 3x2 + 4x + 2 +
3

√2
tan - 1 3x + 2

√2
+ c

C. 
-1
2

log 3x2 + 4x + 2 -
3

√2
tan - 1 3x + 2

√2
+ c

D. 
1
2

log 3x2 + 4x + 2 -
3

√2
tan - 1 3x + 2

√2
+ c

Answer: B

Watch Video Solution

| | ( )
| | ( )
| | ( )

| | ( )

https://dl.doubtnut.com/l/_S6OxZk937ncM
https://dl.doubtnut.com/l/_Nozca7BtjVDw
https://dl.doubtnut.com/l/_FwjyyZ9OrtdR


348. ∫
5x - 1

3x2 + x + 2
dx =

A. 
5
6 log 3x2 + x + 2 -

11

3√23
tan - 1 6x + 1

√23
+ c

B. 
5
6 log 3x2 + x + 2 +

11

3√23
tan - 1 6x + 1

√23
+ c

C. 
5
3 log 3x2 + x + 2 -

11

3√23
tan - 1 6x + 1

√23
+ c

D. 
5
3 log 3x2 + x + 2 +

11

3√23
tan - 1 6x + 1

√23
+ c

Answer: A

Watch Video Solution

| | ( )
| | ( )
| | ( )
| | ( )

349. 
3x + 4

x2 + 6x + 5

A. 
3
2

log x2 + 6x + 5 +
5
4

log
x + 1
x + 5

+ c

B. 
3
2

log x2 + 6x + 5 -
5
4

log
x + 1
x + 5

+ c

C. 
3
2

log x2 + 6x + 5 +
5
2

log
x + 1
x + 5

+ c

| | | |
| | | |
| | | |

https://dl.doubtnut.com/l/_FwjyyZ9OrtdR
https://dl.doubtnut.com/l/_NtkQAp7FNJFo


D. 
3
2

log x2 + 6x + 5 -
5
2

log
x + 1
x + 5

+ c

Answer: B

Watch Video Solution

| | | |

350. ∫
2x + 3

2x2 + 3x - 1
dx =

A. 
1
2

log 2x2 + 3x - 1 +
3

2√17
log

4x + 3 - √17

4x + 3 + √17
+ c

B. 
1
2

log 2x2 + 3x - 1 -
3

2√17
log

4x + 3 - √17

4x + 3 + √17
+ c

C. 
1
2

log 2x2 + 3x - 1 +
3

√17
log

4x + 3 - √17

4x + 3 + √17
+ c

D. 
1
2

log 2x2 + 3x - 1 -
3

√17
log

4x + 3 - √17

4x + 3 + √17
+ c

Answer: A

Watch Video Solution

| | | |
| | | |
| | | |
| | | |

https://dl.doubtnut.com/l/_NtkQAp7FNJFo
https://dl.doubtnut.com/l/_fkDsy4rBmQJ2


351. ∫
2 - x

4x2 + 4x - 3
dx =

A. 
5
16 log

2x - 1
2x + 3 +

1
8 log 4x2 + 4x - 3 + c

B. 
5
16 log

2x - 1
2x + 3 -

1
8 log 4x2 + 4x - 3 + c

C. 
5
32 log

2x - 1
2x + 3 +

1
8 log 4x2 + 4x - 3 + c

D. 
5
32 log

2x - 1
2x + 3 -

1
8 log 4x2 + 4x - 3 + c

Answer: B

Watch Video Solution

| | | |

| | | |

| | | |

| | | |

352. ∫
2x + 1

8 - 6x - 9x2 dx =

A. 
1
54

log
4 + 3x
2 - 3x

+
1
9

log 8 - 6x - 9x2 + c

B. 
1
54

log
4 + 3x
2 - 3x

-
1
9

log 8 - 6x - 9x2 + c

C. 
1
54

log
4 + 3x
2 - 3x

+
1
3

log 8 - 6x - 9x2 + c

| | | |

| | | |

| | | |

https://dl.doubtnut.com/l/_EdZoE52Mf8zJ
https://dl.doubtnut.com/l/_8ySdNTxClne8


D. 
1
54

log
4 + 3x
2 - 3x

-
1
3

log 8 - 6x - 9x2 + c

Answer: B

Watch Video Solution

| | | |

353. ∫
x

√8 + x - x2
dx =

A. 
1
2

sin - 1 2x - 1

√33
+ √8 + x - x2 + c

B. 
1
2

sin - 1 2x - 1

√33
- √8 + x - x2 + c

C. 
1
4

sin - 1 2x - 1

√33
+ √8 + x - x2 + c

D. 
1
4

sin - 1 2x - 1

√33
- √8 + x - x2 + c

Answer: B

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_8ySdNTxClne8
https://dl.doubtnut.com/l/_Y2qltA63771w
https://dl.doubtnut.com/l/_64h0UCOCKkKQ


354. ∫
9 - x
x dx =

A. √ 9x - x2 +
3
2sin - 1 2x - 9

9 + c

B. √ 9x - x2 -
3
2sin - 1 2x - 9

9 + c

C. √ 9x - x2 +
9
2sin - 1 2x - 9

9 + c

D. √ 9x - x2 -
9
2sin - 1 2x - 9

9 + c

Answer: C

Watch Video Solution

√
( ) ( )
( ) ( )
( ) ( )
( ) ( )

355. 
7x + 3

√3 + 2x - x2

A. 5sin - 1 x - 1
2

+ 7√3 + 2x - x2 + c

B. 5sin - 1 x - 1
2

- 7√3 + 2x - x2 + c

C. 10sin - 1 x - 1
2

+ 7√3 + 2x - x2 + c

( )
( )
( )

https://dl.doubtnut.com/l/_64h0UCOCKkKQ
https://dl.doubtnut.com/l/_nr5iloLEegMR


D. 10sin - 1 x - 1
2

- 7√3 + 2x - x2 + c

Answer: D

Watch Video Solution

( )

356. ∫
2x + 1

√x2 + 2x + 3
dx =

A. 2√x2 + 2x + 3 - log x + 1 + √x2 + 2x + 3 + c

B. 2√x2 + 2x + 3 + log x + 1 + √x2 + 2x + 3 + c

C. √x2 + 2x + 3 - log x + 1 + √x2 + 2x + 3 + c

D. √x2 + 2x + 3 + log x + 1 + √x2 + 2x + 3 + c

Answer: A

Watch Video Solution

| |
| |

| |
| |

https://dl.doubtnut.com/l/_nr5iloLEegMR
https://dl.doubtnut.com/l/_Shil6yX9LfFX


357. ∫
3x + 2

√2x2 + 2x + 1
dx =

A. 
3
2√2x2 + 2x + 1 -

1

√2
log x +

1
2

+ x2 + x +
1
2

+ c

B. 
3
2√2x2 + 2x + 1 +

1

√2
log x +

1
2

+ x2 + x +
1
2

+ c

C. 
3
2√2x2 + 2x + 1 -

1

2√2
log x +

1
2

+ x2 + x +
1
2

+ c

D. 
3
2√2x2 + 2x + 1 +

1

2√2
log x +

1
2

+ x2 + x +
1
2

+ c

Answer: D

Watch Video Solution

| √ |
| √ |
| √ |
| √ |

358. ∫
x - 1
x dx =

A. √x2 - x + log x -
1
2 + √x2 - x + c

B. √x2 - x - log x -
1
2 + √x2 - x + c

√
| |
| |

https://dl.doubtnut.com/l/_xWwKOpkrd4kf
https://dl.doubtnut.com/l/_mq9dAuT9XRPm


C. √x2 - x +
1
2

log x -
1
2

+ √x2 - x + c

D. √x2 - x -
1
2

log x -
1
2

+ √x2 - x + c

Answer: D

View Text Solution

| |
| |

359. ∫
x + 1
x + 2

dx =

A. √x2 + 3x + 2 -
1
4

log x +
3
2

+ √x2 + 3x + 2 + c

B. √x2 + 3x + 2 +
1
4

log x +
3
2

+ √x2 + 3x + 2 + c

C. √x2 + 3x + 2 -
1
2

log x +
3
2

+ √x2 + 3x + 2 + c

D. √x2 + 3x + 2 +
1
2

log x +
3
2

+ √x2 + 3x + 2 + c

Answer: C

View Text Solution

√
| |
| |
| |
| |

https://dl.doubtnut.com/l/_mq9dAuT9XRPm
https://dl.doubtnut.com/l/_ZWZK6wJsdnuG


360. If ∫
x - 5
x - 7

dx = A√x2 - 12x + 35 + log x - 6 + √x2 - 12x + 35 + C, then

A. -1

B. 
1
2

C. 
-1
2

D. 1

Answer: D

Watch Video Solution

√ | |

361. ∫
x2 + 5

x2 + 1
dx =

A. x - 4tan - 1x + c

B. x + 4tan - 1x + c

C. x - 2tan - 1x + c

D. x + 2tan - 1x + c

https://dl.doubtnut.com/l/_UCXUs69044cv
https://dl.doubtnut.com/l/_Myl8FQHSx1rv


Answer: B

Watch Video Solution

362. ∫
1 - x2

1 + x2dx

A. 2tan - 1x + x + c

B. 2tan - 1x - x + c

C. tan - 1x + x + c

D. tan - 1x - x + c

Answer: B

Watch Video Solution

363. Evaluate: ∫
x2 + 5x + 3

x2 + 3x + 2
 dx

A. x + log x2 + 3x + 2 + 2log
x + 1
x + 2

+ c| | | |

https://dl.doubtnut.com/l/_Myl8FQHSx1rv
https://dl.doubtnut.com/l/_OMApGGUzyGge
https://dl.doubtnut.com/l/_67Xer4O9zjLM


B. x - log x2 + 3x + 2 + 2log
x + 1
x + 2

+ c

C. x + log x2 + 3x + 2 - 2log
x + 1
x + 2

+ c

D. x - log x2 + 3x + 2 - 2log
x + 1
x + 2

+ c

Answer: C

Watch Video Solution

| | | |
| | | |
| | | |

364. ∫
x - x2

x2 - 2x - 3
dx =

A. x +
1
2

log x2 - 2x - 3 + log
x - 3
x + 1

+ c

B. -x +
1
2

log x2 - 2x - 3 + log
x - 3
x + 1

+ c

C. -x -
1
2

log x2 - 2x - 3 + log
x - 3
x + 1

+ c

D. -x -
1
2

log x2 - 2x - 3 - log
x - 3
x + 1

+ c

Answer: D

View Text Solution

| | | |
| | | |
| | | |
| | | |

https://dl.doubtnut.com/l/_67Xer4O9zjLM
https://dl.doubtnut.com/l/_KECy8IEiXria


View Text Solution

365. ∫
x3

x2 + x + 1
dx =

A. 
x2

2
+ x +

1

√3
tan - 1 2x + 1

√3
+ c

B. 
x2

2
- x +

1

√3
tan - 1 2x + 1

√3
+ c

C. 
x2

2
+ x +

2

√3
tan - 1 2x + 1

√3
+ c

D. 
x2

2
- x +

2

√3
tan - 1 2x + 1

√3
+ c

Answer: D

Watch Video Solution

( )
( )
( )
( )

366. Evaluate: ∫
x3 + x2 + 2x + 1

x2 - x + 1
 dx

A. 
x2

2
+ 2x +

3
2

log x2 - x + 1 +
1

√3
tan - 1 2x - 1

√3
+ c| | ( )

https://dl.doubtnut.com/l/_KECy8IEiXria
https://dl.doubtnut.com/l/_HO0lIni43GkV
https://dl.doubtnut.com/l/_efGiQx2Ef6yR


B. 
x2

2
+ 2x +

3
2

log x2 - x + 1 +
2

√3
tan - 1 2x - 1

√3
+ c

C. 
x2

2
+ 2x +

1
2

log x2 - x + 1 +
1

√3
tan - 1 2x - 1

√3
+ c

D. 
x2

2
+ 2x +

1
2

log x2 - x + 1 +
2

√3
tan - 1 2x - 1

√3
+ c

Answer: A

Watch Video Solution

| | ( )
| | ( )
| | ( )

367. ∫
x3 - 4x2 + 6x + 5

x2 - 2x + 3
dx =

A. 
x2

2
+ 2x +

1
2

log x2 - 2x + 3 +
10

√2
tan - 1 x - 1

√2
+ c

B. 
x2

2
+ 2x +

1
2

log x2 - 2x + 3 +
5

√2
tan - 1 x - 1

√2
+ c

C. 
x2

2
- 2x -

1
2

log x2 - 2x + 3 +
10

√2
tan - 1 x - 1

√2
+ c

D. 
x2

2
- 2x -

1
2

log x2 - 2x + 3 +
5

√2
tan - 1 x - 1

√2
+ c

| | ( )
| | ( )

| | ( )
| | ( )

https://dl.doubtnut.com/l/_efGiQx2Ef6yR
https://dl.doubtnut.com/l/_ax4egphLmlj0


Answer: C

Watch Video Solution

368. ∫
x3 + 4x2 - 3x - 2

x + 2
dx

A. 
x2

2
+ x + log x2 + 3x + 2 + 3log

x + 1
x + 2

+ c

B. 
x2

2
+ x + log x2 + 3x + 2 - 3log

x + 1
x + 2

+ c

C. 
x2

2
+ x - log x2 + 3x + 2 + 3log

x + 1
x + 2

+ c

D. 
x2

2
+ x - log x2 + 3x + 2 - 3log

x + 1
x + 2

+ c

Answer: B

Watch Video Solution

| | | |
| | | |
| | | |
| | | |

369. ∫
4x4 - 4x3 + x2 - 4x - 5

4x2 - 4x - 3
dx =

https://dl.doubtnut.com/l/_ax4egphLmlj0
https://dl.doubtnut.com/l/_AJfNcOGs2gI7
https://dl.doubtnut.com/l/_YkZgFKoUd45l


A. 
x2

3
+ x +

1
4

log
2x - 3
2x + 1

+ c

B. 
x2

3
+ x -

1
4

log
2x - 3
2x + 1

+ c

C. 
x2

3
- x +

1
4

log
2x - 3
2x + 1

+ c

D. 
x2

3
- x -

1
4

log
2x - 3
2x + 1

+ c

Answer: B

Watch Video Solution

| |
| |
| |
| |

370. ∫√ex - 1dx = ?

A. 2√ex - 1 - 2tan - 1√ex - 1 + c

B. √ex - 1 - tan - 1√ex - 1 + c

C. 2√ex - 1 + 2tan - 1√ex - 1 + c

D. √ex - 1 + tan - 1√ex - 1 + c

Answer: A

https://dl.doubtnut.com/l/_YkZgFKoUd45l
https://dl.doubtnut.com/l/_yiEbaEURtCIH


Watch Video Solution

371. ∫
dx

(x - 1)√x + 1
=

A. 
1

√2
log

√x + 1 - √2

√x + 1 + √2
+ c

B. 
1

√2
log

√x + 1 + √2

√x + 1 - √2
+ c

C. 
1

2√2
log

√x + 1 - √2

√x + 1 + √2
+ c

D. 
1

2√2
log

√x + 1 + √2

√x + 1 - √2
+ c

Answer: A

Watch Video Solution

| |
| |
| |
| |

372. ∫
dx

(x + 1)√x - 1
=

A. √2tan - 1 x - 1
2

+ c√

https://dl.doubtnut.com/l/_yiEbaEURtCIH
https://dl.doubtnut.com/l/_IEliwSuW7BDB
https://dl.doubtnut.com/l/_LDgDuk7zc329


B. 2tan - 1 x - 1
2

+ c

C. 
1

√2
tan - 1 x - 1

2
+ c

D. 
1
2

tan - 1 x - 1
2

+ c

Answer: A

Watch Video Solution

√
√

√

373. ∫
dx

(2x + 1)√x - 2
=

A. 
√2

5
tan - 1 2x - 4

5
+ c

B. 
2

√5
tan - 1 2x - 4

5
+ c

C. 
2
5

tan - 1 2x - 4
5

+ c

D. 
2
5

tan - 1 2x - 4
5

+ c

Answer: D

Watch Video Solution

√
√

√
√ √

https://dl.doubtnut.com/l/_LDgDuk7zc329
https://dl.doubtnut.com/l/_rzI95YRWUaD5


374. ∫
dx

(2x + 3)√x - 4
=

A. 
11
2

tan - 1 2x - 8
11

+ c

B. 
11
2

tan - 1 2x - 8
11

+ c

C. 
2
11

tan - 1 2x - 8
11

+ c

D. 
2
11

tan - 1 2x - 8
11

+ c

Answer: C

Watch Video Solution

√ √
√

√ √
√

375. ∫
dx

(2x + 3)√3x + 2
=

A. 
2
5 tan - 1 6x + 4

5 + c

B. 
5
2 tan - 1 6x + 4

5 + c

√
√

https://dl.doubtnut.com/l/_rzI95YRWUaD5
https://dl.doubtnut.com/l/_jsR5JOFf00QL
https://dl.doubtnut.com/l/_BmYxKYtsiU1q


C. 
2
5

tan - 1 6x + 4
5

+ c

D. 
5
2

tan - 1 6x + 4
5

+ c

Answer: C

Watch Video Solution

√ √
√ √

376. ∫
dx

(x + 1)√x2 - 2
=

A. - sin - 1 x + 2

√2(x + 1)
+ c

B. -cos - 1 x + 2

√2(x + 1)
+ c

C. - sin - 1
√2(x + 1)

x + 2
+ c

D. -cos - 1
√2(x + 1)

x + 2
+ c

Answer: A

View Text Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_BmYxKYtsiU1q
https://dl.doubtnut.com/l/_5mmGoega16Ld


377. ∫
dx

( - 1)√1 + x2
=

A. 
1

√2
log

1
1 - x

-
1
2

+
1

(1 - x)2 -
1

1 - x
+

1
2

+ c

B. 
1

√2
log

1
1 - x

+
1
2

+
1

(1 - x)2 -
1

1 - x
+

1
2

+ c

C. 
1

√2
log

1
1 - x

-
1
2

-
1

(1 - x)2 +
1

1 - x
+

1
2

+ c

D. 
1

√2
log

1
1 - x

+
1
2

+
1

(1 - x)2 +
1

1 - x
+

1
2

+ c

Answer: A

View Text Solution

| √ |
| √ |
| √ |
| √ |

378. ∫
dx

x√2ax - x2
=

A. a
2a - x

x
+ c√

https://dl.doubtnut.com/l/_5mmGoega16Ld
https://dl.doubtnut.com/l/_8bNvuEs1RnZa
https://dl.doubtnut.com/l/_f0CBef2aTSxm


B. 
1
a

2a - x
x

+ c

C. -a
2a - x

x
+ c

D. 
-1
a

2a - x
x

+ c

Answer: D

View Text Solution

√
√
√

379. Evaluate: ∫
dx

(x + 1)√1 + x - x2

A. 
1

√2
sin - 1

√2x

x + 1
+ c

B. 
1

√2
cos - 1

√2x

x + 1
+ c

C. √2sin - 1
√2x

x + 1
+ c

D. √2cos - 1
√2x

x + 1
+ c

Answer: A

( )
( )

( )
( )

https://dl.doubtnut.com/l/_f0CBef2aTSxm
https://dl.doubtnut.com/l/_GP7qoe1VamI1


Watch Video Solution

380. ∫
dx

x√2x2 - 2x + 1
=

A. - logx + log 1 - x + √1 - 2x + 2x2 + c

B. logx + log 1 - x + √1 - 2x + 2x2 + c

C. logx - log 1 - x + √1 - 2x + 2x2 + c

D. - logx - log 1 - x + √1 - 2x + 2x2 + c

Answer: C

View Text Solution

| |
| |
| |
| |

381. ∫
dx

1 - 2sinx =

https://dl.doubtnut.com/l/_GP7qoe1VamI1
https://dl.doubtnut.com/l/_UDnbkvGSvNDa
https://dl.doubtnut.com/l/_wcUOfngbnwLp


A. 
1

2√3
log

tan
x

2 - 2 + √3

tan
x
2 - 2 - √3

+ c

B. 
1

2√3
log

tan
x
2 - 2 - √3

tan
x

2 - 2 + √3

+ c

C. 
1

√3
log

tan
x

2 - 2 - √3

tan
x
2 - 2 + √3

+ c

D. 
1

√3
log

tan
x
2 - 2 + √3

tan
x

2 - 2 - √3

+ c

Answer: C

View Text Solution

| ( )
( ) |

| ( )
( ) |

| ( )
( ) |

| ( )
( ) |

382. ∫
dx

3 + 2sinx
=

https://dl.doubtnut.com/l/_wcUOfngbnwLp
https://dl.doubtnut.com/l/_hpeS8YTO8EDn


A. 
2

√5
tan - 1 1

√5
3tan

x
2

+ 2 + c

B. 
2

√5
tan - 1 1

√5
tan

x
2

+ 2 + c

C. 
2

2√5
tan - 1 1

√5
3tan

x
2

+ 2 + c

D. 
2

√5
tan - 1 1

2√5
tan

x
2

+ 2 + c

Answer: A

View Text Solution

( ( ( ) ))
( ( ( ) ))
( ( ( ) ))

( ( ( ) ))

383. 
1

4 + 5sinx

A. 
1
3

log

2tan
x

2 + 1

2tan
x
2 + 2

+ c

B. 
1
3

log

2tan
x

2 + 2

2tan
x

2 + 1

+ c

| ( )
( ) |

| ( )
( ) |

https://dl.doubtnut.com/l/_hpeS8YTO8EDn
https://dl.doubtnut.com/l/_SVAhvHv1uasw


C. 
1
3

log

2tan
x

2 + 1

2tan
x
2 + 4

+ c

D. 
1
3

log

2tan
x
2 + 4

2tan
x

2 + 1

+ c

Answer: C

Watch Video Solution

| ( )
( ) |

| ( )
( ) |

384. ∫
dx

3 + 5cosx
=

A. 
1
2

log

2 - tan
x

2

2 + tan
x
2

+ c

B. 
1
2

log

2 + tan
x

2

2 - tan
x

2

+ c

| ( )
( ) |

| ( )
( ) |

https://dl.doubtnut.com/l/_SVAhvHv1uasw
https://dl.doubtnut.com/l/_wDaKCiptaziI


C. 
1
4

log

2 - tan
x

2

2 + tan
x
2

+ c

D. 
1
4

log

2 + tan
x
2

2 - tan
x

2

+ c

Answer: D

Watch Video Solution

| ( )
( ) |

| ( )
( ) |

385. 
1

4 - 5cosx

A. 
1
3

log

3tan
x

2 - 1

3tan
x
2 + 1

+ c

B. 
1
3

log

3tan
x

2 + 1

3tan
x

2 - 1

+ c

| ( )
( ) |

| ( )
( ) |

https://dl.doubtnut.com/l/_wDaKCiptaziI
https://dl.doubtnut.com/l/_5e5ryMXABbdY


C. 
1
3

log

tan
x

2 - 1

tan
x
2 + 1

+ c

D. 
1
3

log

tan
x
2 + 1

tan
x

2 - 1

+ c

Answer: A

Watch Video Solution

| ( )
( ) |

| ( )
( ) |

386. ∫
dx

1 - sinx + cosx
=

A. log tan
x
2

+ 1 + c

B. - log tan
x
2

+ 1 + c

C. log tan
x
2

- 1 + c

D. - log tan
x
2

- 1 + c

| ( ( ) )|
| ( ( ) )|

| ( ( ) )|
| ( ( ) )|

https://dl.doubtnut.com/l/_5e5ryMXABbdY
https://dl.doubtnut.com/l/_a6FZGjb8WARz


Answer: D

View Text Solution

387. ∫
dx

2 + cosx - sinx
=

A. √2tan - 1 1
2

tan
x
2

- 1 + c

B. √2tan - 1 1

√2
tan

x
2

- 1 + c

C. 2tan - 1 1
2

tan
x
2

- 1 + c

D. 2tan - 1 1

√2
tan

x
2

- 1 + c

Answer: B

View Text Solution

( ( ( ) ))
( ( ( ) ))

( ( ( ) ))
( ( ( ) ))

388. Evaluate the following integrals: 

∫
dx

(2sinx + cosx + 3)

https://dl.doubtnut.com/l/_a6FZGjb8WARz
https://dl.doubtnut.com/l/_5BwWQgTL0MMd
https://dl.doubtnut.com/l/_G6mU9AwiJ19W


A. tan - 1 tan
x
2

+ 1 + c

B. 2tan - 1 tan
x
2

+ 1 + c

C. tan - 1 tan
x
2

- 1 + c

D. 2tan - 1 tan
x
2

- 1 + c

Answer: A

Watch Video Solution

( ( ) )
( ( ) )

( ( ) )
( ( ) )

389. ∫
dx

2sinx - cosx + 3
=

A. tan - 1 tan
x
2

+ 1 + c

B. 
1
2

tan - 1 tan
x
2

+ 1 + c

C. tan - 1 2tan
x
2

+ 1 + c

D. 2tan - 1 tan
x
2

+ 1 + c

( ( ) )
( ( ) )

( ( ) )
( ( ) )

https://dl.doubtnut.com/l/_G6mU9AwiJ19W
https://dl.doubtnut.com/l/_ybjinzoUl6b8


Answer: C

Watch Video Solution

390. ∫
dx

3 - cosx - 3sinx
=

A. log

tan
x

2 - 2

tan
x
2 - 1

+ c

B. log

tan
x

2 - 1

tan
x

2 - 2

+ c

C. log

2tan
x

2 - 2

2tan
x
2 - 1

+ c

D. log

2tan
x

2 - 1

2tan
x

2 - 2

+ c

| ( )
( ) |

| ( )
( ) |

| ( )
( ) |

| ( )
( ) |

https://dl.doubtnut.com/l/_ybjinzoUl6b8
https://dl.doubtnut.com/l/_8xN3LQ4QKHUp


Answer: C

Watch Video Solution

391. ∫
dx

3sinx + 2cosx + 3
=

A. 
1
2

log

tan
x

2 + 1

tan
x
2 + 5

+ c

B. 
1
2

log

tan
x

2 + 5

tan
x

2 + 1

+ c

C. 
1
4

log

tan
x

2 + 1

tan
x
2 + 5

+ c

D. 
1
4

log

tan
x

2 + 5

tan
x

2 + 1

+ c

| ( )
( ) |

| ( )
( ) |

| ( )
( ) |

| ( )
( ) |

https://dl.doubtnut.com/l/_8xN3LQ4QKHUp
https://dl.doubtnut.com/l/_SORddda0ysuE


Answer: A

Watch Video Solution

392. ∫
dx

13 + 3cosx + 4sinx
=

A. 
-1
6

tan - 1 1
6

5tan
x
2

+ 2 + c

B. 
1
6

tan - 1 1
6

5tan
x
2

+ 2 + c

C. 
-1
12

tan - 1 1
6

5tan
x
2

+ 2 + c

D. 
1
12

tan - 1 1
6

5tan
x
2

+ 2 + c

Answer: B

Watch Video Solution

( ( ( ) ))
( ( ( ) ))
( ( ( ) ))
( ( ( ) ))

393. ∫
dx

cosa + cosx =

https://dl.doubtnut.com/l/_SORddda0ysuE
https://dl.doubtnut.com/l/_XXeRDerjlFvb
https://dl.doubtnut.com/l/_lJoCGN0WMalX


A. ( cosec a)log

cot
a

2 + tan
x

2

cot
a
2 - tan

x
2

+ c

B. ( cosec a)log

cot
a
2 - tan

x
2

cot
a

2 + tan
x

2

+ c

C. ( cosec a)log

tan
x

2 + tan
a

2

tan
x
2 - tan

a
2

+ c

D. ( cosec a)log

tan
x
2 - tan

a
2

tan
x

2 + tan
a

2

+ c

Answer: A

View Text Solution

| ( ) ( )
( ) ( ) |

| ( ) ( )
( ) ( ) |

| ( ) ( )
( ) ( ) |

| ( ) ( )
( ) ( ) |

394. ∫
dx

1 + cosacosx
=

https://dl.doubtnut.com/l/_lJoCGN0WMalX
https://dl.doubtnut.com/l/_nIFCfiZufEHU


A. 
1

sina
tan - 1 tan

x
2

tan
a
2

+ c

B. 
2

sina
tan - 1 tan

x
2

tan
a
2

+ c

C. 
1

cosa
tan - 1 tan

x
2

tan
a
2

+ c

D. 
2

cosa
tan - 1 tan

x
2

cot
a
2

+ c

Answer: B

View Text Solution

( ( ) ( ))
( ( ) ( ))
( ( ) ( ))
( ( ) ( ))

395. ∫
1 + cosαcosx
cosα + cosx

dx =

A. xcosα - sinαlog

cot
α

2 + tan
x

2

cot
α
2 - tan

x
2

+ c

B. xcosα + sinαlog

cot
α

2 + tan
x

2

cot
α

2 - tan
x

2

+ c

| ( ) ( )
( ) ( ) |

| ( ) ( )
( ) ( ) |

https://dl.doubtnut.com/l/_nIFCfiZufEHU
https://dl.doubtnut.com/l/_tm2lIxUQaoWK


C. xcosα - sinαlog

tan
x

2 + tan
α

2

tan
x
2 - tan

α
2

+ c

D. xcosα + sinαlog

tan
x
2 + tan

α
2

tan
x

2 - tan
α

2

+ c

Answer: B

View Text Solution

| ( ) ( )
( ) ( ) |

| ( ) ( )
( ) ( ) |

396. ∫
1

1 - sin2x
dx =

A. 
-1

tanx + 1
+ c

B. 
1

tanx + 1
+ c

C. 
-1

tanx - 1
+ c

D. 
1

tanx - 1
+ c

Answer: C

https://dl.doubtnut.com/l/_tm2lIxUQaoWK
https://dl.doubtnut.com/l/_sXqLybTV79D0


Watch Video Solution

397. ∫
dx

2sin2x - 3
=

A. 
-1

√5
tan - 1 3tanx + 2

√5
+ c

B. 
1

√5
tan - 1 3tanx + 2

√5
+ c

C. 
-1

√5
tan - 1 3tanx - 2

√5
+ c

D. 
1

√5
tan - 1 3tanx - 2

√5
+ c

Answer: C

View Text Solution

( )
( )
( )
( )

398. 
1

2 - 3sin2x

A. 
1

2√5
log ∣

2tanx - 3 - √5

2tanx - 3 + √5
+ c

https://dl.doubtnut.com/l/_sXqLybTV79D0
https://dl.doubtnut.com/l/_ZoKgKjCn35MZ
https://dl.doubtnut.com/l/_GtTqGLP5sgFY


B. 
1

2√5
log ∣

2tanx - 3 + √5

2tanx - 3 - √5
+ c

C. 
1

√5
log ∣

2tanx - 3 - √5

2tanx - 3 + √5
+ c

D. 
1

√5
log ∣

2tanx - 3 + √5

2tanx - 3 - √5
+ c

Answer: A

Watch Video Solution

399. 
1

3 - 5sin2x

A. 
1
4 log

3tanx - 9
3tanx - 1 + c

B. 
1
4 log

3tanx - 1
3tanx - 9 + c

C. 
1
8 log

3tanx - 9
3tanx - 1 + c

D. 
1
8 log

3tanx - 1
3tanx - 9 + c

Answer: C

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_GtTqGLP5sgFY
https://dl.doubtnut.com/l/_PnMgfRuipixZ


Watch Video Solution

400. ∫
dx

3 - 2cos2x
=

A. 
1

√5
tan - 1 tanx

√5
+ c

B. 
2

√5
tan - 1 tanx

√5
+ c

C. 
1

√5
tan - 1 √5tanx + c

D. 
2

√5
tan - 1 √5tanx + c

Answer: C

Watch Video Solution

( )
( )
( )

( )

401. ∫
dx

3cos2x + 5
=

A. 
1
2

tan - 1 tanx
2

+ c

B. 
1
2

tan - 1 tanx
4

+ c

( )
( )

https://dl.doubtnut.com/l/_PnMgfRuipixZ
https://dl.doubtnut.com/l/_avYxbdPzM0Ac
https://dl.doubtnut.com/l/_Vu1XRQEKERf8


C. 
1
4

tan - 1 tanx
2

+ c

D. 
1
4

tan - 1 tanx
4

+ c

Answer: C

Watch Video Solution

( )
( )

402. ∫
dx

2 - 3cos2x

A. 
1

2√5
log

√5tanx - 1

√5tanx + 1
+ c

B. 
1

2√5
log

√5tanx + 1

√5tanx - 1
+ c

C. 
1

√5
log

√5tanx - 1

√5tanx + 1
+ c

D. 
1

√5
log

√5tanx + 1

√5tanx - 1
+ c

Answer: A

Watch Video Solution

| |
| |

| |
| |

https://dl.doubtnut.com/l/_Vu1XRQEKERf8
https://dl.doubtnut.com/l/_A8EqTxrcZ2fi


403. ∫
dx

3 + 4cos2x =

A. 
1

2√7
log

√7 + tanx

√7 - tanx
+ c

B. 
1

2√7
log

√7 - tanx

√7 + tanx
+ c

C. 
1

4√7
log

√7 + tanx

√7 - tanx
+ c

D. 
1

4√7
log

√7 - tanx

√7 + tanx
+ c

Answer: A

Watch Video Solution

| |
| |
| |
| |

404. ∫
dx

5 + 7cos2x
=

A. 
1

2√6
log

√6 - tanx

√6 + tanx
+ c

B. 
1

2√6
log

√6 + tanx

√6 - tanx
+ c

| |
| |

https://dl.doubtnut.com/l/_A8EqTxrcZ2fi
https://dl.doubtnut.com/l/_2TexbIKafZr3
https://dl.doubtnut.com/l/_VuvMF4reICXZ


C. 
1

4√6
log

√6 - tanx

√6 + tanx
+ c

D. 
1

4√6
log

√6 + tanx

√6 - tanx
+ c

Answer: D

Watch Video Solution

| |
| |

405. ∫
dx

3 + 2sin2x + 4cos2x
=

A. 
1

2√11
log

√11 + 2 - tanx

√11 - 2 + tanx
+ c

B. 
1

2√11
log

√11 - 2 + tanx

√11 + 2 - tanx
+ c

C. 
2

√11
log

√11 + 2 - tanx

√11 - 2 + tanx
+ c

D. 
2

√11
log

√11 - 2 + tanx

√11 + 2 - tanx
+ c

Answer: B

Watch Video Solution

| |
| |

| |
| |

https://dl.doubtnut.com/l/_VuvMF4reICXZ
https://dl.doubtnut.com/l/_DliUMAB8Aydz


406. ∫
dx

1 + sin2x
=

A. 
1
2

tan - 1(2tanx) + c

B. 
-1
2

tan - 1(2tanx) + c

C. 2tan - 1(2tanx) + c

D. -2tan - 1(2tanx) + c

Answer: A

Watch Video Solution

407. ∫
dx

a2 + b2cos2x
=

A. 
1

b√a2 + b2
tan - 1 btanx

√a2 + b2
+ c

B. 
-1

b√a2 + b2
tan - 1 btanx

√a2 + b2
+ c

( )
( )

https://dl.doubtnut.com/l/_DliUMAB8Aydz
https://dl.doubtnut.com/l/_hzvQTg5G4gBw
https://dl.doubtnut.com/l/_amRHacpE0VwB


C. 
1

a√a2 + b2
tan - 1 atanx

√a2 + b2
+ c

D. 
-1

a√a2 + b2
tan - 1 atanx

√a2 + b2
+ c

Answer: C

Watch Video Solution

( )
( )

408. ∫
dx

3 + 2cos2x

A. 
1

√15
cot - 1

√3tanx

√5
+ c

B. 
1

√15
tan - 1

√3tanx

√5
+ c

C. 
1

√5

cot - 1(tanx)

√5
+ c

D. 
1

√5

tan - 1(tanx)

√5
+ c

Answer: B

( )
( )

)
)

https://dl.doubtnut.com/l/_amRHacpE0VwB
https://dl.doubtnut.com/l/_VWSFpFRyWNJy


Watch Video Solution

409. ∫
dx

4 + 5cos2x
=

A. 
1
6

tan - 1 2tanx
3

+ c

B. 
1
3

tan - 1 2tanx
3

+ c

C. 
2
3

tan - 1 2tanx
3

+ c

D. 
1
12

tan - 1 2tanx
3

+ c

Answer: A

Watch Video Solution

( )
( )
( )
( )

410. ∫
dx

a2sin2x + b2cos2x
=

A. 
-1
ab

tan - 1 btanx
a

+ c

B. 
1
ab

tan - 1 btanx
a

+ c

( )
( )

https://dl.doubtnut.com/l/_VWSFpFRyWNJy
https://dl.doubtnut.com/l/_PjvwrNd3qJHs
https://dl.doubtnut.com/l/_urWn09dlxlx8


C. 
-1
ab

tan - 1 atanx
b

+ c

D. 
1
ab

tan - 1 atanx
b

+ c

Answer: D

View Text Solution

( )
( )

411. Evaluate: ∫
1

1 + 3sin2x + 8cos2x
 dx

A. 
1
2 tan - 1 2tanx

3 + c

B. 
1
3 tan - 1 2tanx

3 + c

C. 
1
6 tan - 1 2tanx

3 + c

D. 
1
12 tan - 1 2tanx

3 + c

Answer: C

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_urWn09dlxlx8
https://dl.doubtnut.com/l/_Ivo7Avrmmu8m
https://dl.doubtnut.com/l/_g6lAdmjGvKy2


412. Evaluate: ∫
1

cos2x + 3sin2x
 dx

A. 
1

√2
tan - 1 √2tanx + c

B. 
-1

√2
tan - 1 √2tanx + c

C. 
1

2√2
tan - 1 √2tanx + c

D. 
-1

2√2
tan - 1 √2tanx + c

Answer: A

Watch Video Solution

( )

( )

( )

( )

413. Evaluate:
∫
1

sin2x + sin2x
dx

A. 
1
2

log
tanx

tanx - 2
+ c

B. 
1
2

log
tanx

tanx + 2
+ c

C. 
1
4

log
tanx

tanx - 2
+ c

| |
| |
| |

https://dl.doubtnut.com/l/_g6lAdmjGvKy2
https://dl.doubtnut.com/l/_FqzcMzIaOnA1


D. 
1
4

log
tanx

tanx + 2
+ c

Answer: B

Watch Video Solution

| |

414. Evaluate:
∫
cosx
cos3x

dx

A. 
1

√3
log

1 - √3tanx

1 + √3tanx
+ c

B. 
1

√3
log

1 + √3tanx

1 - √3tanx
+ c

C. 
1

2√3
log

1 - √3tanx

1 + √3tanx
+ c

D. 
1

2√3
log

1 + √3tanx

1 - √3tanx
+ c

Answer: D

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_FqzcMzIaOnA1
https://dl.doubtnut.com/l/_GQQPmdhFrdXB


415. Evaluate:
∫
sinx
sin3x

dx
.

A. 
1

√3
log

√3 - tanx

√3 + tanx
+ c

B. 
1

2√3
log

√3 - tanx

√3 + tanx
+ c

C. 
1

√3
log

√3 + tanx

√3 - tanx
+ c

D. 
1

2√3
log

√3 + tanx

√3 - tanx
+ c

Answer: D

Watch Video Solution

| |
| |

| |
| |

416. If ∫ f(x)dx = g(x),  then : ∫ f - 1(x)dx =

A. g - 1(x)

B. f - 1(x)

C. xf - 1(x) - g - 1(x)

https://dl.doubtnut.com/l/_1ARfCEjhvGAj
https://dl.doubtnut.com/l/_T3ST7IDz38Nd


D. xf - 1(x) - g f - 1(x)

Answer: D

Watch Video Solution

( )

417. Evaluate ∫ f(x)gn(x) - fn(x)g(x) dx

A. f(x)g′ (x) - f′ (x)g(x)

B. f(x)g′ (x) + f′ (x)g(x)

C. f′ (x)g(x) - f(x)g′ (x)

D. 
f(x)
g′ (x)

Answer: A

Watch Video Solution

[ ]

418. If ∫xf(x)dx =
f(x)
2

,  then f(x) is equal to

https://dl.doubtnut.com/l/_T3ST7IDz38Nd
https://dl.doubtnut.com/l/_eS1AFfU2Ky3Z
https://dl.doubtnut.com/l/_cuow5cVJiajr


A. ex

B. e - x

C. logx

D. ex
2

Answer: D

Watch Video Solution

419. ∫xsinxdx =

A. cosx + xsinx + c

B. cosx - xsinx + c

C. sinx + xcosx + c

D. sinx - xcosx + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cuow5cVJiajr
https://dl.doubtnut.com/l/_9noyeBXbKFgv


420. ∫xsin2xdx =

A. 
sin2x

4
-
xsin2x

2
+ c

B. 
sin2x

4
-
xcos2x

2
+ c

C. 
cos2x

4
+

xsin2x
2

+ c

D. 
sin2x

4
+

xcos2x
2

+ c

Answer: B

Watch Video Solution

421. ∫xsin5xsin2xdx =

A. 
xsin3x

6
+

cos3x
18

+
xsin7x

14
-

cos7x
98

+ c

B. 
xsin3x

6
+

cos3x
18

-
xsin7x

14
+

cos7x
98

+ c

C. 
xsin3x

6
+

cos3x
18

-
xsin7x

14
-

cos7x
98

+ c

https://dl.doubtnut.com/l/_9noyeBXbKFgv
https://dl.doubtnut.com/l/_lJJsozGP5DNp
https://dl.doubtnut.com/l/_BGl4HZ3Fgz0G


D. 
xsin3x

6
+

cos3x
18

+
xsin7x

14
+

cos7x
98

+ c

Answer: C

Watch Video Solution

422. Evaluate the following integrals: 

∫xsin2xdx

A. 
x2

4
+

xsin2x
4

+
cos2x

8
+ c

B. 
x2

4
+

xsin2x
4

-
cos2x

8
+ c

C. 
x2

4 -
xsin2x

4 +
cos2x

8 + c

D. 
x2

4
-
xsin2x

4
-

cos2x
8

+ c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BGl4HZ3Fgz0G
https://dl.doubtnut.com/l/_lCMZZ5EtPPsN


423. ∫xtan2xdx =

A. xtanx + log|secx| +
x2

2
+ c

B. xtanx + log|secx| -
x2

2
+ c

C. xtanx - log|secx| -
x2

2 + c

D. xtanx - log|secx| +
x2

2
+ c

Answer: C

Watch Video Solution

424. ∫xcot2xdx = ?

A. log|sinx| + xtanx +
x2

2
+ c

B. log|sinx| - xtanx +
x2

2
+ c

C. log|sinx| + xcotx -
x2

2
+ c

D. log|sinx| - xcotx -
x2

2 + c

https://dl.doubtnut.com/l/_7GIzBp5ETsXq
https://dl.doubtnut.com/l/_0oPy8eRokxVQ


Answer: D

Watch Video Solution

425. Evaluate: ∫x2sinx dx

A. x2 - 2 cosx + 2xsinx + c

B. x2 - 2 cosx - 2xsinx + c

C. 2 - x2 cosx + 2xsinx + c

D. 2 - x2 cosx - 2xsinx + c

Answer: C

Watch Video Solution

( )
( )
( )
( )

426. Evaluate the following integrals: 

∫xsin - 1xdx

https://dl.doubtnut.com/l/_0oPy8eRokxVQ
https://dl.doubtnut.com/l/_FJs4Cq08uCEr
https://dl.doubtnut.com/l/_6PJ3V37bFiVU


A. 
x2sin - 1x

2
+

x√1 - x2

4
+

sin - 1x
4

+ c

B. 
x2sin - 1x

2 -
x√1 - x2

4 -
sin - 1x

4 + c

C. 
x2sin - 1x

2
-
x√1 - x2

4
+

sin - 1x
4

+ c

D. 
x2sin - 1x

2
+

x√1 - x2

4
-

sin - 1x
4

+ c

Answer: D

Watch Video Solution

427. Evaluate : ∫xtan - 1xdx

A. 
x2tan - 1x

2
+

x
2

+
tan - 1x

2
+ c

B. 
x2tan - 1x

2 -
x
2 -

tan - 1x
2 + c

C. 
x2tan - 1x

2
+

x
2

-
tan - 1x

2
+ c

D. 
x2tan - 1x

2
-
x
2

+
tan - 1x

2
+ c

https://dl.doubtnut.com/l/_6PJ3V37bFiVU
https://dl.doubtnut.com/l/_OIrSYd4PjEN8


Answer: D

Watch Video Solution

428. ∫xsec - 1xdx =

A. 
x2sec - 1x

2 -
√x2 - 1

2 + c

B. 
x2sec - 1x

2 +
√x2 - 1

2 + c

C. 
x2sec - 1x

2 -
√x2 - 1

4 + c

D. 
x2sec - 1x

2 +
√x2 - 1

4 + c

Answer: A

Watch Video Solution

( )
( )
( )
( )

https://dl.doubtnut.com/l/_OIrSYd4PjEN8
https://dl.doubtnut.com/l/_WH8DpTHWQIzq


429. Evaluate the following integrals: 

∫x2e3xdx

A. 
e3x

9
9x2 + 6x + 2 + c

B. 
e3x

9
9x2 - 6x + 2 + c

C. 
e3x

27 9x2 + 6x + 2 + c

D. 
e3x

27
9x2 - 6x + 2 + c

Answer: D

Watch Video Solution

( )
( )
( )
( )

430. ∫e - 2xxdx =

A. 
e - 2x

4
(2x + 1) + c

B. 
-e - 2x

4
(2x + 1) + c

C. 
e - 2x

2
(2x + 1) + c

https://dl.doubtnut.com/l/_B2ibB6Pzqnc0
https://dl.doubtnut.com/l/_E7ayxrA62Qqb


D. 
-e - 2x

2
(2x + 1) + c

Answer: B

Watch Video Solution

431. ∫xlogxdx = ?

A. 
x2

4
(2logx - 1) + c

B. 
x2

4 (2logx + 1) + c

C. 
x2

2
(logx - 1) + c

D. 
x2

2
(logx + 1) + c

Answer: A

Watch Video Solution

432. ∫x3logxdx =

https://dl.doubtnut.com/l/_E7ayxrA62Qqb
https://dl.doubtnut.com/l/_OnaN90l0OLgv
https://dl.doubtnut.com/l/_kRQG6bEn1AOp


A. 
x4

4
(logx - 1) + c

B. 
x4

4
(4logx - 1) + c

C. 
x4

16 (logx - 1) + c

D. 
x4

16
(4logx - 1) + c

Answer: D

Watch Video Solution

433. ∫
logx

(x + 1)2dx =

A. 
- logx
x + 1

+ log|x| - log|x + 1| + c

B. 
logx
x + 1

- log|x| - log|x + 1| + c

C. 
logx
x + 1

+ log|x| - log|x + 1| + c

D. 
- logx
x + 1

- log|x| - log|x + 1| + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_kRQG6bEn1AOp
https://dl.doubtnut.com/l/_JEupQSOKs9Wm


Watch Video Solution

434. Evaluate ∫
logx

(1 + x)3dx

A. 
1

2(1 + x)
+

1
2

log
x

1 + x
-

logx

2(1 + x)2 + c

B. 
1

2(1 + x)
-

1
2

log
x

1 + x
+

logx

2(1 + x)2 + c

C. 
1

2(1 + x)
-

1
2

log
x

1 + x
-

logx

2(1 + x)2 + c

D. 
1

2(1 + x)
+

1
2

log
x

1 + x
+

logx

2(1 + x)2 + c

Answer: A

Watch Video Solution

| |
| |
| |
| |

435. ∫
logx

x3 dx =

A. 
1

4x2 (2logx - 1) + c

B. 
-1

4x2 (2logx + 1) + c

https://dl.doubtnut.com/l/_JEupQSOKs9Wm
https://dl.doubtnut.com/l/_TeHFplcsudYI
https://dl.doubtnut.com/l/_DyGQq4pthW4l


C. 
1

4x2 (2logx + 1) + c

D. 
1

4x2 (1 - 2logx) + c

Answer: B

Watch Video Solution

436. If ∫sin - 1xdx = xsin - 1x + u + c,  then u =

A. xsin - 1x - √1 - x2 + c

B. xsin - 1x + 2√1 - x2 + c

C. xsin - 1x - 2√1 - x2 + c

D. xsin - 1x + √1 - x2 + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DyGQq4pthW4l
https://dl.doubtnut.com/l/_SyZZeH2CkvCK


437. ∫cos - 1xdx =

A. xcos - 1x - 2√1 - x2 + c

B. xcos - 1x + 2√1 - x2 + c

C. xcos - 1x - √1 - x2 + c

D. xcos - 1x + √1 - x2 + c

Answer: C

Watch Video Solution

438. ∫ tan - 1xdx = …. + C

A. xtan - 1x +
1
2

log 1 + x2 + c

B. xtan - 1x -
1
2

log 1 + x2 + c

C. xtan - 1x +
1
4

log 1 + x2 + c

D. xtan - 1x -
1
4

log 1 + x2 + c

| |
| |
| |
| |

https://dl.doubtnut.com/l/_f9g7X9Dt41AU
https://dl.doubtnut.com/l/_5F8mR5ZTwILo


Answer: B

Watch Video Solution

439. ∫sec - 1xdx =

A. xsec - 1x - log x - √x2 - 1 + c

B. xsec - 1x + log x - √x2 - 1 + c

C. xsec - 1x - log x + √x2 - 1 + c

D. xsec - 1x + log x + √x2 - 1 + c

Answer: C

Watch Video Solution

| |
| |
| |
| |

440. ∫ logxdx = ?

A. x(logx - 1) + c

https://dl.doubtnut.com/l/_5F8mR5ZTwILo
https://dl.doubtnut.com/l/_PKIUxGubCr8I
https://dl.doubtnut.com/l/_bqT2zDk6nDbY


B. x(logx + 1) + c

C. xlogx - 1 + c

D. xlogx + 1 + c

Answer: A

Watch Video Solution

441. ∫ log x + √a2 + x2 dx

A. xlog x + √x2 + a2 - 2√x2 + a2 + c

B. xlog x + √x2 + a2 + 2√x2 + a2 + c

C. xlog x + √x2 + a2 - √x2 + a2 + c

D. xlog x + √x2 + a2 + √x2 + a2 + c

Answer: C

Watch Video Solution

( )
( )
( )
( )
( )

https://dl.doubtnut.com/l/_bqT2zDk6nDbY
https://dl.doubtnut.com/l/_lqmoaWzu9Pen


442. ∫
x

1 + cos2x
dx

A. xtanx + log|secx| + c

B. xtanx - log|secx| + c

C. 
1
2

(xtanx + log|secx|) + c

D. 
1
2

(xtanx - log|secx|) + c

Answer: D

Watch Video Solution

443. ∫
x

1 - cosx dx =

A. xcot
x
2 + 2log sin

x
2 + c

B. xcot
x
2 - 2log sin

x
2 + c

C. -xcot
x
2 + 2log sin

x
2 + c

( ) | ( )|
( ) | ( )|
( ) | ( )|

https://dl.doubtnut.com/l/_iBkX4LsFGOYp
https://dl.doubtnut.com/l/_hWtBZA4Upf1j


D. -xcot
x
2

- 2log sin
x
2

+ c

Answer: C

Watch Video Solution

( ) | ( )|

444. ∫
x + sinx
1 - cosx

dx =

A. 4log sin
x
2

+ xcot
x
2

∣ + c

B. 4log sin
x
2

- xcot
x
2

∣ + c

C. 2log sin
x
2

+ xcot
x
2

∣ + c

D. 2log sin
x
2

- xcot
x
2

∣ + c

Answer: B

Watch Video Solution

| ( ) | ( )
| ( )| ( )
| ( )| ( )
| ( )| ( )

https://dl.doubtnut.com/l/_hWtBZA4Upf1j
https://dl.doubtnut.com/l/_x3PqIFLB1gHD


445. Evaluate the following integrals: 

∫
x

(1 + sinx)
dx

A. x(tanx + secx) + log|1 + sinx| + c

B. x(tanx + secx) - log|1 + sinx| + c

C. x(tanx - secx) + log|1 + sinx| + c

D. x(tanx - secx) - log|1 + sinx| + c

Answer: C

Watch Video Solution

446. ∫
x

1 - sin2xdx =

A. 
x
4 (tan2x + sec2x) -

1
2 log sec22x + sec2xtan2x + c

B. 
x
4 (tan2x + sec2x) +

1
2 log sec22x + sec2xtan2x + c

C. 
x
2 (tan2x + sec2x) -

1
4 log sec22x + sec2xtan2x + c

| |
| |
| |

https://dl.doubtnut.com/l/_PYqk2M3QcbUe
https://dl.doubtnut.com/l/_yd8KBzTYrrEs


D. 
x
2

(tan2x + sec2x) +
1
4

log sec22x + sec2xtan2x + c

Answer: C

View Text Solution

| |

447. Evaluate ∫sec3xdx

A. secxtanx + log|secx + tanx| + c

B. secxtanx - log|secx + tanx| + c

C. 
1
2

(secxtanx + log|secx + tanx|) + c

D. 
1
2

(secxtanx - log|secx + tanx|) + c

Answer: C

Watch Video Solution

448. Evaluate: ∫cosec3xdx

https://dl.doubtnut.com/l/_yd8KBzTYrrEs
https://dl.doubtnut.com/l/_55Oi8FAJpZ5k
https://dl.doubtnut.com/l/_dFkrzi5USdr2


A. 
1
2

(log|cosecx - cotx| + cosecxcotx) + c

B. 
1
2

(log|cosecx - cotx| - cosecxcotx) + c

C. 
1
4

(log|cosecx - cotx| + cosecxcotx) + c

D. 
1
4

(log|cosecx - cotx| - cosecxcotx) + c

Answer: B

Watch Video Solution

449. If ∫ ln x2 + x dx = xln x2 + x + A,  then A =

A. log(x + 1) + 2x + c

B. 2x - log(x + 1) + c

C. log(x + 1) - 2x + c

D. -2x - log(x + 1) + c

Answer: C

Watch Video Solution

( ) ( )

https://dl.doubtnut.com/l/_dFkrzi5USdr2
https://dl.doubtnut.com/l/_3yEozVoCSEwL


450. ∫ log(logx) +
1

(logx)2 dx ज्ञात कीजिए!

A. xlog(logx) +
x

logx
+ c

B. xlog(logx) -
x

logx
+ c

C. xlog(logx) +
1

logx
+ c

D. xlog(logx) -
1

logx
+ c

Answer: B

Watch Video Solution

[ ]

451. Evaluate: ∫eaxsin(bx + c) dx

A. 
eax

a2 + b2 (asin(bx + c) - bcos(bx + c)) + c1

B. 
eax

a2 + b2 (asin(bx + c) + bcos(bx + c)) + c1

C. 
eax

a2 + b2 (acos(bx + c) - bsin(bx + c)) + c1

https://dl.doubtnut.com/l/_3yEozVoCSEwL
https://dl.doubtnut.com/l/_qzLE5vuHj1Yy
https://dl.doubtnut.com/l/_XXzDNKjClGyP


D. 
eax

a2 + b2 (acos(bx + c) + bsin(bx + c)) + c1

Answer: A

Watch Video Solution

452. ∫eaxcos(bx + c)dx

A. 
eax

a2 + b2 (asin(bx + c) - bcos(bx + c)) + c1

B. 
eax

a2 + b2 (asin(bx + c) + bcos(bx + c)) + c1

C. 
eax

a2 + b2 (acos(bx + c) - bsin(bx + c)) + c1

D. 
eax

a2 + b2 (acos(bx + c) + bsin(bx + c)) + c1

Answer: D

Watch Video Solution

453. If ∫exsinxdx =
u
2
ex + c, then `u=

https://dl.doubtnut.com/l/_XXzDNKjClGyP
https://dl.doubtnut.com/l/_X8illKfHUhNF
https://dl.doubtnut.com/l/_81mHZVUlzeN9


A. 
ex

2
(sinx + cosx + c)

B. 
-ex

2
(sinx + cosx + c)

C. 
ex

2 (sinx - cosx + c)

D. 
-ex

2
(sinx - cosx + c)

Answer: C

Watch Video Solution

454. ∫e5xcos2xcosxdx =

A. 
e5x

4
5cos3x + sin3x

34
+

5cosx + sinx
26

+ c

B. 
e5x

4
5cos3x + sin3x

34
-

5cosx + sinx
26

+ c

C. 
e5x

2
5cos3x + sin3x

34
+

5cosx + sinx
26

+ c

D. 
e5x

2
5cos3x + sin3x

34
-

5cosx + sinx
26

+ c

Answer: C

( )
( )
( )
( )

https://dl.doubtnut.com/l/_81mHZVUlzeN9
https://dl.doubtnut.com/l/_rc4nfrwn6ojE


Watch Video Solution

455. ∫cos√xdx = ?

A. 2√xcos√x - 2sin√x + c

B. 2√xcos√x + 2sin√x + c

C. 2√xsin√x - 2cos√x + c

D. 2√xsin√x + 2cos√x + c

Answer: D

Watch Video Solution

456. ∫sin(logx)dx =

A. 
x
2

(cos(logx) - sin(logx)) + c

B. 
x
2

(sin(logx) - cos(logx)) + c

C. 
x
2

(cos(logx) + sin(logx)) + c

https://dl.doubtnut.com/l/_rc4nfrwn6ojE
https://dl.doubtnut.com/l/_0b6I6MpQgIEo
https://dl.doubtnut.com/l/_Cz0kPWuiQsWU


D. 
-x
2

(sin(logx) + cos(logx)) + c

Answer: B

Watch Video Solution

457. ∫sinxlog(cosx)dx = ?

A. cosx(1 - log|cosx|) + c

B. cosx(1 + log|cosx|) + c

C. sinx(1 - log|cosx|) + c

D. sinx(1 + log|cosx|) + c

Answer: A

Watch Video Solution

458. ∫e√xdx = ?

https://dl.doubtnut.com/l/_Cz0kPWuiQsWU
https://dl.doubtnut.com/l/_OdxdNr54bffx
https://dl.doubtnut.com/l/_RuAnYgwlFLYQ


A. 2e√x √x - 1 + c

B. 2e√x √x + 1 + c

C. e√x √x - 1 + c

D. e√x √x + 1 + c

Answer: A

Watch Video Solution

( )

( )

( )

( )

459. ∫e√x√xdx =

A. 2√x - e√x - 4√xe√x + c

B. 2x - 4√x + 4 e√x + c

C. 2x + 4√x + 4 e√x + c

D. 1 - 4√x e√x + c

Answer: B

Watch Video Solution

( )

( )

( )

https://dl.doubtnut.com/l/_RuAnYgwlFLYQ
https://dl.doubtnut.com/l/_0MFJZd7hcEYP


460. ∫
√x2 + 1 log x2 + 1 - 2logx

x4 dx is equal to

A. 
1
3

1 +
1

x2

3

2 2
3

+ log 1 +
1

x2 + c

B. 
1
3

1 +
1

x2

3

2 2
3

- log 1 +
1

x2 + c

C. 
2
3

1 +
1

x2

3

2 1
3

+ log 1 +
1

x2 + c

D. 
2
3

1 +
1

x2

3

2 1
3

- log 1 +
1

x2 + c

Answer: B

Watch Video Solution

[ ( ) ]

( ) ( ( ))
( ) ( ( ))
( ) ( ( ))
( ) ( ( ))

461. Evaluate the following integrals: 

∫
log(logx)

x
dx

https://dl.doubtnut.com/l/_0MFJZd7hcEYP
https://dl.doubtnut.com/l/_R5KuduGqLrZ2
https://dl.doubtnut.com/l/_xcXknV9xbwGG


A. logx(logx + 1) + c

B. logx(logx - 1) + c

C. logx(log(logx) + 1) + c

D. logx(log(logx) - 1) + c

Answer: D

Watch Video Solution

462. ∫x3ex
2
dx

A. 
ex

2

2
x2 - 1 + c

B. 
ex

2

2 x2 + 1 + c

C. 
ex

2

2
2x2 - 1 + c

D. 
ex

2

2
2x2 + 1 + c

Answer: A

W h Vid S l i

( )
( )

( )
( )

https://dl.doubtnut.com/l/_xcXknV9xbwGG
https://dl.doubtnut.com/l/_xWdhJWISTDh2


Watch Video Solution

463. ∫ log(1 + cosx) - xtan
x
2

dx =

A. -xlog(1 + cosx) + c

B. xlog(1 + cosx) + c

C. 
-x
2

log(1 + cosx) + c

D. 
x
2

log(1 + cosx) + c

Answer: B

Watch Video Solution

( ( ))

464. Evaluate the following integrals: 

∫cos - 1√xdx

A. xcos - 1√x -
1
2√x - x2 +

1
2

sin - 1√x + c

B. xcos - 1√x +
1
2√x - x2 -

1
2

sin - 1√x + c

https://dl.doubtnut.com/l/_xWdhJWISTDh2
https://dl.doubtnut.com/l/_4mAUMd8SoJWA
https://dl.doubtnut.com/l/_kzbWcWwflAVw


C. xcos - 1√x -
1
2√x - x2 -

1
2

sin - 1√x + c

D. xcos - 1√x +
1
2√x - x2 +

1
2

sin - 1√x + c

Answer: A

Watch Video Solution

465. ∫ tan - 1√xdx is equal to

A. x + tan - 1√x + √x + c

B. x + tan - 1√x - √x + c

C. (x + 1)tan - 1√x + √x + c

D. (x + 1)tan - 1√x - √x + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_kzbWcWwflAVw
https://dl.doubtnut.com/l/_HY9DtwxKAqLi


466. Evaluate: ∫
sin - 1√x - cos - 1√x

sin - 1√x + cos - 1√x
 dx

A. 
4
π √x - x2 + (1 - 2x)sin - 1√x - x + c

B. 
4
π √x - x2 - (1 - 2x)sin - 1√x - x + c

C. 
2
π √x - x2 + (1 - 2x)sin - 1√x - x + c

D. 
2
π √x - x2 - (1 - 2x)sin - 1√x - x + c

Answer: D

Watch Video Solution

( )
( )
( )
( )

467. ∫
xsin - 1x

√1 - x2dx

A. cos sin - 1x + xsin - 1x + c

B. -cos sin - 1x + xsin - 1x + c

C. sin - 1x cos sin - 1x + x + c

( )
( )

( ) ( )

https://dl.doubtnut.com/l/_UvUM3t9XNw4y
https://dl.doubtnut.com/l/_6PDUviomRN3m


D. - sin - 1x cos sin - 1x + x + c

Answer: D

Watch Video Solution

( ) ( )

468. If I1 = ∫sin - 1xdx and I2sin - 1√-x2dx,  then

A. I1 = I2

B. I2 =
π
2
I1

C. I1 + I2 =
πx
2

D. I1 - I2 =
πx
2

Answer: C

Watch Video Solution

469. ∫cot - 1 1 - x + x2 dx =( )

https://dl.doubtnut.com/l/_6PDUviomRN3m
https://dl.doubtnut.com/l/_UxlO4nQq3ONC
https://dl.doubtnut.com/l/_fIcRoiHjEWzw


A. xtan - 1x + (1 - x)tan - 1(1 - x) +
1
2

log 1 + x2 +
1
2

log 1 + 1 - x2 + c

B. xtan - 1x - (1 - x)tan - 1(1 - x) +
1
2

log 1 + x2 +
1
2

log 1 + 1 - x2 + c

C. xtan - 1x - (1 - x)tan - 1(1 - x) -
1
2

log 1 + x2 +
1
2

log 1 + 1 - x2 + c

D. xtan - 1x - (1 - x)tan - 1(1 - x) +
1
2

log 1 + x2 -
1
2

log 1 + 1 - x2 + c

Answer: C

View Text Solution

| | | ( ) |
| | | ( )|
| | | ( )|
| | | ( )|

470. if d
f(x)
dx

= xcosx + sinxand f(0) = 2then find f(x) = ?

A. xsinx

B. xcosx + sinx + 2

C. xsinx + 2

D. xcosx + 2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_fIcRoiHjEWzw
https://dl.doubtnut.com/l/_kpefre4kJfLY


471. Q12) If the antiderivative of f(x) is e' and antiderivative of g (x) is cos

x,then ∫ f(x)cosxdx + ∫g(x)exdx

A. f(x)g(x) + c

B. f(x) + g(x) + c

C. excosx + c

D. -excosx + c

Answer: C

Watch Video Solution

472. ∫ex 1 + tanx + tan2x dx =

A. extanx + c

B. -extanx + c

( )

https://dl.doubtnut.com/l/_kpefre4kJfLY
https://dl.doubtnut.com/l/_EXDmQu165dmp
https://dl.doubtnut.com/l/_xjIk7QE3BV3a


C. ex(1 + tanx) + c

D. -ex|logsinx| + c

Answer: A

Watch Video Solution

473. ∫ex cotx - 1 - cot2x dx =

A. excotx + c

B. -excotx + c

C. excot2x + c

D. -excot2x + c

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_xjIk7QE3BV3a
https://dl.doubtnut.com/l/_IUKHc7mX5NWx


474. ∫exsecx(1 + tanx)dx = ?

A. excotx + c

B. extanx + c

C. exsecx + c

D. excosx + c

Answer: C

Watch Video Solution

475. ∫ex(tanx + logsecx)dx = ?

A. -extanx + c

B. extanx + c

C. -exlog(secx) + c

D. exlog(secx) + c

https://dl.doubtnut.com/l/_DnXZJPPE06CO
https://dl.doubtnut.com/l/_1toKhLFJ3wLl


Answer: D

Watch Video Solution

476. ∫ex(cotx + logsinx)dx = ?

A. -excotx + c

B. -exlog(sinx) + c

C. excotx + c

D. exlog(sinx) + c

Answer: D

Watch Video Solution

477. ∫ex
cosx - sinx

sin2x
dx =

A. excosecx + c

( )

https://dl.doubtnut.com/l/_1toKhLFJ3wLl
https://dl.doubtnut.com/l/_Mr6Ur0TPRAKL
https://dl.doubtnut.com/l/_owbqAZhBTA4d


B. -excosecx + c

C. exsecx + c

D. -exsecx + c

Answer: B

Watch Video Solution

478. If ∫ex
1 - sinx
1 - cosx

dx = f(x) +  Constant, then f(x) is equal to

A. excot
x
2

+ c

B. -excot
x
2

+ c

C. 2excot
x
2

+ c

D. -2excot
x
2

+ c

Answer: B

Watch Video Solution

( )
( )
( )
( )
( )

https://dl.doubtnut.com/l/_owbqAZhBTA4d
https://dl.doubtnut.com/l/_QVS0erByG8AW


479. ∫ex
1 + sinx
1 + cosx

dx = ?

A. extan
x
2

+ c

B. excot
x
2

+ c

C. 2extan
x
2

+ c

D. -2excot
x
2

+ c

Answer: A

Watch Video Solution

( )
( )
( )
( )
( )

480. Evaluate: ∫ex 
2 + sin2x
1 + cos2x

 dx

A. excotx + c

B. extanx + c

( )

https://dl.doubtnut.com/l/_QVS0erByG8AW
https://dl.doubtnut.com/l/_30mL5f6f4ugY
https://dl.doubtnut.com/l/_Yxjq8Z2Tbj7a


C. exsinx + c

D. excosx + c

Answer: B

Watch Video Solution

481. Evaluate the following integrals: 

∫ex
2 - sin2x
1 - cos2x

dx

A. extanx + c

B. -extanx + c

C. excotx + c

D. -excotx + c

Answer: D

Watch Video Solution

( )

https://dl.doubtnut.com/l/_Yxjq8Z2Tbj7a
https://dl.doubtnut.com/l/_GT8ubNvATYkJ


482. Evaluate: ∫ex 
1 + sinxcosx

cos2x
 dx

A. excotx + c

B. -excotx + c

C. extanx + c

D. -extanx + c

Answer: C

Watch Video Solution

( )

483. Evaluate: ∫ex

.

√1 - x2sin - 1x + 1

√1 - x2
 dx

A. exsin - 1x + c

B. -exsin - 1x + c

C. 
ex

√1 - x2
+ c

https://dl.doubtnut.com/l/_6fUXRV2L9XL2
https://dl.doubtnut.com/l/_D5cUfgrmjSYU


D. 
-ex

√1 - x2
+ c

Answer: A

Watch Video Solution

484. ∫ex
1 + xlogx

x
dx = ?

A. 
logx
x

+ c

B. exlogx + c

C. 
ex

x
+ c

D. 
ex

logx
+ c

Answer: B

Watch Video Solution

( )

https://dl.doubtnut.com/l/_D5cUfgrmjSYU
https://dl.doubtnut.com/l/_DoT97gb0Zj68


485. ∫
ex

x
x(logx)2 + 2logx dx =

A. 2exlogx + c

B. -2exlogx + c

C. ex(logx)2 + c

D. -ex(log)2x + c

Answer: C

Watch Video Solution

( )

486. Evaluate the following integrals: 

∫ex logx +
1

x2 dx

A. 
ex

x
(1 + logx) + c

B. 
ex

x (1 - logx) + c

C. ex logx -
1
x + c

( )

( )

https://dl.doubtnut.com/l/_Ers17SZJImfQ
https://dl.doubtnut.com/l/_quVohH6omCOc


D. ex logx +
1
x

+ c

Answer: C

Watch Video Solution

( )

487. ∫ex
x - 1

x2 dx =

A. 
ex

x
+ c

B. 
-ex

x
+ c

C. 
ex

x2 + c

D. 
-ex

x2 + c

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_quVohH6omCOc
https://dl.doubtnut.com/l/_xQZHKI6KeOBu


488. ∫ex ⋅
x

(1 + x)2dx = ?

A. 
-ex

x + 1
+ c

B. 
-ex

(x + 1)2 + c

C. 
ex

x + 1
+ c

D. 
ex

(x + 1)2 + c

Answer: C

Watch Video Solution

489. ∫ex
x + 3

(x + 4)2 dx =

A. 
1

(x + 4)2 + c

B. 
ex

(x + 4)2 + c

C. 
ex

x + 4
+ c

( )

https://dl.doubtnut.com/l/_Ct8zjeDrehuZ
https://dl.doubtnut.com/l/_wRyztz29Sbtg


D. 
ex

x + 3
+ c

Answer: C

Watch Video Solution

490. ∫
xex

(x + 2)3dx =

A. 
-ex

x + 2
+ c

B. 
ex

x + 2 + c

C. 
-ex

(x + 2)2 + c

D. 
ex

(x + 2)2 + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_wRyztz29Sbtg
https://dl.doubtnut.com/l/_ssvBc4sXaz9q


491. Evaluate the following integrals: 

∫ex
(x - 1)

(x + 1)3dx

A. 
-ex

x + 1
+ c

B. 
ex

x + 1
+ c

C. 
-ex

(x + 1)2 + c

D. 
ex

(x + 1)2 + c

Answer: D

Watch Video Solution

492. ∫ex
x2 + 1

(x + 1)2 dx =

A. ex
x - 1
x + 1

+ c

B. ex
x + 1
x - 1

+ c

( )
( )
( )

https://dl.doubtnut.com/l/_M99a1FLLIX2v
https://dl.doubtnut.com/l/_IoKz9Bo4ABya


C. ex(x + 1)(x - 1) + c

D. ex(x + 1) + c

Answer: A

Watch Video Solution

493. ∫ex
x + 2
x + 4

2
dx =

A. ex
x

x + 4
+ c

B. ex
x + 2
x + 4

+ c

C. ex
x - 2
x + 4

+ c

D. ex
2x

x + 4
+ c

Answer: A

Watch Video Solution

( )
( )
( )
( )
( )

https://dl.doubtnut.com/l/_IoKz9Bo4ABya
https://dl.doubtnut.com/l/_IxJu3BR2H3eq
https://dl.doubtnut.com/l/_0mxb9JpoSGnz


494. Evaluate: ∫ex
(1 - x)2

1 + x2 2
dx

A. 
ex

1 + x2 + c

B. 
-ex

1 + x2 + c

C. 
ex

1 + x2 2
+ c

D. 
-ex

1 + x2 2
+ c

Answer: A

Watch Video Solution

( )

( )

( )

495. ∫ex
x2 - x + 1

x2 + 1
3
2

dx =

A. 
-ex

x2 + 1
+ c

B. 
ex

x2 + 1
+ c

( ( ) )

https://dl.doubtnut.com/l/_0mxb9JpoSGnz
https://dl.doubtnut.com/l/_1BJRIyglsre8


C. 
-ex

√x2 + 1
+ c

D. 
ex

√x2 + 1
+ c

Answer: D

Watch Video Solution

496. Evaluate: ∫e2x ( - sinx + 2cosx) dx

A. e2xsinx + c

B. -e2xsinx + c

C. e2xcosx + c

D. -2e2xcosx + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1BJRIyglsre8
https://dl.doubtnut.com/l/_KePi4rah0bI8


497. ∫e
x
2

2 - sinx
1 - cosx

dx =

A. 2e
x
2 cot

x
2

+ c

B. -2e
x
2 cot

x
2

+ c

C. e
x
2 cot

x
2

+ c

D. -e
x
2 cot

x
2

+ c

Answer: B

Watch Video Solution

( )
( )
( )

( )
( )

498. Evaluate the following integrals: 

∫e2x 1 + sin2x
1 + cos2x

dx

A. 
e2x

2
cotx + c

B. 
e2x

2
tanx + c

( )

https://dl.doubtnut.com/l/_1OFXWODOpHcK
https://dl.doubtnut.com/l/_TqCQ2Xyn3TZi


C. 2e2xcotx + c

D. 2e2xtanx + c

Answer: B

Watch Video Solution

499. ∫e3x log2x +
1
x

dx =

A. 
e3x

3
log2x + c

B. 
e3x

2
log2x + c

C. 3e3xlog2x + c

D. e3xlog2x + c

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_TqCQ2Xyn3TZi
https://dl.doubtnut.com/l/_aKdrbiKd2EGG


500. ∫ecosx(sinxcosx + sinx)dx =

A. ecosxcosx + c

B. -ecosxcosx + c

C. ecosx(1 + cosx) + c

D. -ecosx(1 + cosx) + c

Answer: B

Watch Video Solution

501. ∫esinx(sinxcosx + cosx)dx =

A. esinxsinx + c

B. -esinxsinx + c

C. esinx(1 + sinx) + c

D. -esinx(1 + sinx) + c

https://dl.doubtnut.com/l/_y3cxgG52VYmr
https://dl.doubtnut.com/l/_JkEIbEErYTpq


Answer: A

Watch Video Solution

502. ∫etanx sec2x + sec3xsinx dx is equal to

A. etanx + c

B. -etanx + c

C. etanxtanx + c

D. -etanxtanx + c

Answer: C

Watch Video Solution

( )

503. ∫ [sin(logx) + cos(logx)]dx

A. -xsin(logx) + c

https://dl.doubtnut.com/l/_JkEIbEErYTpq
https://dl.doubtnut.com/l/_tDCVkswnyO2L
https://dl.doubtnut.com/l/_87uyi3eogvOE


B. xsin(logx) + c

C. -xcos(logx) + c

D. xcos(logx) + c

Answer: B

Watch Video Solution

504. ∫
1

logx
-

1

(logx)2 dx =

A. 
1

logx
+ c

B. 
x

logx
+ c

C. 
x

(logx)2 + c

D. 
1

xlogx
+ c

Answer: B

Watch Video Solution

[ ]

https://dl.doubtnut.com/l/_87uyi3eogvOE
https://dl.doubtnut.com/l/_QpHRbog9AeR5


505. ∫
logx

(1 + logx)2 dx =  (A) 
1

1 + logx
+ c (B) 

x
1 + logx

+ c (C) 

loglog(1 + logx) + c (D) none of these

A. 
x

1 + logx + c

B. 
-x

1 + logx + c

C. 
1

1 + logx + c

D. 
-1

1 + logx + c

Answer: A

Watch Video Solution

506. If ∫
logx - 1

1 + (logx)2

2
dx =

f(x)

1 + (g(x))2 + c, then (A) f(x) = x (B) f(x) = x2

(C) g(x) = logx (D) g(x) = (logx)2

A. 
xe2

1 + x2 + c

[ ]

https://dl.doubtnut.com/l/_QpHRbog9AeR5
https://dl.doubtnut.com/l/_vL2ANS4OSjeK
https://dl.doubtnut.com/l/_xIWwEdLoDKcc


B. 
x

(logx)2 + 1
+ c

C. 
logx

(logx)2 + 1
+ c

D. 
x

x2 + 1
+ c

Answer: B

Watch Video Solution

507. ∫esin - 1x
x + √1 - x2

√1 - x2
dx =

A. xesin - 1x + c

B. -xesin - 1x + c

C. etan - 1x + c

D. -esin - 1x + c

Answer: A

Watch Video Solution

( )

https://dl.doubtnut.com/l/_xIWwEdLoDKcc
https://dl.doubtnut.com/l/_6c8KWgK5lbNn


508. ∫etan - 1x 1 +
x

1 + x2 dx

A. etan - 1x + c

B. -etan - 1x + c

C. xetan - 1x + c

D. -xetan - 1x + c

Answer: C

Watch Video Solution

( )

509. The integral ∫ 1 + x -
1
x

ex+
1
xdx is equal to

A. (x - 1)ex+
1
x + c

B. xex+
1
x + c

C. (x + 1)ex+
1
x + c

( )

https://dl.doubtnut.com/l/_6c8KWgK5lbNn
https://dl.doubtnut.com/l/_km9XCt6KC5B4
https://dl.doubtnut.com/l/_IX0ajOSTNt6k


D. -xex+
1
x + c

Answer: B

Watch Video Solution

510. ∫3x(f(x)log3 + f′ (x))dx =

A. 3xf′ (x)log3 + c

B. 3xf(x)log3 + c

C. 3xf′ (x) + c

D. 3xf(x) + c

Answer: D

Watch Video Solution

511. ∫√(x - 3)(5 - x)dx =

https://dl.doubtnut.com/l/_IX0ajOSTNt6k
https://dl.doubtnut.com/l/_UN1OJDsPfBqY
https://dl.doubtnut.com/l/_NkBZ3K7Qw9Sk


A. 
x - 4

2
√ 8x - x2 - 15 +

1
4

sin - 1(x - 4) + c

B. 
x - 4

2
√ 8x - x2 - 15 +

1
2sin - 1(x - 4) + c

C. 
x - 4

4
√ 8x - x2 - 15 +

1
4

sin - 1(x - 4) + c

D. 
x - 4

4
√ 8x - x2 - 15 +

1
2

sin - 1(x - 4) + c

Answer: B

Watch Video Solution

( )
( )
( )
( )

512. ∫√4 + 3x - 2x2dx =

A. 
4x - 3

4√2 √4 + 3x - 2x2 +
41

16√2
sin - 1 4x - 3

√41
+ c

B. 
4x - 3

4√2 √4 + 3x - 2x2 +
41

32√2
sin - 1 4x - 3

√41
+ c

C. 
4x - 3

8 √4 + 3x - 2x2 +
41

16√2
sin - 1 4x - 3

√41
+ c

D. 
4x - 3

8 √4 + 3x - 2x2 +
41

32√2
sin - 1 4x - 3

√41
+ c

( )
( )
( )
( )

https://dl.doubtnut.com/l/_NkBZ3K7Qw9Sk
https://dl.doubtnut.com/l/_ZhSA4whW2dut


Answer: C

Watch Video Solution

513. ∫√4 - 9x2dx

A. 
x
2√4 - 9x2 -

2
9

sin - 1 3x
2

+ c

B. 
x
2√4 - 9x2 +

2
9

sin - 1 3x
2

+ c

C. 
x
2√4 - 9x2 -

2
3

sin - 1 3x
2

+ c

D. 
x
2√4 - 9x2 +

2
3

sin - 1 3x
2

+ c

Answer: D

Watch Video Solution

( )
( )
( )
( )

514. ∫√2ax - x2dx

https://dl.doubtnut.com/l/_ZhSA4whW2dut
https://dl.doubtnut.com/l/_c6qHUC08d6eU
https://dl.doubtnut.com/l/_QnBf4J34LpUR


A. 
(x - a)√2ax - x2

2
-
a2

2
sin - 1 x - a

a
+ c

B. 
(x - a)√2ax - x2

2 +
a2

2 sin - 1 x - a
a + c

C. 
(x - a)√2ax - x2

2
-
a
2

sin - 1 x - a
a

+ c

D. 
(x - a)√2ax - x2

2
+

a
2

sin - 1 x - a
a

+ c

Answer: B

Watch Video Solution

( )
( )

( )
( )

515. ∫cosx√36 - sin2xdx =

A. 
sinx - a

2 √36 - sin2x + 3sin - 1 sinx
6

+ c

B. 
sinx - a

2 √36 - sin2x + 6sin - 1 sinx
6

+ c

C. 
sinx

2 √36 - sin2x + 18sin - 1 sinx
6

+ c

D. 
sinx - a

2 √36 - sin2x + 36sin - 1 sinx
6

+ c

( )
( )

( )
( )

https://dl.doubtnut.com/l/_QnBf4J34LpUR
https://dl.doubtnut.com/l/_aWksk5mUryKr


Answer: C

Watch Video Solution

516. ∫√9x2 - 4dx =

A. 
x
2√9x2 - 4 +

2
3

log 3x + √9x2 - 4 + c

B. 
x
2√9x2 - 4 -

2
3 log 3x + √9x2 - 4 + c

C. 
x
2√9x2 - 4 +

2
9

log 3x + √9x2 - 4 + c

D. 
x
2√9x2 - 4 +

2
9

log 3x + √9x2 - 4 + c

Answer: B

Watch Video Solution

| |
| |
| |
| |

517. ∫√4x2 + 5dx =

A. 
x
2√4x2 + 5 -

5
4 log x + x2 +

5
4 + c| √ |

https://dl.doubtnut.com/l/_aWksk5mUryKr
https://dl.doubtnut.com/l/_QJuLdbVPZ4Oe
https://dl.doubtnut.com/l/_LxdYjfBmplnJ


B. 
x
2√4x2 + 5 +

5
4

log x + x2 +
5
4

+ c

C. 
x
2√4x2 + 5 -

5
2

log x + x2 +
5
4

+ c

D. 
x
2√4x2 + 5 +

5
2

log x + x2 +
5
4

+ c

Answer: B

Watch Video Solution

| √ |
| √ |
| √ |

518. ∫√9x2 - 6x + 4dx =

A. 
3x - 1

6 √9x2 - 6x + 4 +
1
2 log 3x - 1 +

√9x2 - 6x + 4

3 + c

B. 
3x - 1

6 √9x2 - 6x + 4 -
1
2 log 3x - 1 +

√9x2 - 6x + 4

3 + c

C. 
3x - 1

3 √9x2 - 6x + 4 +
1
2 log 3x - 1 +

√9x2 - 6x + 4

3 + c

D. 
3x - 1

3 √9x2 - 6x + 4 -
1
2 log 3x - 1 +

√9x2 - 6x + 4

3 + c

| |
| |
| |
| |

https://dl.doubtnut.com/l/_LxdYjfBmplnJ
https://dl.doubtnut.com/l/_zWhlKRCt9ty1


Answer: A

Watch Video Solution

519. ∫√x2 + 4x + 13dx =

A. 
x + 2

2 √x2 + 4x + 13 +
9
2

log x + 2 + √x2 + 4x + 13 + c

B. 
x + 2

2 √x2 + 4x + 13 -
9
2 log x + 2 + √x2 + 4x + 13 + c

C. 
x + 2

2 √x2 + 4x + 13 +
3
2

log x + 2 + √x2 + 4x + 13 + c

D. 
x + 2

2 √x2 + 4x + 13 -
3
2

log x + 2 + √x2 + 4x + 13 + c

Answer: A

Watch Video Solution

| |
| |
| |
| |

520. ∫√x2 - 4x - 5dx =

A. 
x - 2

2 √x2 - 4x - 5 -
9
2

log x - 2 + √x2 - 4x - 5 + c| |

https://dl.doubtnut.com/l/_zWhlKRCt9ty1
https://dl.doubtnut.com/l/_5DZwl53tfLxS
https://dl.doubtnut.com/l/_gvwiNskIUc8H


B. 
x - 2

2 √x2 - 4x - 5 +
9
2

log x - 2 + √x2 - 4x - 5 + c

C. 
x - 2

2 √x2 - 4x - 5 -
9
4 log x - 2 + √x2 - 4x - 5 + c

D. 
x - 2

2 √x2 - 4x - 5 +
9
4

log x - 2 + √x2 - 4x - 5 + c

Answer: A

Watch Video Solution

| |
| |
| |

521. ∫√2x2 + 3x + 4dx

A. 
4x + 3

8 √2x2 + 3x + 4 -
23

8√2
log

4x + 3
4

+ x2 +
3x
2

+ 2 + c

B. 
4x + 3

8 √2x2 + 3x + 4 +
23

8√2
log

4x + 3
4

+ x2 +
3x
2

+ 2 + c

C. 
4x + 3

8 √2x2 + 3x + 4 -
23

16√2
log

4x + 3
4

+ x2 +
3x
2

+ 2 + c

D. 
4x + 3

8 √2x2 + 3x + 4 +
23

16√2
log

4x + 3
4

+ x2 +
3x
2

+ 2 + c

Answer: D

W t h Vid S l ti

| √ |
| √ |
| √ |
| √ |

https://dl.doubtnut.com/l/_gvwiNskIUc8H
https://dl.doubtnut.com/l/_PrD8BItuDjai


Watch Video Solution

522. ∫sinx√cos2x - 2cosx + 2dx =

A. 
1
2

log 1 - cosx + √cos2x - 2cosx + 2 +
1 - cosx

2 √cos2x - 2cosx + 2 + c

B. 
-1
2

log 1 - cosx + √cos2x - 2cosx + 2 +
1 - cosx

2 √cos2x - 2cosx + 2 + c

C. 
1
2

log cosx - 1 + √cos2x - 2cosx + 2 +
1 - cosx

2 √cos2x - 2cosx + 2 + c

D. 
-1
2

log cosx - 1 + √cos2x - 2cosx + 2 +
1 - cosx

2 √cos2x - 2cosx + 2 + c

Answer: D

Watch Video Solution

| |
| |

| |
| |

523. ∫ex√e2x + 1dx =

A. 
ex

4 √e2x + 1 -
1
4

log ex + √e2x + 1 + c

B. 
ex

4 √e2x + 1 +
1
4

log ex + √e2x + 1 + c

C. 
ex

2 √e2x + 1 -
1
2

log ex + √e2x + 1 + c

| |
| |
| |

https://dl.doubtnut.com/l/_PrD8BItuDjai
https://dl.doubtnut.com/l/_wyGZKD3NCc7a
https://dl.doubtnut.com/l/_z34cWbbdZZcY


D. 
ex

2 √e2x + 1 +
1
2

log ex + √e2x + 1 + c

Answer: D

Watch Video Solution

| |

524. ∫
√1 + (logx)2

x dx =

A. 
logx

2 √1 + (logx)2 +
1
2

log logx + √1 + (logx)2 + c

B. 
logx

2 √1 + (logx)2 -
1
2

log logx + √1 + (logx)2 + c

C. 
logx

2 √1 + (logx)2 -
1
4

log logx + √1 + (logx)2 + c

D. 
logx

2 √1 + (logx)2 +
1
4

log logx + √1 + (logx)2 + c

Answer: A

Watch Video Solution

| |
| |
| |
| |

https://dl.doubtnut.com/l/_z34cWbbdZZcY
https://dl.doubtnut.com/l/_TAZBdVrFX3vF


525. ∫
√(logx)2 + 3(logx) + 1

x
dx =

A. 

2logx + 3
4 √(logx)2 + 3(logx) + 1 -

5
4

log logx +
3
2

+ √(logx)2 + 3(logx) + 1

B. 

2logx + 3
4 √(logx)2 + 3(logx) + 1 -

5
8

log logx +
3
2

+ √(logx)2 + 3(logx) + 1

C. 

2logx + 3
4 √(logx)2 + 3(logx) + 1 +

5
4

log logx +
3
2

+ √(logx)2 + 3(logx) + 1

D. 

2logx + 3
4 √(logx)2 + 3(logx) + 1 +

5
8

log logx +
3
2

+ √(logx)2 + 3(logx) + 1

Answer: B

Watch Video Solution

|

|

|

|

526. ∫ (x - 5)√x2 - 1dx =

https://dl.doubtnut.com/l/_aaS2sNdQrbEF
https://dl.doubtnut.com/l/_PLVCwZKcXbEa


A. 
1
3

x2 - 1
3

-
5x
2 √x2 - 1 +

5
2

log x + √x2 - 1 + c

B. 
1
3 x2 - 1

3
+

5x
2 √x2 - 1 -

5
2 log x + √x2 - 1 + c

C. 
1
3

x2 - 1 3 -
5x
2 √x2 - 1 -

5
2

log x + √x2 - 1 + c

D. 
1
3

x2 - 1 3 +
5x
2 √x2 - 1 +

5
2

log x + √x2 - 1 + c

Answer: A

Watch Video Solution

√( ) | |
√( ) | |
√( ) | |
√( ) | |

527. ∫x√1 + x - x2dx

A. 
1
3 1 + x - x2 3

+
1
16 (2x - 1)√1 + x - x2 +

5
2sin - 1 2x - 1

√5
+ c

B. 
1
3 1 + x - x2 3

-
1
16 (2x - 1)√1 + x - x2 +

5
2sin - 1 2x - 1

√5
+ c

C. 
-1
3 1 + x - x2 3

-
1
8 (2x - 1)√1 + x - x2 +

5
2sin - 1 2x - 1

√5
+ c

D. 
-1
3 1 + x - x2 3

+
1
8 (2x - 1)√1 + x - x2 +

5
2sin - 1 2x - 1

√5
+ c

√( ) ( ( ))
√( ) ( ( ))
√( ) ( ( ))
√( ) ( ( ))

https://dl.doubtnut.com/l/_PLVCwZKcXbEa
https://dl.doubtnut.com/l/_OxKxK3zXEzg1


Answer: D

Watch Video Solution

528. Evaluate: ∫ (x + 1) √x2 - x + 1 dx

A. 

1
3

x2 + x + 1 3 -
1
8

(2x + 1)√x2 + x + 1 +
3
16

log
2x + 1

2
+ √x2 + x + 1 c

B. 

1
3

x2 + x + 1 3 +
1
8

(2x + 1)√x2 + x + 1 -
3
16

log
2x + 1

2
+ √x2 + x + 1 c

C. 

1
3

x2 + x + 1 3 -
1
8

(2x + 1)√x2 + x + 1 -
3
16

log
2x + 1

2
+ √x2 + x + 1 c

D. 

1
3

x2 + x + 1 3 +
1
8

(2x + 1)√x2 + x + 1 +
3
16

log
2x + 1

2
+ √x2 + x + 1 c

Answer: D

W h Vid S l i

√( ) | |

√( ) | |

√( ) | |

√( ) | |

https://dl.doubtnut.com/l/_OxKxK3zXEzg1
https://dl.doubtnut.com/l/_4ToOJuGpD9h9


Watch Video Solution

529. Evaluate: ∫ (x - 5) √x2 + x dx

A. 
1
3

x2 + x 3 +
11
8

(2x + 1)√x2 + x +
11
16

log
2x + 1

2
+ √x2 + x c

B. 
1
3

x2 + x 3 -
11
8

(2x + 1)√x2 + x +
11
16

log
2x + 1

2
+ √x2 + x c

C. 
1
3

x2 + x 3 +
11
8

(2x + 1)√x2 + x -
11
16

log
2x + 1

2
+ √x2 + x c

D. 
1
3

x2 + x 3 -
11
8

(2x + 1)√x2 + x -
11
16

log
2x + 1

2
+ √x2 + x c

Answer: B

Watch Video Solution

√( ) | |
√( ) | |
√( ) | |
√( ) | |

530. Evaluate: ∫ (3x - 2) √x2 + x + 1 dx

A. 

x2 + x + 1 3 -
7
8

(2x + 1)√x2 + x + 1 +
21
16

log x +
1
2

+ √x2 + x + 1 c√( ) | |

https://dl.doubtnut.com/l/_4ToOJuGpD9h9
https://dl.doubtnut.com/l/_FpPZCL9xP6Cu
https://dl.doubtnut.com/l/_7kxdHimyN1OJ


B. x2 + x + 1 3 -
7
8

(2x + 1)√x2 + x + 1 -
21
16

log x +
1
2

+ √x2 + x + 1 c

C. 

x2 + x + 1 3 -
7
8

(2x + 1)√x2 + x + 1 +
21
8

log x +
1
2

+ √x2 + x + 1 c

D. x2 + x + 1 3 -
7
8

(2x + 1)√x2 + x + 1 -
21
8

log x +
1
2

+ √x2 + x + 1 c

Answer: B

Watch Video Solution

√( ) | |

√( ) | |
√( ) | |

531. ∫
dx

x(x + 1)
=

A. log
x + 1
x

+ c

B. log
x

x + 1
+ c

C. log
x - 1
x

+ c

D. log
x - 1
x + 1

+ c

| |
| |
| |
| |

https://dl.doubtnut.com/l/_7kxdHimyN1OJ
https://dl.doubtnut.com/l/_0m4EXseD8wJ1


Answer: B

Watch Video Solution

532. ∫
dx

x - x3 =

A. 
1
2

log
1 - x2

x2 + c

B. log
1 - x

x(1 + x) + c

C. log x - x3 + c

D. 
1
2

log
x2

1 - x2 + c

Answer: D

Watch Video Solution

| |
| |
| |

| |

533. ∫
dx

x(x - 2)(x - 4)

https://dl.doubtnut.com/l/_0m4EXseD8wJ1
https://dl.doubtnut.com/l/_7FzVMt4odzL0
https://dl.doubtnut.com/l/_u6M92QZePDgC


A. 
1
8

log|x| -
1
4

log|x - 2| -
1
8

log|x - 4| + c

B. 
1
8

log|x| -
1
4

log|x - 2| +
1
8

log|x - 4| + c

C. 
1
8

log|x| +
1
4

log|x - 2| -
1
8

log|x - 4| + c

D. 
1
8

log|x| +
1
4

log|x - 2| +
1
8

log|x - 4| + c

Answer: B

Watch Video Solution

534. ∫
x + 1

x2 + 5x + 6
dx =

A. log
(x + 3)2

x + 2
+ c

B. log
x + 2

(x + 3)2 + c

C. 2log
x + 3
x + 2 + c

D. 2log
x + 2
x + 3 + c

| |
| |
| |
| |

https://dl.doubtnut.com/l/_u6M92QZePDgC
https://dl.doubtnut.com/l/_JacXGA4TyZJY


Answer: A

Watch Video Solution

535. ∫
2x

4 - 3x - x2 dx =

A. 
-8
5 log|4 + x| +

2
5 log|1 - x| + c

B. 
-8
5 log|4 + x| -

2
5 log|1 - x| + c

C. 
-4
5 log|4 + x| +

2
5 log|1 - x| + c

D. 
-4
5 log|4 + x| -

2
5 log|1 - x| + c

Answer: B

Watch Video Solution

536. ∫
4x

2x2 + x - 1
dx =

A. 
2
3

log|2x - 1| +
2
3

log|x + 1| + c

https://dl.doubtnut.com/l/_JacXGA4TyZJY
https://dl.doubtnut.com/l/_hKZgQyCGG5oo
https://dl.doubtnut.com/l/_cVqnN8Y5Ltj9


B. 
2
3

log|2x - 1| -
2
3

log|x + 1| + c

C. 
2
3

log|2x - 1| +
4
3

log|x + 1| + c

D. 
2
3

log|2x - 1| -
4
3

log|x + 1| + c

Answer: C

Watch Video Solution

537. ∫
12x + 3

6x2 + 13x - 63
dx =

A. 
31
41 log|2x + 9| +

51
41 log|3x - 7| + c

B. 
31
21 log|2x + 9| +

51
21 log|3x - 7| + c

C. 
51
41 log|2x + 9| +

31
41 log|3x - 7| + c

D. 
51
21 log|2x + 9| +

31
41 log|3x - 7| + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cVqnN8Y5Ltj9
https://dl.doubtnut.com/l/_wxpZIVFzpkGI
https://dl.doubtnut.com/l/_SixrMELQzNGr


538. ∫
x2 + 2

(x - 1)(x + 2)(x + 3)
dx =

A. 
1
4

log|x - 1| + 2log|x + 2| +
11
4

log|x + 3| + c

B. 
1
4

log|x - 1| + 2log|x + 2| -
11
4

log|x + 3| + c

C. 
1
4

log|x - 1| - 2log|x + 2| +
11
4

log|x + 3| + c

D. 
1
4

log|x - 1| - 2log|x + 2| -
11
4

log|x + 3| + c

Answer: C

View Text Solution

539. ∫
x2

(x - 1)(3x - 1)(3x - 2)
dx =

A. 
1
2

log|x - 1| +
1
18

log|3x - 1| +
4
9

log|3x - 2| + c

B. 
1
2

log|x - 1| -
1
18

log|3x - 1| +
4
9

log|3x - 2| + c

C. 
1
2

log|x - 1| +
1
18

log|3x - 1| -
4
9

log|3x - 2| + c

D. 
1
2

log|x - 1| -
1
18

log|3x - 1| -
4
9

log|3x - 2| + c

https://dl.doubtnut.com/l/_SixrMELQzNGr
https://dl.doubtnut.com/l/_sxWx9kWLG9AT


Answer: C

Watch Video Solution

540. ∫
x2 + x - 1

x2 + x - 6
dx

A. x + log|x + 3| + log|x + 2| + c

B. x - log|x + 3| - log|x + 2| + c

C. x - log|x + 3| + log|x + 2| + c

D. x + log|x + 3| - log|x + 2| + c

Answer: C

Watch Video Solution

541. Evaluate : ∫
1 - x2

x(1 - 2x)
 dx

.

A. 
x
2

+ log|x| +
3
2

log|1 - 2x| + c

https://dl.doubtnut.com/l/_sxWx9kWLG9AT
https://dl.doubtnut.com/l/_WHlONlOX9dok
https://dl.doubtnut.com/l/_gWtlOL1MamMw


B. 
x
2

+ log|x| -
3
2

log|1 - 2x| + c

C. 
x
2

+ log|x| +
3
4

log|1 - 2x| + c

D. 
x
2

+ log|x| -
3
4

log|1 - 2x| + c

Answer: D

Watch Video Solution

542. 
x3 - 4x2 + 3x + 11

x2 - 5x + 6

A. 
x2

2
+ x + 9log|x - 2| + 11log|x - 3| + c

B. 
x2

2
- x + 9log|x - 2| + 11log|x - 3| + c

C. 
x2

2 + x + 9log|x - 2| - 11log|x - 3| + c

D. 
x2

2
+ x - 9log|x - 2| + 11log|x - 3| + c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_gWtlOL1MamMw
https://dl.doubtnut.com/l/_FLiCVjY6EnMu


543. ∫
2x3 + 3x2 - 3

2x2 - x - 1
dx =

A. 
x2

2
+ 2x +

5
6

log|2x + 1| +
1
3

log|x - 1| + c

B. 
x2

2
+ 2x +

5
6

log|2x + 1| +
2
3

log|x - 1| + c

C. 
x2

2 + 2x +
1
6 log|2x + 1| +

2
3 log|x - 1| + c

D. 
x2

2
+ 2x +

1
6

log|2x + 1| +
1
3

log|x - 1| + c

Answer: B

View Text Solution

544. Evaluate: ∫
x2 + 1

x2 - 5x + 6
dx

A. x + 5log
(x - 3)2

x - 2
+ c

B. x - 5log
(x - 3)2

x - 2
+ c

C. x + log
(x - 3)2

x - 2
+ c

| |
| |
| |

https://dl.doubtnut.com/l/_xg4mCoqxqLVZ
https://dl.doubtnut.com/l/_OftrY6pNoVN1


D. x - log
(x - 3)2

x - 2
+ c

Answer: A

Watch Video Solution

| |

545. ∫
3

x2 + 1 x2 + 4
dx =

A. tan - 1x +
1
2 tan - 1 x

2 + c

B. tan - 1x -
1
2 tan - 1 x

2 + c

C. tan - 1x + 2tan - 1 x
2 + c

D. tan - 1x - 2tan - 1 x
2 + c

Answer: B

Watch Video Solution

( )( )

( )
( )
( )
( )

https://dl.doubtnut.com/l/_OftrY6pNoVN1
https://dl.doubtnut.com/l/_rMb9B7K6Nqeq
https://dl.doubtnut.com/l/_k6hWk0IdVMUq


546. ∫
x2

x2 + 2 2x2 + 1
dx =

A. 
√2

3
tan - 1 x

√2
+

1

3√2
tan - 1 √2x + c

B. 
√2

3
tan - 1 x

√2
-

1

3√2
tan - 1 √2x + c

C. 
2
3

tan - 1 x

√2
+

1

3√2
tan - 1 √2x + c

D. 
2
3

tan - 1 x

√2
-

1

3√2
tan - 1 √2x + c

Answer: B

Watch Video Solution

( )( )

( ) ( )

( ) ( )

( ) ( )

( ) ( )

547. ∫
x2

x4 + 5x2 + 6
dx =

A. √3tan - 1 x

√3
- √2tan - 1 x

√2
+ c

B. √3tan - 1 x

√3
+ √2tan - 1 x

√2
+ c

( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_k6hWk0IdVMUq
https://dl.doubtnut.com/l/_3lO3KRCjRIEw


C. 
1

√3
tan - 1 x

√3
-

1

√2
tan - 1 x

√2
+ c

D. 
1

√3
tan - 1 x

√3
+

1

√2
tan - 1 x

√2
+ c

Answer: A

Watch Video Solution

( ) ( )
( ) ( )

548. ∫
2x2 - 1

x2 + 4 x2 + 5
dx =

A. 
11

2√5
tan - 1 x

√5
+

9
2

tan - 1 x
2

+ c

B. 
11

2√5
tan - 1 x

√5
-

9
2

tan - 1 x
2

+ c

C. 
11

√5
tan - 1 x

√5
+

9
2

tan - 1 x
2

+ c

D. 
11

√5
tan - 1 x

√5
-

9
2

tan - 1 x
2

+ c

Answer: D

W t h Vid S l ti

( )( )

( ) ( )
( ) ( )

( ) ( )
( ) ( )

https://dl.doubtnut.com/l/_3lO3KRCjRIEw
https://dl.doubtnut.com/l/_rD6l7lVv1vz8


Watch Video Solution

549. ∫
2x2 - 1

x2 + 4 x2 - 5
dx =

A. 
1
5

tan - 1 x
2

+
1

2√5
log

x + √5

x - √5
+ c

B. 
1
5

tan - 1 x
2

+
1

2√5
log

x - √5

x + √5
+ c

C. 
1
5

tan - 1 x
2

+
1

√5
log

x + √5

x - √5
+ c

D. 
1
5

tan - 1 x
2

+
1

√5
log

x - √5

x + √5
+ c

Answer: B

Watch Video Solution

( )( )

( ) | |
( ) | |
( ) | |
( ) | |

550. If : ∫
2x2 + 3

x2 - 1 x2 - 4
dx = log

x - 2
x +

a
.

x + 1
x - 1

b
+ c then : (a, b) ≡

A. a =
11
12

, b =
5
6

( )( ) [( ) ( ) ]

https://dl.doubtnut.com/l/_rD6l7lVv1vz8
https://dl.doubtnut.com/l/_LGDSTsKC30fT
https://dl.doubtnut.com/l/_0tDug1QlXQfo


B. a =
11
12

, b =
-5
6

C. a =
-11
12

, b =
5
6

D. a =
-11
12

, b =
-5
6

Answer: A

Watch Video Solution

551. ∫
x2

x2 + 1 x2 - 2 x2 + 3
dx =

A. 
1
6

tan - 1x +
√3

10
tan - 1 x

√3
-

1

15√2
log

x - √2

x + √2
+ c

B. 
1
6

tan - 1x -
√3

10
tan - 1 x

√3
-

1

15√2
log

x - √2

x + √2
+ c

C. 
1
6

tan - 1x +
√3

10
tan - 1 x

√3
+

1

15√2
log

x - √2

x + √2
+ c

D. 
1
6

tan - 1x -
√3

10
tan - 1 x

√3
+

1

15√2
log

x - √2

x + √2
+ c

Answer: D

( )( )( )

( ) | |
( ) | |
( ) | |
( ) | |

https://dl.doubtnut.com/l/_0tDug1QlXQfo
https://dl.doubtnut.com/l/_RDyyh9ltFb25


Watch Video Solution

552. ∫
dx

x x5 + 1

A. 
1
5

log
x5 + 1

x5 + c

B. 
1
5

log
x5

x5 + 1
+ c

C. 
1
10

log
x5 + 1

x5 + c

D. 
1
10

log
x5

x5 + 1
+ c

Answer: B

Watch Video Solution

( )

| |
| |
| |
| |

553. ∫
dx

x x6 + 1( )

https://dl.doubtnut.com/l/_RDyyh9ltFb25
https://dl.doubtnut.com/l/_jJ8esvu2QQ5b
https://dl.doubtnut.com/l/_ZxiVQ8JmGlMD


A. 
1
6

log
x6

x6 + 1
+ c

B. 
1
6

log
x6 + 1

x6 + c

C. 6log
x6

x6 + 1
+ c

D. 6log
x6 + 1

x6 + c

Answer: A

Watch Video Solution

| |
| |
| |
| |

554. ∫
2x

x2 + 2 x2 + 3
dx =

A. 2log
x2 + 2

x2 + 3
+ c

B. 2log
x2 + 3

x2 + 2
+ c

C. log
x2 + 2

x2 + 3
+ c

( )( )

| |
| |

| |

https://dl.doubtnut.com/l/_ZxiVQ8JmGlMD
https://dl.doubtnut.com/l/_VJ5gYnanU0qN


D. 2log
x2 + 3

x2 + 2
+ c

Answer: C

Watch Video Solution

| |

555. ∫
x

x2 - a2 x2 - b2
dx is equal to

A. 
1

2 a2 - b2
log

x2 - a2

x2 - b2 + c

B. 
1

2 a2 - b2
log

x2 - b2

x2 - a2 + c

C. 
1

a2 - b2 log
x2 - a2

x2 - b2 + c

D. 
1

a2 - b2 log
x2 - b2

x2 - a2 + c

Answer: A

Watch Video Solution

( ) ( )

( ) | |

( ) | |
| |
| |

https://dl.doubtnut.com/l/_VJ5gYnanU0qN
https://dl.doubtnut.com/l/_COF3MzvS3Ry5


556. ∫
x2

1 + x3 2 + x3
dx

A. 
1
6

log
x3 + 2

x3 + 1
+ c

B. 
1
6

log
x3 + 1

x3 + 2
+ c

C. 
1
3

log
x3 + 2

x3 + 1
+ c

D. 
1
3

log
x3 + 1

x3 + 2
+ c

Answer: D

Watch Video Solution

( )( )

| |
| |
| |
| |

557. ∫
sin2x

(1 - cos2x)(2 - cos2x)
dx =

A. 
1
2

log
1 - cos2x
2 - cos2x

+ c| |

https://dl.doubtnut.com/l/_COF3MzvS3Ry5
https://dl.doubtnut.com/l/_HsERvQDo6FGv
https://dl.doubtnut.com/l/_DgqZnuyDYYEp


B. 
1
2

log
2 - cos2x
1 - cos2x

+ c

C. log
1 - cos2x
2 - cos2x

+ c

D. log
2 - cos2x
1 - cos2x

+ c

Answer: A

Watch Video Solution

| |
| |
| |

558. ∫
dx

sinx(3 + 2cosx)

A. 
1
10

log|1 - cosx| -
1
2

log|1 + cosx| +
2
5

log|3 + 2cosx| + c

B. 
1
10

log|1 - cosx| +
1
2

log|1 + cosx| -
2
5

log|3 + 2cosx| + c

C. 
1
10

log|1 - cosx| -
1
2

log|1 + cosx| -
2
5

log|3 + 2cosx| + c

D. 
1
10

log|1 - cosx| +
1
2

log|1 + cosx| +
2
5

log|3 + 2cosx| + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_DgqZnuyDYYEp
https://dl.doubtnut.com/l/_ysHVbO3vBPkM


559. ∫
dx

sinx + sin2x

A. 
1
6 log|1 - cosx| +

1
2 log|1 + cosx| +

2
3 log|1 + 2cosx| + c

B. 
1
6 log|1 - cosx| -

1
2 log|1 + cosx| +

2
3 log|1 + 2cosx| + c

C. 
1
6 log|1 - cosx| +

1
2 log|1 + cosx| -

2
3 log|1 + 2cosx| + c

D. 
1
6 log|1 - cosx| -

1
2 log|1 + cosx| -

2
3 log|1 + 2cosx| + c

Answer: C

Watch Video Solution

560. ∫
dy

cosy + sin2y
=

A. 
2
3

log|1 + 2siny| +
1
2

log|1 + siny| +
1
6

log|1 - siny| + c

B. 
2
3

log|1 + 2siny| -
1
2

log|1 + siny| -
1
6

log|1 - siny| + c

C. 
2
3

log|1 + 2siny| -
1
2

log|1 + siny| +
1
6

log|1 - siny| + c

D. 
2
3

log|1 + 2siny| +
1
2

log|1 + siny| -
1
6

log|1 - siny| + c

https://dl.doubtnut.com/l/_ysHVbO3vBPkM
https://dl.doubtnut.com/l/_Bk1TzN3Rx1uA
https://dl.doubtnut.com/l/_01mcGRrYwJvZ


Answer: B

Watch Video Solution

561. ∫
ex

1 + ex 2 + ex
dx

A. log
1 + ex

2 + ex
+ c

B. log
2 + ex

1 + ex
+ c

C. 
1
2

log
1 + ex

2 + ex
+ c

D. 
1
2

log
2 + ex

1 + ex
+ c

Answer: A

Watch Video Solution

( )( )

| |
| |

| |
| |

https://dl.doubtnut.com/l/_01mcGRrYwJvZ
https://dl.doubtnut.com/l/_gPlDy7WkA6Wd


562. ∫
1

xlogx(2 + logx)
dx =

A. 
1
2

log
2 + logx

logx
+ c

B. 
1
2

log
logx

2 + logx
+ c

C. 
1
4

log
2 + logx

logx
+ c

D. 
1
4

log
logx

2 + logx
+ c

Answer: B

Watch Video Solution

| |
| |
| |
| |

563. ∫
logx

x(1 + logx)(2 + logx)dx =

A. log
(2 + logx)2

1 + logx
+ c

B. log
1 + logx

(2 + logx)2 + c

| |
| |

https://dl.doubtnut.com/l/_s2HWGpKNICOf
https://dl.doubtnut.com/l/_zSXIZVDlLkAc


C. log
2 + logx
1 + logx

+ c

D. log
1 + logx
2 + logx

+ c

Answer: A

Watch Video Solution

| |
| |

564. ∫
1 + logx

x(2x + logx)(3 + logx)
dx (March '16)

A. 2log|3 + logx| + log|2 + logx| + c

B. 2log|3 + logx| - log|2 + logx| + c

C. log|3 + logx| + 2log|2 + logx| + c

D. log|3 + logx| - 2log|2 + logx| + c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_zSXIZVDlLkAc
https://dl.doubtnut.com/l/_gCxaI0z9HINY


565. Evaluate: ∫
5x2 + 20x + 6

x3 + 2x2 + x
 dx

A. 6log|x| + log|x + 1| +
9

x + 1
+ c

B. 6log|x| - log|x + 1| +
9

x + 1
+ c

C. 6log|x| + log|x + 1| -
9

x + 1
+ c

D. 6log|x| - log|x + 1| -
9

x + 1
+ c

Answer: D

Watch Video Solution

566. The value of ∫
3x + 2

(x - 2)2(x - 3)
dx is equal to

A. 11log
x - 3
x - 2 -

8
x - 2 + c

B. 11log
x - 3
x - 2 -

4
x - 2 + c

C. 11log
x - 3
x - 2 +

8
x - 2 + c

| |
| |
| |

https://dl.doubtnut.com/l/_B22Yzzosxcdc
https://dl.doubtnut.com/l/_go4PYhP5FsGN


D. 11log
x - 3
x - 2

+
4

x - 2
+ c

Answer: C

Watch Video Solution

| |

567. ∫
3x + 1

(x + 2)(x - 2)2 dx

A. 
5
16 log|x - 2| +

7
4(x - 2) +

5
16 log|x + 2| + c

B. 
5
16 log|x - 2| -

7
4(x - 2) -

5
16 log|x + 2| + c

C. 
5
16 log|x - 2| -

7
4(x - 2) +

5
16 log|x + 2| + c

D. 
5
16 log|x - 2| +

7
4(x - 2) -

5
16 log|x + 2| + c

Answer: B

Watch Video Solution

568. ∫
3x - 2

(x + 1)2(x + 3)
dx

https://dl.doubtnut.com/l/_go4PYhP5FsGN
https://dl.doubtnut.com/l/_wKzeKIr0WvNN
https://dl.doubtnut.com/l/_NQlwOnAX7nax


A. 
11
4

log|x + 1| +
5

2(x + 1)
+

11
4

log|x + 3| + c

B. 
11
4

log|x + 1| -
5

2(x + 1)
-

11
4

log|x + 3| + c

C. 
11
4

log|x + 1| -
5

2(x + 1)
+

11
4

log|x + 3| + c

D. 
11
4

log|x + 1| +
5

2(x + 1)
-

11
4

log|x + 3| + c

Answer: D

Watch Video Solution

569. Evaluate
: ∫
x2 + 1

(x - 1)2 \ dx

A. x + 2log|x + 1| +
2

x + 1
+ c

B. x + 2log|x + 1| -
2

x + 1
+ c

C. x - 2log|x + 1| +
2

x + 1
+ c

D. x - 2log|x + 1| -
2

x + 1
+ c

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NQlwOnAX7nax
https://dl.doubtnut.com/l/_uWPy6HORg9SV


570. ∫
3x - 1

(x - 2)2dx

A. 3log|x - 2| +
1

x - 2 + c

B. 3log|x - 2| -
1

x - 2 + c

C. 3log|x - 2| +
5

x - 2 + c

D. 3log|x - 2| -
5

x - 2 + c

Answer: D

Watch Video Solution

571. ∫
2x + 7

(x - 4)2dx =

A. 4log|x - 4| -
15
x - 4

+ c

B. 4log|x - 4| +
15
x - 4

+ c

C. 2log|x - 4| -
15
x - 4

+ c

https://dl.doubtnut.com/l/_uWPy6HORg9SV
https://dl.doubtnut.com/l/_4QKB0YFo08HD
https://dl.doubtnut.com/l/_p0zsIuQzGu9E


D. 2log|x - 4| +
15
x - 4

+ c

Answer: C

Watch Video Solution

572. Evaluate:
∫
x2 + x + 1

(x - 1)3 dx

A. log|x - 1| -
3

x - 1
-

3
2(x - 1)

+ c

B. log|x - 1| -
3

x - 1
+

3
2(x - 1)

+ c

C. log|x - 1| +
3

x - 1
-

3
2(x - 1)

+ c

D. log|x - 1| +
3

x - 1
+

3
2(x - 1)

+ c

Answer: A

Watch Video Solution

573. Evaluate: ∫
(3sinx - 2)cosx

5 - cos2x - 4sinx
 dx

https://dl.doubtnut.com/l/_p0zsIuQzGu9E
https://dl.doubtnut.com/l/_lg0zesmMP4o9
https://dl.doubtnut.com/l/_nGvVq3rx2ocQ


A. 3log|sinx - 2| +
4

sinx - 2
+ c

B. 3log|sinx - 2| -
4

sinx - 2
+ c

C. 3log|sinx - 2| +
2

sinx - 2
+ c

D. 3log|sinx - 2| -
2

sinx - 2
+ c

Answer: B

Watch Video Solution

574. ∫
tanx

(1 - tanx)
dx

A. 
1
4

log
1 + sinx
1 - sinx

+
1

2(1 - sinx)
+ c

B. 
1
4

log
1 + sinx
1 - sinx

-
1

2(1 - sinx)
+ c

C. 
1
4

log
1 - sinx
1 + sinx

+
1

2(1 - sinx)
+ c

D. 
1
4

log
1 - sinx
1 + sinx

-
1

2(1 - sinx)
+ c

Answer: C

| |
| |
| |
| |

https://dl.doubtnut.com/l/_nGvVq3rx2ocQ
https://dl.doubtnut.com/l/_ssUhnT9PAhca


Watch Video Solution

575. ∫
sin2x

(3 + 2sinx)2dx =

A. 
1
2

log|3 + 2sinx| +
3

2(3 + 2sinx)
+ c

B. 
1
2

log|3 + 2sinx| -
3

2(3 + 2sinx)
+ c

C. 
1
2

log|3 + 2sinx| +
2

3(3 + 2sinx)
+ c

D. 
1
2

log|3 + 2sinx| -
2

3(3 + 2sinx)
+ c

Answer: A

Watch Video Solution

576. ∫
8

(x + 2) x2 + 4
dx

A. log|x + 2| +
1
2

log x2 + 4 - tan - 1 x
2

+ c

B. log|x + 2| -
1
2

log x2 + 4 + tan - 1 x
2

+ c

( )

| | ( )
| | ( )

https://dl.doubtnut.com/l/_ssUhnT9PAhca
https://dl.doubtnut.com/l/_anHEDAJa1Beq
https://dl.doubtnut.com/l/_dwhQR3nfTF17


C. log|x + 2| -
1
2

log x2 + 4 - tan - 1 x
2

+ c

D. log|x + 2| +
1
2

log x2 + 4 + tan - 1 x
2

+ c

Answer: B

Watch Video Solution

| | ( )
| | ( )

577. ∫
5x2

(x + 1) x2 + 4
dx =

A. log|x + 1| + 2log x2 + 4 - 2tan - 1 x
2

+ c

B. log|x + 1| - 2log x2 + 4 + 2tan - 1 x
2

+ c

C. log|x + 1| - 2log x2 + 4 - 2tan - 1 x
2

+ c

D. log|x + 1| + 2log x2 + 4 + 2tan - 1 x
2

+ c

Answer: A

Watch Video Solution

( )

| | ( )
| | ( )
| | ( )
| | ( )

https://dl.doubtnut.com/l/_dwhQR3nfTF17
https://dl.doubtnut.com/l/_YLeDXHwuPgw5


578. Evaluate:
∫
x

(x + 1) x2 + 1
dx

A. 
1
2 log|x - 1| +

1
4 log x2 + 1 +

1
2 tan - 1x + c

B. 
1
2 log|x - 1| -

1
4 log x2 + 1 -

1
2 tan - 1x + c

C. 
1
2 log|x - 1| -

1
4 log x2 + 1 +

1
2 tan - 1x + c

D. 
1
2 log|x - 1| +

1
4 log x2 + 1 -

1
2 tan - 1x + c

Answer: C

Watch Video Solution

( )

| |
| |
| |
| |

579. ∫
dx

1 + x + x2 + x3dx =

A. 
1
2

log|1 + x| +
1
4

log 1 + x2 +
1
2

tan - 1x + c

B. 
1
2

log|1 + x| -
1
4

log 1 + x2 -
1
2

tan - 1x + c

C. 
1
2

log|1 + x| +
1
4

log 1 + x2 -
1
2

tan - 1x + c

D. 
1
2

log|1 + x| -
1
4

log 1 + x2 +
1
2

tan - 1x + c

| |
| |
| |
| |

https://dl.doubtnut.com/l/_KSzN1txtFh3I
https://dl.doubtnut.com/l/_KyW2n4SY24am


Answer: D

Watch Video Solution

580. ∫
1

(x + 1)2 x2 + 1
dx =

A. 
1
2 log|x + 1| +

1
2(x + 1) -

1
4 log x2 + 1 + c

B. 
1
2 log|x + 1| -

1
2(x + 1) +

1
4 log x2 + 1 + c

C. 
1
2 log|x + 1| -

1
2(x + 1) -

1
4 log x2 + 1 + c

D. 
1
2 log|x + 1| +

1
2(x + 1) +

1
4 log x2 + 1 + c

Answer: C

Watch Video Solution

( )

| |
| |
| |
| |

581. Let In = ∫ tannxdx, (n > 1) ⋅ I4 + I6 = atan5x + bx5 + c, where c is

constant of integration, then the ordered pair (a,b) is equal to

https://dl.doubtnut.com/l/_KyW2n4SY24am
https://dl.doubtnut.com/l/_NCi0khc8wlLK
https://dl.doubtnut.com/l/_3hUoYJS6VphE


A. 
-1
5

, 0

B. 
-1
5

, 1

C. 
1
5

, 0

D. 
1
5

, - 1

Answer: C

Watch Video Solution

( )
( )
( )
( )

582. If ∫
dx

x2 + 4 x2 + 9
= Atan - 1 x

2
+ Btan - 1 x

3
+ c , then A - B =

A. 
1
6

B. 
1
30

C. 
-1
30

D. 
-1
6

( )( ) ( ) ( )

https://dl.doubtnut.com/l/_3hUoYJS6VphE
https://dl.doubtnut.com/l/_zUx73SuYN8jR


Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_zUx73SuYN8jR

